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#��	����)����� �� ���!"�����	� !������� ��)����* ����

� ���$ �
����
�� �	�)������ �� �	��� �)�������	%�$ ���

����������� #����	�#� #��������� �&�������� �����&�����

��� #���������� ��$ ��	�� � ���$ �� �����6������� ���	���

#�����$ ��� �����	� ������
�
��� ��	��������	�������
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�
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�
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	���� ���� ����	������� �� ����� �������� ���"����
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∇ 3 ��	����� ��	 ���� �� ��	����� ���

������ ���������

� 3 ��	����� ��	 ���� �� ��	����� ���

������ ��������

�� �� #���#���� ���������

∀x 3 ����� '����������( x�����

∃x 3 �	�!������ '�����	��( ����� x

=⇒ 3 ���	�������	��

⇐⇒ 3 
	�%����$ �
�������
����

N 3 ��
������ ��� ��� ��������

Z 3 ���� ��� ��� ��������

Z+ 3 �������	%�� ���� ��� ��� ��������

Z′ 3 
��
 ���� ��� ��� ��������

Z(2) 3 ��� ���� ��� ��� ��������

Z(n) 3 n ��� ��� 7���� ���� ��� ��� ��������

Q 3 ����	����� ��� ��� ��������

Q+ 3 ������� ����	����� ��� ��� ��������

R 3 ������� ��� ��� ��������

R+ 3 ������� ������� ��� ��� ��������

C 3 
	�&������ ��� ��� ��������

C[a, b] 3 [a, b] �	��
���)� �����
 %�������� ��������

E(n) 3 n���� ����� 
�����
�� ��
����� �������� �����

��� ��� ��� ���)�

E(m, n) 3 m × n ���)	������� ��
����� �������� �����

��� ��� ��� ���)�

V3 3 ��	��
���� ���
	��� '�������� �	��
�����( ���

������

|A| �� det A 3 
�����
��� A ��
����� ��
�������
�

A� 3 A ��
����� 
����&	�������� ��
����
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��8�9 3 ������ � ������� #��������� ��	����� �� %	����

��� �������� '���������$ ,��	���� ������- ��#����

� ������� ���� ��	�����(



���� �

������ ������

������ � �����#� ��� ������ ���
	���� ����
��)� �� ���

����#�� ���������� ����� ���
	�� ����� �� ������)"�����

������ 
		�����
����* �a = (x, y) �� �a = (x, y, z)� &����� #��

�� ����#� ���
	�� 	����)	����������$ ��	��#� 3 ������)	�

���������� ������ ������� ����5���	 ��	����� ������
�
���

�"������ �� ��	 ��������� ����������� �%�	 ��"��� ����

)	������� ��	�� ���
	��� ��� ���� '� �$ ���������$ ���� :(�

������)	��������� #��� ����� ����	������$ n����)	�������

��� ���
	�� 'n ���������� ��
������� ��� ���( ������)"��

���� ������ 
		�����
���� n������* a = (x1, x2, . . . , xn)�

����� ����� ���
	��� �������� ����� n����)	�������� ���
	�

��� �������� ��%�� ���
	��� ������#� �����)"����� ���

%��� 	&�������� � ���
	����� #�
���� �� ���
	��� �
�����

)� ���������� �
���	%����� ���
���� &��	���� '����	����(�

�"����#�����$ �	� ���
	�� �� #��� ����#� ���� &��	���� ���

 ���$ ������ ������� &��	���� �
���	%����� � �� ������� 	���

��
�� ��������)� �����)"����� ��%��� 	&��������� �� � ��

�����"���� ������
��� ��� ������������ ������
���� �����

��)� '���� ���)�$ ���� �� ��� �� ������
��� ��� ����$ ���
	���

��$ %�������� �� ��#�($ ������ �� ����������)� �����)"����

	&��������� ��������)�$ ��#�� #���!������ ������ � ����� ��

�
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������� 	����
�� ��������� ���	����� #�������� ��	��� ��

��)��� ���� #��	"����� ������
�
�#� ��%��� ������� �����$

�	������ �!"����� �"��#���� �����

§�� ��
�����
 ������
��
� �
��
� �
��
� 	��
 ∗)

�� ��������
 �����	�
� ������$ A �� B ����������

������������� (a, b) �� �� ����� ��������� ������� �������

���$ ����� a ∈ A �� b ∈ B$ ��	���� A �� B ������������

��������	 
������	 �� A × B ����	�	�� �"���#����*

A × B = {(a, b) | a ∈ A, b ∈ B}.
���������$ �� A = {1, 2}$ B = {2, 3}$ ��#��

A × B = {(1, 2), (1, 3), (2, 2), (2.3)}.
����� ��	�$

B × A = {(2, 1), (2, 2), (3, 1) (3, 2)},
���� )	�����$ A × B 	= B × A�

��������� A1, A2, . . . , An ���������� ��
��
��� �������

�� A1 × A2 × · · · × An ������)"����� �	�	�� ���������

(a1, a2, . . . , an) n����� ��������$ ����� ai∈Ai (i=1, 2, . . . , n)*

A1×A2×· · ·×An = {(a1, a2, . . . , an) | ai ∈ Ai, i = 1, 2, . . . , n}.
�� #��� ����#�$ �	�� ����� Ai = A (i = 1, 2, . . . , n)$ #��������

��
��
�� �������� ��	���� A
� ��������	 n
��	 ���	��	

�� An ����	�	�� �"���#����*

An = A × A × · · · × A︸ ︷︷ ︸
n����

.

∗) �������� ��	�
�	 �����
��� 	����
���	 �

��� �����
 ������
���������� �	 ��������� �� ����������� ��	 ������������



�

�� �
�����
 �
�������� ������$ A ���������� �������

���� ��
��
��� 
�����
��$ ���� A2 = A × A��� ��������� P

������������ ��	���� �	
����	 �	������� A �	��������

P ⊂ A × A.

�� (x, y) ∈ P $ ��#�� ���	���$ �	� x �����
�	 	������� y ���


��
���
 P �	��������	 �� �����* xPy�

�	��
��	� �������� ���������� ����������*

�� ������� ��� ��� R ��������)� #��	��"	� P ⊂ R×R

��������� #�����������

P = {(x, y) | x ≤ y}
��$ � ��������$

xPy ⇐⇒ x ≤ y.

���������$ (−3, 5) ∈ P $ (2, 2) ∈ P $ ������ (3,−5) /∈ P � ��

������� ���������� 6��� �"���#���� ,≤- ����	�	���

�� ��������� ��������� A ��������)� #��	��"	�

D ⊂ A × A ��������� #�����������

D = {(x, x) | x ∈ A}
��$ � ��������$

xDy ⇐⇒ x = y.

���� D ���������� ��	���� �����	� �	������� �� �� �"��

��#���� ,=- ����	�	��� ���������$ �� A = {0, 1}$ ��#��

D = {(0, 0), (1, 1)}�
�� ������$ m ���������� ��
������� ��� ���� 6��� ����

����

x ≡ y (mod m),



�	

�� x �� y ����� ��� ����� x − y � ��	�� ���#�	� ��	%�

m�)�� ���������$

2 ≡ 8 (mod 3),

������ 2 − 8 = −6 � ��	�� ���#�	� ��	%� ��)�� ���� ���

� ��� Z ��������)� #��	��"	� �������� Pm ⊂ Z×Z ������

���� #�����������

Pm = {(x, y) | x ≡ y (mod m)} (m ∈ N)

��$ � ��������$

xPmy ⇐⇒ x ≡ y (mod m). '���(

���������$ (2, 8) ∈ P3 ��$ ����� ��	�$ (2, 8) ∈ P6�

����������� )	��� #��� ������ ������� P ⊂ A × A ���

�������� ��	����

�( ���������	� �� ∀x ∈ A #����������� (x, x) ∈ P '����

D ⊂ P (;

�( �	����	��	$ �� xPy =⇒ yPx;

�( �
�	�	����	��	$ �� (xPy �� yPx) =⇒ x = y;

�( ���
�	���	$ �� (xPy �� yPz) =⇒ xPz�

���������$ R ��������)� �����)"����� ,≤- ���������

���� ��%�������$ ��
�����
����� �� 
���)�
����

)	�����$ ������� ����������$ �	����� ���� ��%�������$

��
�����
����� �� 
���)�
���$ ��	���� �������	� �	���


����$  	�	 ���������$ �	���)���� �����)"������ �������

��� ��������� 3 
��	����	� ���������	 �	������� �������$

,≤- ��������� ���� ��������� ����������

6���� ���� ��� ����� 
	�	��� ��������� ���� ��%������

��$ ����
����� �� 
���)�
����



��

)	�����$ ������� ����������$ �	����� ���� ��%������

��$ ����
����� �� 
���)�
���$ ��	���� ���	����
���	� �	


�������� �������$ 
	�	��� ��������� ���� �
�������
	���

���������� �
�������
	��� ��������� ���� ������� '���( &��

�	��� �����)"����� �������� Pm ��������� (m ∈ N)�

������$ P �
�������
	��� ���������� A ��������)�� A

��������� ���������� x ������
������� #��	��"	� �"��#���

Kx = {y ∈ A | xPy}.

Kx ������������ ��	���� x ������
�� ���	����
���	� ����	$

 	�	 x�� 3 �� ����	� ����������
��	� �	���� A �������� #��

�!���� ����	������	� ���������� ��������
���� �
�������

�
	��� 
������� ������������ �� ���


	�	��� ,=- ���������� #��� ����#� �
�������
	��� 
���

���� ���������
���� ������������� ���������$ A = {0, 1}
�������������� �
�������
	��� 
������� {0} �� {1}$  	�	

���� A �������� ����	������ ��� ������������* {0, 1} =

{0} ∪ {1}�
'���( 
	�	��� �����)"����� Pm ���������� #���������

�
�������
	��� 
�������*

K0 = {�m | � ∈ Z},
K1 = {�m + 1 | � ∈ Z},
. . . . . . . . . . . . . . . . .

Km−1 = {�m + m − 1 | � ∈ Z}.

#����#�	�$ �	� Ki 
���� #������ ����� ����� ��� ���

�������$ �	������ m�)� ���	%���� ��#�#� �!������ i ��� ��



�


(i = 0, 1, 2, . . . , m − 1)� ���� ��� ��� Z �������� ����	���

���� ����� 
������� ������������

Z = K0 ∪K1 ∪K2 ∪ · · · ∪ Km−1 .

���������$ �� m = 2$ ��#��

K0 = {2� | � ∈ Z} = {0,±2,±4, . . . },
K1 = {2� + 1 | � ∈ Z} = {±1,±3,±5, . . . },

���� K0 ���� ��� ��� ��� ��������$ K1 
��
 ��� ��� �������

��$  	�	 Z = K0 ∪K1�

 � ���!	� �� ��
�����
 ������
��
� ������$ E ��

F ���������� ������������� �� �	������� f ����$ �	���

��� E ��������� ����� x ������
� #���������� F �������

��� �������� y ������
�$ ��#�� ���	���$ �	� �	������� E

��������� f ������ F ��������#� �� ����� f : E → F ��

E
f→ F � �� y ∈ F ������
�$ �	���#�� f ��� ��� ��	� ���� ��

�� x ∈ E ������
�$ �"��#���� f(x) ����	�	�� �� ��	�����

x ������
�� ����� f ��� ��� ��	�� E ��������� ��	���� f

��� ��� '%�������( ��
������	� ��� �� �"���#���� D(f) ���

��	�	��� F ��������� ����� ���� y ������
�� ����������

���$ �	������ ����	������� E ��������� ������
���� �� ��

���$ ��	���� f ��� ��� '%�������( �
	��
������� �	������ ��

f(E) ����	�	�� �"���#����� �� f(E) = F $ ��#�� f �� ��	���

�� E ��������� ������ F �	�������� ��� ��������� �� �����

��	�

x1 	= x2 =⇒ f(x1) 	= f(x2),

��#�� f ��� ��� ���	���������� ������ ��	����$  	�	 E ��

F ����������� 3 ���	����
���	 �	��������	�



��

������$ E ���������� ���������� f : E×E → E ��� ���

��	���� �	
����	 ������	� E ��������)�� � ��������$ ���

������ 	&������ E ��������)� ���� ����$ �	���� �� ���

��� E ��������� ��������� 	� x �� y ������
� #����������

����� ��������� ���� z ������
��  #���� �������� 	&������

�� #�����$ ���� f(x, y) ������
� �"��#����� x + y �� xy ���

��	�	��$  	�	 ���� ������� 	&������� ��	����� #��������

��� ������	� �� ���������	� ������	��� #��	��"	� �"��#���

f(x, y) = x+̇y�

������� +̇ 	&������� ��	���� �������	��	$ ��

∀x, y ∈ E, x+̇y = y+̇x,

�� ��	���� ����	��	��	$ ��

∀x, y, z ∈ E, (x+̇y)+̇z = x+̇(y+̇z).

�� �����	�� ����� e ∈ E ������
�$ �	�

∀x ∈ E, x+̇e = x,

��#�� e�� ������
� 
�	������	 �����
�	 ��	����$  	�	 ��

∀x ∈ E, e+̇x = x,

��#�� e�� ��	���� ������
� 
�	������	 �����
�	�

e ������
�$ �	����� �����	���� ���� ���7���� �� ����

� ��� ���
������ ������
�$ 
�	������	 �����
�	 ��	�����

#����#�	�$ �	� #�
����� 	&������� #��� ����#� ���
���

��� ������
� �"��#����� 0 ����	�	�� �� ��	����� 
���


��
 �����
��$  	�	 ����������� 	&������� #��� ����#� �"�

��#����� ����	�	�� � �� E ��������� ���������
 �����
��

��	������



��

�� x ∈ E ������
������� �����	�� ����� x̄ ������
�$ �	�

x+̇x̄ = x̄+̇x = e,

��#�� x̄ ∈ E ������
� ��	���� x ∈ E ������
�� �	����	��	

�����
�	� #�
����� 	&������� #��� ����#� ����
���� ������

�
� �"��#����� 3 x ����	�	�� �� ��	����� x ������
�� ���	


����	�� �����
��$  	�	 ����������� 	&������� #��� ����#�

�"��#����� x−1 ����	�	�� �� ��	����� x ������
�� �����
�


��� �����
���

�� E ��������)� �����)"������ 	�� �������� 	&������

+̇ �� ◦$ ��#�� ◦ 	&������� ��	���� �	���	���	��	 +̇ 	&��

������ ������$ �� ∀x, y, z ∈ E

x ◦ (y+̇z) = x ◦ y+̇x ◦ z

��

(y+̇z) ◦x = y ◦x+̇z ◦x.

���������$ ������� ��� ��� R ��������)� �����)"����

�� #�
����� �� ����������� 6���������� 	&�������� 
	���


������ �� ��	���������� ����� �����$ ����� �
���	%������

���
��������	��� &��	����

.x(y + z) = xy + xz �� (y + z)x = yx + zx.

����� ��	�$ ��� ��� ���	
����� 	&������ ��� 
	��
����

���� '���������$ 5− 2 = 3$ ������ 2− 5 = −3($ ��� ��	���

������ '���������$ (3 − 2) − 1 = 0$  	�	 3 − (2 − 1) = 2(�



��

�������� 	&������� ����	������$ ���������� ��
������

�� n ��� �������� ������)"����� n
����	 ��������	 �����


�	�

f : E × E × · · · × E︸ ︷︷ ︸
n����

→ E.

�	�� n = 1$ 	&������� ��	���� �
����	� �������$ �������

	&������ ���� ��� �� f : E → E�

"� �
��
� ��������� G ��������� ��	���� ����	$ ��

���#� �����)"������ �������� ◦ 	&������$ �	����� �
���	�

%����� #����� &��	���� '����	����(*

�� ◦ 	&������ ��	���������;

�� G ��������#� �����	�� ���
������ ������
� e;

�� ���������� a ∈ G ������
������� �����	�� ���� ����
�

����� ā ∈ G ������
��

�� �������� 	&������ 6�������� #�
����� 	&������� ���

 ��$ ��#�� 7��%� ��	���� ��	�	��	 7��%�$  	�	 �� �� 	&��

����� 6�������� ����������� 	&������� �� �� 3 ����	��	


���	��	 7��%��

G�� ��	���� ������	 '�� �������	��	( 7��%�$ �� ◦ 	&��

����� 
	��
��������

���������$ ���� ��� ��� Z �� ������� ��� ��� R ���

��������� #�
����� 6���������� 	&������� ������ ����	���

����� ������ 7��%���� #����#�	�$ �	� ��� Z �� ��� R ���

������ ����������� 	&������� ������ 7��%� �� ����	���

����$ �������� �� �����	�� � ��� ��� #���������� ��� ���

����� ��	�$ R ��������� ������	��� ��� ��� R\{0} �������

�� ����������� 	&������� ������ ����� 
	��
����� 7��%��



��

������� ���� G ����	� 
��	��	��	 a �� b �����
�	���


�	�

a ◦x = b (y ◦ a = b) '���(

��
������� ���� ��������	 ���
���
	

x = ā ◦ b (y = b ◦ ā). '���(

∇ ������

a ◦x = a ◦ (ā ◦ b) = (a ◦ ā) ◦ b = e ◦ b = b,

���
	� x = ā ◦ b ���� a ◦ x = b ���
	����� ��	�� ����

�����

��	�$ �	� '���( ���
	����� � �� ��	�� ��� ��� �����

�������$ �� x1 �� ���
	����� ��	�� ����$ ��#�� a ◦ x1 = b

��$ #����������$

x1 = e ◦x1 = (ā ◦ a) ◦x1 = ā ◦ (a ◦x1) = ā ◦ b,

���� x1 ��� ���� '���( ��	�� ���� �

����

 ���� G ����	� 
��	��	��	 a �����
�	����	�

a ◦x = a ◦ y =⇒ x = y
(
(x ◦ a = y ◦ a) =⇒ x = y

)
,

��	� �����	 
��	��	��	 ������ ��	 ���� ��	������ 
��	��	��

����������

G 7��%�� H ������������ ��	���� G 7��%�� ���7��%�$

�� H ���� 7��%� G 7��%#� �����)"����� ◦ 	&�������

������� ���������$ �	� 7��%�� ���������� H �����������

��	� ���7��%�$ ����������� �� ��
������$ �	�

1. x, y ∈ H =⇒ x ◦ y ∈ H ;

2. x ∈ H =⇒ x̄ ∈ H.



��

���������$ ���� ��� ��� Z �������� ����	������ ����

����� R 7��%�� ���7��%��

#� �
��
� ��������� R ��������� ��	���� ����	$ ��

���#� �����)"������ 	�� �������� 	&������ ,+- �� ,·- ��

�� 	&�������� �
���	%����� #����� &��	����'����	����(*

�� ,+-	&������� ������ R ����	������ ������ 7��%�;

�� ,·- 	&������ ���
���������� ,+- 	&������� ������$

����

x · (y + z) = x · y + x · z, (y + z) · x = y · x + z · x.

�� ����������� ,·- 	&������ ��	���������$ ��	�� ��	�

���� ����	��	��	 ��	��$  	�	 �� 	&������ 
	��
�������

3 �������	��	 ��	���

���������$ ���� ��� ��� Z �������� ����	������ ��	�

��������
	��
����� ��	�� ��������� ��	������� 
	���


����� ��	�� ����	������ ������� ����� ��� ��� ��� ���

������ �� ����� ����	����� ��� ��� ��������� �	��
��	�

������� ��	��� ���������

������$ m ��
������� ��� ���$  	�	 Pm ���� '���( &��

�	��� �����)"����� �
�������
	��� ��������� Z ���������

)�� �
�������
	��� Zm = {K0, K1, K2, . . . , Km−1} 
����� ���

������#� #��	��"	� #�
������ �� ����������� 	&��������

#�����������* ∀Ki, Kj ∈ Zm

Ki + Kj = K�,

����� K� �
�������
	��� �� 
�����$ �	����� #������ i + j

��� ��$  	�	

Ki ·Kj = Ks,



��

����� Ks �
�������
	��� �� 
�����$ �	����� #������ i · j

��� ��� ��"���� Zm ��	�� ��	���� 
����� ����	 m ��


���	�� �� ��	��� ���	���� ������
�� �
�������
	��� K0


����$  	�	 ������	���� ������
� 3 K1 
�����

���
�	���  #���� �
�������
	��� Ki 
���� �����
����

������ �"��#����� i ����	�	��� ����� #���� ����� ���������

������� #����!��� ������	�$ �	�

Zm = {0, 1, 2, . . . , m − 1}.
���������$ �� m = 3$ ��#��

Z3 = {0, 1, 2}.
Z3 ��	�#� �������� #������ 
	�	����* 1+1 = 2$ 2+1 = 0$

2 + 2 = 1$ 0 · 2 = 0$ 1 · 2 = 2$ 2 · 2 = 1 �� ��#� �

$� 	��
� 
	��
����� ��	������� R ��	�� ��������$

�	���� ������	���� ������
���� �������� ����������� ��

����������� 	&������� ������ ����� 7��%�$ ��	���� ���	�

����	����� ��� ��� Q ��������$ ������� ��� ��� R ��


	�&������ ��� ��� C ����������� ����	������ �������	

����� �����������

�	��
��	� ������� ����� ��������� ����� ��	� Zp ��#�

��� ��	��$ ����� p ���������� ���
��� ��� ���� ��6���	�$

�	� Zp ���� ����� ��������� ��
������� ��6���	�$ �	� ���

�������� Ks ∈ Zp (s 	= 0) ������
������� �����	�� �����

Ks′ ∈ Zp ������
�$ �	�

Ks ·Ks′ = K1 .

������ p ���
��� ��� ���$ ���
	� ��� ���� ��
�������

� ��� ��������$ ����� 1 ≤ � ≤ p− 1$ ��� �� � · s �� ����	%�



��

���#�	� p ��� �)�$ ����

�s 	≡ 0 (mod p). '��2(

��#�������$

Ks, K2s, K3s, . . . , K(p−1)s '���(

�
�������
	��� 
��������� ��� ���� �� ��� ���� K0�� ''���(�

#� K�s��� �"��#����� �� �
�������
	��� 
����$ �	����� #��

����� �s ��� ��(� ����� ��)�)�� ����� �� 
���� ���� ���������

��������������$ ������ �����"���� #��� ����#�

Kis = Kjs (i 	= j)


	�	����� ����"����� 
	�	���

is ≡ js (mod p),

��������

(i − j)s ≡ 0 (mod p),

��� #��!������� '� � '��2((� �������$ �
�������
	��� 
�����

'���( �������� ��� ���� �
�������
	��� 
�����

K1, K2, K3, . . . , Kp−1 '��<(

��������� '������
���� �������� '���( �� '��<( �������	�

���#� )	����� ���� ���������(� ������ ���	�������	��$

�	� �	�!������ ����� s′$ ����� 1 ≤ s′ ≤ p − 1$ �	������

����� Ks′s = K1 �� ��� ������

Ks′ Ks = K1 .

�������$ 
��	��	��	 ����	�	 p �	���	����	� Zp ��	� ��


�	� �
#����#�	�$ �	� ���������� ���
��� p �� ��
������� n

��� �������� �����	�� ������� ����$ �	����� #������ pn




	

������
�� ���� ���� ��	���� ������ ���	 �� �"���#����

G F(pn) �� Fpn ����	�	���

�	�� p = 2 �� n = 1$ �"����	�� 	�������
��� F2 =

{0, 1} ����� �� ����� ������
���� #�
���� �� ����������  	�

��������� #�����������*

0 + 0 = 1 + 1 = 0, 0 + 1 = 1 + 0 = 1,

0 · 0 = 0 · 1 = 1 · 0 = 0, 1 · 1 = 1.

�� �����%��� #��!���� ���� 	� � ������� ��#������� '� ���

�� ��� �� ���(�

+ � �
� � �
� � �

· � �
� � �
� � �

� ���� ��� � ���� ���

�������$ F2 ����� ���������� a ������
�������

a + a = 0. '��4(

������ ���	�������	��$ �	�

a = −a, '���(

���� a ���� a ������
�� �	&����&��� ������
��

p = 2 �� n = 2 #��� ����#� �"����	�� G F(4) = F4 =

{0, 1, a, b} ���� '� � � ���� ��� �� ��2(*

+ � � a b
� � � a b
� � � b a
a a b � �
b b a � �

· � � a b
� � � � �
� � � a b
a � a b �
b � b � a

� ���� ��� � ���� ��2




�

��� �� ��2 � ��������� ���	�������	��$ �	� ���������$

a ������
�� �	&����&���� ���� a ������
� (a + a = 0)$  	�	

a ������
�� #����������� b ������
� (ab = ba = 1)�

��%�� �������� ���
	������ ���
���⎧⎪⎪⎨
⎪⎪⎩

a11x1 + a12x2 + · · ·+ a1nxn = b1,
a21x1 + a22x2 + · · ·+ a2nxn = b2,
. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
am1x1 + am2x2 + · · · + amnxn = bm,

�	���� aij 
	�%�����
��� �� bi ������%��� ������� (i =

1, 2, . . . , m; j = 1, 2, . . . , n) ����	������� ����� K ����� ����

���
���$ ��	� ����� �����$ �	�	�� �������
	�%�����
�����

���
	������ ���
������

��
��
�
 �� � ��	� ���� ������ F2 ���#� ��%�� �����

���� ���
	������ #������ ���
���*⎧⎨
⎩

x + y + z = 0,
y + z = 1,

x + z = 1.
'��1(

∇ ���
���� ��	�� �� ������ ���
	����� ������
	� &���

����* ⎧⎪⎨
⎪⎩

x + y + z = 0,

x + 2y + 2z = 1,

2x + y + 2z = 1.

'#���� ����� ���� ���$ ����� ���������� a ������
������� 6���

����� a + a = 2a$ a + a + a = 3a �� ��#�( ������ F2 ���#�







2x = 2y = 2z = 0 '� � ��4($ ���
	� �"����	��⎧⎨
⎩

x+ y + z = 0
x = 1

y = 1
⇐⇒
⎧⎨
⎩

1 + 1 + z = 0
x = 1
y = 1

⇐⇒

⎧⎪⎨
⎪⎩

x = 1,

y = 1,

z = 0.

�������$ '��1( ���
��� ���������� �� (1, 1, 0) ���� ���������

��	�� ����� �

§�� Rn �
	���

R2��� �"���#�	� ������� ��� ��� ���������� �������

��� �������� ��� R��� ��
��
��� 
�����
�

R2 = R × R = {(x, y) | x, y ∈ R}.
�� �������� #��!���� ��������	� ����
��� ���
���� �������

������� ��������� R2 ��������� �	��� (x, y) ������
� #����

�����	� ����
��� ����� M ���
��� '�� �� ���
����
−−→
OM

����������
	��($ �	���� 
		�����
��� ����
��)� �	�����

����
�� � 
		�����
�� OXY ���
���#� ���� x �� y� � ��

���$ �	� �"��#���� #��������	�� R2 ���������� �� ����
���

���
���� ��������� #	��� ������������ ��� ���������$

R2 ��������� (−3, 2) ������
� #���������� ����
��� M(−3, 2)

���
���$  	�	 (2, 1) ������
� 3 N(2, 1) ���
��� '�� � ���(

�� � ���




�

����	������$

R3 = R × R × R = {(x, y, z) | x, y, z ∈ R}

��������� �	��� (x, y, z) ������
� #��!���� #��������	� ���

����� ����� M ���
��� '�� �� ���
����
−−→
OM �����������


	��($ �	���� 
		�����
��� ������#� �	����� ����
�� �


		�����
�� OXY Z ���
���#� ���� x$ y �� z� �������$ R3

�������� #��!���� ��������	� 6���������� ������� ���
��

��� ������������ '�� ������� 6��������� ���
	��� �������

������(�

R2 �� R3 ����������� ��	���� #���������� ����
���	��


�	�
	 �� �����
���	���	�
	 �����	
����	 '��� ��	����	��


�	( �	�����

)	�����$ n ��
���	���	�
	 'n ���������� ��
�������

��� ���( �����	
����	 Rn �	���� ������)"����� �	�	��

(x1, x2, . . . , xn) ������� ��� ��� ���������� n�������� ���

������

Rn = R × R × · · · × R =

= {(x1, x2, . . . , xn) | xi ∈ R (i = 1, 2, . . . , n)}.

���������$ (−1, 1, 3, 5) ∈ R4$  	�	 (2, 5,−1, 0, 6) ∈ R5 �

Rn ������� ������
��� ��	����� ������� ����	���� ��

���������� x1, x2, . . . , xn ��� ���� x = (x1, x2, . . . , xn) ∈ Rn

������	� �����	
����	 ��	����� Rn ������� (0, 0, . . . , 0) ���

�
	��$ �	���� ����� 
		�����
� ����� 
	���$ 
�����
	

������	 ��	���� �� �"���#���� θ ����	�	���

Rn ������� x = (x1, x2, . . . , xn) �� y = (y1, y2, . . . , yn)

������
��� ��	���� 
	��$ �� ���� #��������� 
		�����
���




�


	���$ ����

(x1, x2, . . . , xn) = (y1, y2, . . . , yn) ⇐⇒ xi = yi (i=1, 2, . . . , n).

Rn ������ ����	������ 6��������� '��	��
����( ���
	�

��� ������� ���)	������� �� ����$ �	�	�� ��	��
���� ���

�
	��� ������#�$ ������)"����� ���
	��� #�
����� �� ���

�
	��� ������� ��� �)� ����������� 	&��������* �� x =

(x1, x2, . . . , xn) ∈ Rn$ y = (y1, y2, . . . , yn) ∈ Rn �� α ∈ R$

��#��

x + y = (x1 + y1, x2 + y2, . . . , xn + yn),

αx = (αx1, αx2, . . . , αxn).

���������$ R4 ������� x=(−1, 2, 3, 5) �� y=(0,−3, 2, 1)

������
�������

x + y = (−1,−1, 5, 6),

 	�	

10x = (−10, 20, 30, 50).

(−1)x ���
	�� ��	���� x ���
	��� ���	����	�� �����


�	 �� �"���#���� −x ����	�	��� � ����$ �	� �� x =

(x1, x2, . . . , xn)$ ��#�� −x = (−x1,−x2, . . . ,−xn)�

���
�	��� �� Rn ������� �����)"�����#� ������� ���

� ��� R ��������� #������� ���������� K ����� '� � §�($
����"��� n����)	�������� 
		�����
�� Kn �������� �� ���

����� 	�� ������
�� 7��� �� ����� ������� ������
�� �������

�� K ����� α ������
)� ������)"����� �����$ �	�	�� Rn

������� #��� ����#�� �




�

Rn ������� ��������� E ������������ ��	���� Rn �	


���	� ����	����$ �� ∀x, y ∈ E �� ∀α ∈ R x + y ∈ E ��

αx ∈ E�

���� θ ������
������ #�������� Rn ������� {θ} ������

������ ����	������ Rn ������� ����������� ���� ����������

��	���� Rn ������� 
�����
	 ����	�����

��	���
�� ���� ������$ E ���� R3 ������� ����� �����

������
�� ��������$ �	���� ������ 
		�����
� 0��� 
	���$

����

E = {x1, x2, 0) | x1, x2 ∈ R}.
����

����$ �	� E ���� R3 ������� ����������

� ����$ �	� 1×n ���)	������� ���������� �
���	����
���

��

a = [a1, a2, . . . , an]

�� n × 1 ���)	������� ���������� ���
���
����

b =

⎡
⎢⎢⎣

b1

b2

· · ·
bn

⎤
⎥⎥⎦ =
[
b1 b2 . . . bn

]�

#��!���� ����� ��	� �	�	�� Rn ������� ������
� '���
	�

��(� ������� ������
�� #��!���� 6������	� ������� ��%��

�������� ���
	������ �������	����⎧⎪⎪⎨
⎪⎪⎩

a11x1 + a12x2 + · · ·+ a1nxn = 0
a21x1 + a22x2 + · · ·+ a2nxn = 0
. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
am1x1 + am2x2 + · · ·+ amnxn = 0




�

���
���� ���������� ��	�� ���� �� x(1) = (x
(1)
1 , x

(1)
2 , . . . , x

(1)
n )

�� x(2) = (x
(2)
1 , x

(2)
2 , . . . , x

(2)
n ) �� ���
���� 	�� ��	�� ����$ ���

#��$ �	�	�� ������ ���� ������$ �� ��	�� ������ 7����

x(1) + x(2) = (x
(1)
1 + x

(2)
1 , x

(1)
2 + x

(2)
2 , . . . , x(1)

n + x(2)
n )

�� ��������� ������� α ��� �)� ��������� ������ �� ���
����

��	�� ���� �� ��#����$ �	� n ���	���� ��%�� �������� ����


	������ ����������
	 �	����	� ���
���
�� �	������ ���


������
� Rn �	���	� ����	������

��	���
�� ���� ����

����$ �	� ��%�� ����������	�

��� n ���	���� �������� ���
	������ ���
���� ��	�� ����

�������� '�	����� Rn ������� ������������( �� ���� Rn

������� ����������

V3��� �"���#�	� 6��������� ���
	��� '	����
������

�	��
�����( �������� ���)� �����)"���� #�
����� �� ��� ��

)� ����������� 	&���������� ������ ���	�	� ���� �������

��� ��	��
���� ���
	��� V3 ������� ����#���$ �	� %�����

������� ��
��
�� ����
�� � 
		�����
�� OXY Z ���
����

V3 ������� �	���

�a = x�i + y�j + z�k

���
	�� #��������	� R3 �������

a = (x, y, z)

���
	��� � ����$ �	� �����

ϕ : V3 → R3 '���(

#��������	�� ������������ ��� ���� �����$ '���( #��������

�	�� ����6����� �� ��������#� �����)"���� 	&��������$ ����




�

∀�a,�b ∈ V3 �� ∀α ∈ R

ϕ(�a +�b) = ϕ(�a) + ϕ(�b)

��

ϕ(α�a) = αϕ(�a)

'� � ��	���� ���<��(� �� ���� ��#����$ �	� ��������� ������)�

����� V3 �� R3 ��������� #	��� ��������� ���� ������ ��

�����	��* �	���� ��������� �������$ �	����� ����������

V3 ������� ������
���������$ ��������� ������ ������� R3

������� ������
���������$ ��$ &������� ���� #��� ����#� ���

�	���$ �	� �� 	�� ������ ���������� 	��������	� �� ����

��� �"��#�����*

V3
∼= R3 '���(

',�)	- ���!���� ��
���� �� ��#���� 
	��$ ��������$ �������$

 	�	 ,�	�%�)��- %	����(�

V3 ������� ���	��� �0 ���
	�� �"��#���� �)	�	�%�)���

��	� #���������� R3 ������� ���	���� θ = (0, 0, 0) ���
	���

��	���
�� �� � ����

����$ �	� ��� �����7�#	#� ����

��)"����� R3 ������� E ��������� R2 ������� �)	�	�%��

���$ ����

{(x1, x2, 0) | x1, x2 ∈ R} ∼= R2.

�"��#���� #�������� ���	�������	��$ �	� �)	�	�%�)����

�� ��)��
�� R2 ���� R3 ������� ���������$ ���� R2 ⊂ R3$ ��$

)	�����$ �� m ≤ n$ ��#�� Rm ���� Rn ������� ���������

'�)	�	�%�)����� ��)��
��(* Rm ⊂ Rn (m ≤ n)�




�

§ � ���
	
 �
	���� ���
	
 �
	��
� ��
��
���


��	����	� Rn ������#� �����)"����� 	&��������� !��

������ ���������* ∀x, y, z ∈ Rn$ ∀α, β ∈ R$

1. x + y = y + x '
	��
�����	��(;

2. (x + y) + z = x + (y + z) '��	�������	��(;

3. x + θ = x '���	���� ������
�� �����	��(;

4. x + (−x) = θ '�	&����&��� ������
�� �����	��(;

5. 1 x = x;

6. (αβ)x = α(βx);

7. (α + β)x = αx + βx;

8. α(x + y) = αx + αy '���
��������	��(.

'���(

�	�	�� �"��#���� ��	 '� � §��< �� §����($ ������� &��	�

���� �
���	%����� ��
����� E(m, n) ��������#� �� ���
	�

��� V3 ������#� �����)"����� ��%��� 	&���������

)	�����$ �� ����� ��������� E ��������#� �����)"����

�� #�
����� �� ��� �)� ����������� 	&��������� �
���	%��

���� '���( &��	���� '����	����($ ��#�� ���� E ��������� ���)�

�����)"���� 	&���������� ����� ���	�	 �	���� ��	�����

��%��� ������� ������
��� ��	����� ������� ���
	�����

E ��%��� ������� ��������� F ������������ ��	���� ��

������� ���	�	 ����	����$ �� �� ���� ��%��� ������ E�#�

�����)"����� 	&��������� �������




�

���
�	�� �� ��%��� ������ #��!���� ������)"��	� �	�

�	�� ������� �������� 7��%� '� � §�($ �	���� ������
��

�������� ����
���� �����)"������ ������� ��� �)� �������

����� 	&������� �� 	&������ '���� ϕ : R×E → E ��� ��( ����

�
���	%������� �3� ����	���� '� � '���((� �

���
�	�� �� ��%��� ������� �����)"�����#� ������� ���

� ��� R ���� #��!���� #������	� ���������� K ������ ����

#��� ����#� E�� ��	���� ���	�	 �	���� ������� K ������

�� K = R$ ��#�� E�� ��	����� 
����	� ���	� �	�����$  	�	

�� K = C '
	�&������ ��� ��� ����($ ��#�� 3 ����������

���	� �	������ �
�	��
��	� ��%��� ������� )	������ ���#����	���� ���

������ '#�
����� �� ��� �)� ����������� 	&�������� 6���

���������(*

�� Rn �	���� (n ∈ N);

�� �������	�� �������� V3 �	����;

�� m × n ��
���	���	� ����	��� E(m, n) �	������;

2� ���	� �������� ��
�������� ����������
	 �	����	�

���
���
�� �	�������

��	���
��  ��� ����

����$ �	� ����	� 6��	������

����������� ���)� �����)"���� 6��������� 	&���������� ���

��� ������ ��%�� �������*

�� �	����� [a, b] �	��
���)� �����)"���� �����
 %������

��� C[a, b] ��������;

�� 
������ ��� ���� �������	����� ��������;



�	

�� �������
	�%�����
����� ������������ Pn ��������$

�	�����  ���� � �� �"���
��� �	����� ��
������ n ���

� �� '���	���� p(x) ≡ 0 �����������$ �	����  ���� � ����

��)"����� �� ����$ ���
������ Pn ���������(�

��	���
��  ��� ����

����$ �	� n  ���� �� ���������

���� �������� 'n 3 %���������� ��
������� ��� ���( ��

����	������ ��%�� ��������

��	���
��  � � ������$ E ��%��� ������� '������� ���

� ��� ���)�( �� x, y, z ∈ E$ α, β ∈ R� ����

����$ �	�

1. x + y = z ⇐⇒ x = z + (−y);

2. αx = θ ⇐⇒ (α = 0 �� x = θ);

3. (−1)x = −x;

4. �� α 	= 0, ��#��
(
αx = βy ⇐⇒ x =

β

α
y
)
;

5. �� x 	= θ, ��#�� (αx = βx ⇐⇒ α = β).

∇ �����

��	�$ ���������$ &���
� �� ������

x + (−1)x = 1x + (−1)x = [1 + (−1)]x = 0x = θ,

���
	� (−1)x = −x� �
���
�	��  � �� �����7�#	��� �� ��%��� ������� ���

��	������� ���	�������	��$ �	� ��������� ��%�� ������#�

'������� ��� ��� ���)�( ����#����� ����� 
��������� ���

������� ���������� #�������� '%�6 ����� ����� �����	

��������� ��
���$ 
	�	��� #�
���� ������	��� �������)�$


	�	��� ���� � ������ #���
����� ��	�� � ���#� ����
���



��

�	&����&��� ��#��� �� ��#�($ ����� 6��� #�����#� �&�������

�� ��������� ����#� ������������� �

§"� ��������
 �����	�
 ���
	 �
	����
� �	��
���

�
	���� ����
���
 �
	��
� �����

Rn ������� '�� )	����� ��%��� �������( ����� #��	"��

���� ��	 �	�	�� 6��������� ���
	��� V3 ������� ���)	�

������� 6��������� ���
	��� ������#� �����)"������ ����


	��� ����!� �� 
�� � ���
	���� #	���� ���
	� ����������

�� ��
�� �� ��� ���� )	���� ��%��� ������� #��� ����#��

Rn ������� x = (x1, x2, . . . , xn) ���
	�������� ���� �	��


 � '��� 
����( #��!���� ������)"��	� 
	�	���

|x| =
√

x2
1 + x2

2 + · · ·+ x2
n . '2��(

�� x 	= θ$ ��#��$ � ����$ |x| > 0$  	�	 |θ| = 0�

��
 	�	 Rn ������� x = (x1, x2, . . . , xn) �� y =

(y1, y2, . . . , yn) ���
����� '���
	����( #	��� ������)"�����


	�	���

ρ(x, y) = |y − x| =

=
√

(y1 − x1)2 + (y2 − x2)2 + · · ·+ (yn − xn)2 . '2��(

	�� x = (x1, x2, . . . , xn) �� y = (y1, y2, . . . , yn) ���
	���

��������	 
������	 Rn ������#� ������)"����� #������ 
	�

�	���

(x, y) = x1y1 + x2y2 + · · · + xnyn. '2��(

'2��( �� '2��(���� ���	�������	��$ �	�

|x| =
√

(x, x) . '2�2(



�


�#���	 #��	������ #��!���� ��������� �
������� ����

������ #������ ���������*

1. (x, y) = (y, x);

2. (x + y, z) = (x, z) + (y, z);

3. (αx, y) = α(x, y);

4, (x, x) ≥ 0; (x, x) = 0 ⇐⇒ x = θ.

'2��(


�� �� ������ #��	"��� Rn ������#� ������� ��������

���  ���� �
������� ��������� ��#������� '� � %	�����

'2���((� ����� ��	�$ �� #��!���� ��
����� ��� � 	�	� Rn ���

����#�$ ������ ��������� ��%�� ������#�$ �	���#�� �����)"�

������ �
������� ���������

)	�����$ 
	�&������ ����% ������#� ��������	 
�����


�	 ������)"����� ����	��
�
���� �	�	�� ϕ : E × E → C

��� �� '���� ����$ �	���� �� ����� E ������� ��������� 	�

x �� y ������
� #���������� 
	�&������� (x, y) ��� ��($ �	�

����� �
���	%����� �32 ����	���� '� � '2��(($  	�	 &������

����	�� ������� #������ ����	���

(x, y) = (y, x),

����� (y, x) ���� (x, y) 
	�&������� ��� ��� #��"������

��� ���

� ����$ �	� ���������� λ 
	�&������� ��� ��������

(x, λy) = λ(x, y).

��%�� �������$ �	���#�� �����)"������ �
������� ����

�����$ �����	��� �	���� ��	����� 
	�&������ ��
����� ���

����� ��	����� ������� �
	����� '�� ���	���( ��������



��

�� ��
����� E ������ �������� ��%��� �������$ ��$ �����

��	�$ ∀x, y ∈ E ���� �
������� �������� �������� ��� ���

3 (x, y) ∈ R$ ��#�� E�� ���	�	� 
����	�	 ����	��� �	�����

�	��
��	� ��
����� ������� )	������ ���#����	���� ���

������*

�� �����	
����	 Rn �	����� �
������� �������� ���

����)"����� '2��( 
	�	���;

�� �����	
����	 Cn = {(z1, z2, . . . , zn) | zi ∈ C� i =

1, 2, . . . , n} �	����$ ����� C 
	�&������ ��� ��� ���

�������� x = (x1, x2, . . . , xn) �� y = (y1, y2, . . . , yn)

���
	����� �
������� �������� ������)"����� 
	�

�	���

(x, y) = x1y1 + x2y2 + · · ·+ xnyn;

�� �������	�� �������� V3 �	����� �
������� ����

����� 6����������� (∀�a,�b ∈ V3$ (�a,�b) = |�a| · |�b| ·
cos ϕ) '� � §����(;

2� [a, b] ��
������� ��
�������� ������ 
����	� ��
�


�	��� C[a, b] ���	�	 �	����* ∀f, g ∈ C[a, b]

(f, g) =

b∫
a

f(x)g(x) dx;

�� [a, b] �	��
���)� �����)"���� �����
 
	�&������

%�������� C[a, b] ��%��� ������* ∀f, g ∈ C[a, b]

(f, g) =

b∫
a

f(x)g(x) dx.



��

������$ E ��
����� �������� �� ������� ���������� x ����

���
������� '2�2( 
	�	��� �����)"���� |x| ��� �� ��	����

x �����
�	� 
���� '�	�� � �� �����	(*

|x| =
√

(x, x) .

������� "��� ����	��� �	���	� 
��	��	��	 x �� y ���


��
�	����	�

|(x, y)| ≤ |x| |y|. '2�<(

∇ �� y = θ$ ��#�� �
	�	�� � ����� ������$ y 	= θ�

�
������� ��������� ���2 �������� ���� ��� ���������� λ 
	�

�&������� ��� �������� ������

(x − λy, x− λy) =

= (x, x) − λ(y, x) − λ(x, y) + |λ|2(y, y) ≥ 0. '2�4(

���"	� λ = (x,y)
(y,y)

� ��#�� '2�4(���� ����"���

(x, x) − (x, y)

(y, y)
(y, x) − (x, y)

(y, y)
(x, y) +

|(x, y)|2
(y, y)2

(y, y) ≥ 0.

������ (x, y)(y, x) = |(x, y)|2 �� (x, y) · (x, y) = |(x, y)|2$
���
	� �
����
���� �
	�	�� ���"��� #����� �� ��*

(x, x) − |(x, y)|2
(y, y)

≥ 0

���

|(x, y)|2 ≤ (x, x) · (y, y). '2��(

��	%����� #����� ����"��� �����

������ '2�<( �
	�	���� �
'2�<( �
	�	��� ��	���� ���	
��
	������	� ��������



��

#����#�	�$ �	� )	����� #��� ����#� 
	#�������
	��
��

�
	�	�� ���	������� '2��( �� ��� Rn ������� #��� ����#�

������ ����"��� ��	��� ��� ��� �
	�	���( n∑
i=1

xiyi

)2

≤
( n∑

i=1

x2
i

)( n∑
i=1

y2
i

)
, '2�1(

�	����� �������� ���������� x1, x2, . . . , xn, y1, y2, . . . , yn ����

����� ��� ���������

��
����� ������� 	� ������	��� x �� y ���
	�� ��	���

�� ������
����	$ �� (x, y) = 0 �� �� %��
� ��� �"��#�����*

x ⊥ y�

)	�����$ �������� ��
������ ������� �� ���
�����


x �� y ������� ���	� ����� ������)"����� 
	�	���

ϕ = arccos
(x, y)

|x| |y| . '2���(


	#�������
	��
�� �
	�	��� ���� ���

−1 ≤ (x, y)

|x| |y| ≤ 1,

���
	� 
�� �� ����� �����)"����� 
	���
�����

#����#�	�$ �	� #���!������� ������
����� ��	��
����

)	������ ��	����� ���)	������ ���������� �������� ��
���

��� ������������� ���������$ 
	��������� ��	����� ���� #��

����� �� �

|x − y|2 = |x|2 + |y|2 − 2|x| |y| cosϕ, '2���(

����� ϕ ���� 
�� � x �� y ���
	���� #	��� '����

����(�



��


��!	 #��� ����#�$ �	�� ϕ = 90◦ '���� x ⊥ y($ ������

���"��� �	������� �������

|x ± y|2 = |x|2 + |y|2. '2���(

��������� ��
����� ������#� ���������� ������� ���� ���


������	� �������

|x ± y| ≤ |x| + |y|. '2���(

V2 ������� #��� ����#� �� ��������� ���� 
����� ��	����

��	��
����� #������� '� � #����������$ �� � 2�� �($ 2�� �( ��

2�� �($ �((�

�� � 2��

�����$ �	�	�� Rn ������� #��� ����#� '� � '2��(($ ��
 	�	

��
����� E ������� x �� y ������
��� #	��� ������)"�����


	�	���

ρ(x, y) = |x − y|. '2��2(

������� �	������$ �	� ∀x, y ∈ E

1. ρ(x, y) = ρ(y, x);

2. ρ(x, z) ≤ ρ(x, y) + ρ(y, z);

3. ρ(x, y) > 0, �� x 	= y; ρ(x, x) = 0.

'2���(

)	�����$ �� �	������� ����$ �	���� ���� ��� E ���

������� ��������� 	� x �� y ������
� #���������� ���
�����



��

�������	%��� ρ(x, y) ��� �� ���$ �	� #����������� '2���(

&��	����$ ��#�� ���� E ��������� ��	���� ����	���	 �	����$

 	�	 �������	%�� ρ(x, y) ��� �� 3 ��
 	�	 x �� y �����



���� ���	�� ρ(x, y) #��!���� ����� ��	� �	�	�� ��������

��� ���� %������$ �	����� �
���	%����� '2���( &��	�����

���� %������� E �	�����	� ����	�� ��	�����

�������$ �	���� ��
����� ������ '�� ��#�������$ Rn ���

�����( #��!���� ����� ��	� �	�	�� ��
��
��� ������

'2��2( 
	�	��� �����)"����� ��
��
��� ���� #����#�	�$

�	� ��
��
� #��!���� ��	� #��	"����� ����� ��������������

���$ �	����� �� ����	������ ��%�� �������� ���������$ ���

�������� 	�������
���� M = {x, y} ��������$ �����

ρ(x, y) = 1$ ρ(x, x) = ρ(y, y) = 0$ ���� ��
��
��� �������

Rn ������� ���������� 	�� x = (x1, x2, . . . , xn) �� y =

(y1, y2, . . . , yn) ������
������� d(x, y)��� �"���#�	� x− y ���

�
	��� ������	���� 
		�����
���� ��� �� '���� x �� y ����


	����� ���� �������� 
		�����
���� ��	���	��(� �������

���$ �� x = (2, 3, 0)$ y = (1, 3, 1)$ ��#�� x− y = (1, 0,−1) ��

#���������� d(x, y) = 2�

��	���
�� "��� ����

����$ �	� d(x, y) ����	������

Rn ������� ��
��
���

#����#�	�$ �	� ����� ��
��
� ���	������� 
	������� ���

	���#� '� � §��(�



��

§#� ���
	
 �
	��
� 	�%����� ���
	��

�����
�������� �� ���
	�� ������
�������

������$ E ��%��� ������� �� a1, a2, . . . , an ∈ E� ���	�

�� ������

α1a1 + α2a2 + · · ·+ αnan, '���(

����� α1, α2, . . . , αn ���������� ��� �����$ ��	���� a1, a2,

. . . , an ���
	����� ���	�	 ����	
��	�� '���( ��%�� 
	��������

�� ��	���� ��	�	����	$ �� α1 = α2 = · · · = αn = 0$ ��

��	���� �����	�	����	$ �� α1, α2, . . . , αn ��� ���� #	���

���� ����� ������	����� '���� |α1| + |α2| + · · · + |αn| 	= 0(�

� ����$ �	� ���
	��� �	���� 
��������� 
	��������

���	���� ���
	��� 
	���$ ���� ∀a1, a2, . . . , an ∈ E #������

���� 
	�	��

0a1 + 0a2 + · · · 0an = θ.

��%��� E �������

a1, a2, . . . , an '���(

���
	��� ���
���� '���$ �	
���$ a1, a2, . . . , an ���
	����(

��	���� ���	��� �����	�����	$ �� �����	�� ���� ���
���

������� ��%��� 
	��������$ �	����� ���	���� θ ���
	���


	����

�������$ ���
	��� ���
��� ��%���� ���	
��������$ ��

�	�!������ ����� α1, α2, . . . , αn ��� ����$ �	����� #	��� ���

�� ����� ���� ��������� ���������$ �	�

α1a1 + α2a2 + · · ·+ αnan = θ. '���(

E ������� ���
	���'���( ���
���� ��	���� ���	��� ��


����	�����	$ �� �� �� ���� ��%���� ���	
�������$ ���



��

� ��������$ �� '���( 
	�	�� �������� � 	�	� �� #��� �

����#�$ �	�� α1 = α2 = · · · = αn = 0�

������� #��� 	�	����	�� ��� ���	�	 E �	���	� �����


��� !"�#$ �	����� 	��� ���	��� �����	�����	� ���	�����	�

�� ������	�	� ��� �� �	����	� ���
���	 ������	 	��� ��
��


%�
	 ��������	� ���	�	 ����	
��		� ���	�

∇ ���	�������� ������$ '���( ���
	��� ���
��� ��%��

��� ���	
��������� ��#�� ��������� �� ���
	����� ����� ����


��������� α1a1 + α2a2 + · · · + αnan ��%��� 
	��������$

�	����� ���	���� θ ���
	��� 
	���� ������$ αn 	= 0� ���

���� &������%�� �	�	� ��
������� #���#���� �������������

��� '���(���� ����"���$ �	�

an = −α1

αn
a1 − α2

αn
a2 − · · · − αn−1

αn
an−1,

���� an ���
	�� ���� �����6��� a1, a2, . . . , an−1 ���
	�����

��%��� 
	��������� 
	���

������	����� ����#���$ �	� '���( ���
���� �������� ���

�
	��$ ���������$ an ���� �����6��� a1, a2, . . . , an−1 ���
	�

����� ��%��� 
	��������*

an = α1a1 + α2a2 + · · · + αn−1an−1.

��������	� �� 
	�	�� #������ �� ��*

α1a1 + α2a2 + · · ·+ αn−1an−1 + (−1)an = θ.

������ an ���
	���� ���	�� αn = −1 
	�%�����
� �� �����

���$ ���
	� a1, a2, . . . , an ���
	��� ���
��� ��%���� ���	
��

�������� �



�	

����

 #��� �� (5.2) �������� �	����	����	� ��������

���
���	 ������ ���	 �	���	��
&

1. �	����	� �������� ���	� ��	� 
�����
	 θ ������	�

2. �	������	 ��	� ���	 ��������	�

3. �	����	� �����	�� ����	����� ���	��� �����	�����	��

���	
 �� �	����� ���	��� �����	�����	��

����

 #� � �� �������� �	����� ���	��� ������	��


���	�� ���	
 ���	��� ������	�����	� �	�	 
��	��	��	 ����	


����� (������	��� ���	
��������� ������	�)�

������$ �	������� n���� ����� ��
�������
�

Δ =

∣∣∣∣∣∣∣∣
a11 a12 . . . a1n

a21 a22 . . . a2n

. . . . . . . . . . . . . . . . . .
an1 an2 . . . ann

∣∣∣∣∣∣∣∣ . '��2(

����� ��	� �� ��
�������
�� �
���	���� '���
���( �	�	��

Rn ������� ������
���� � ����$ �	� �� ��
�������
�� ����

���� �
���	�� '���
�( ����	������ �����6��� �
���	�����

'���
����( ��%�� 
	���������$ ��#�� �� ��
�������
� �����


	��� '�� �� �
���	�� '���
�( ���	��
���� �����6��� �
�

���	����� '���
����( �"��#��� ��%�� 
	���������$ ����"���

���	��� �
���	�� '���
�((� ��� ��	����� ���������������

�� #����� #��!���� 6��	�������	� #������ �� ��*

������� #�"� ������	
�
�	� 
����
 �����	����	� ��


�	�����	� �� ������	�	� ��� ������	
�
�	� ���	��
��	 (���


���	) 	��� ���	��� �����	�����	�



��

�� ��	����� ��������	�� ���

������� ������ �	�������

��� '� ���	���� 4�4(�

Rn ������� 
�������#� �"��#���� ��	���� #��!���� 6��	�

�������	� #������ �� ��*

������� #�#� 	�	����	�� ��� Rn �	���	� e1 = (a11, a21,

. . . , an1)� e2 = (a12, a22, . . . , an2)�. . . �en = (a1n, a2n, . . . , ann)

�������� �	����� 	��� ���	��� ������	�����	� ���	����


�	� �� ������	�	� ��� �� ��������	� �����	
����	����
 ��


���
	�	 (5.4) ������	
�
�	 �� 	��� 
��	� ���	�

��	���
�� #�$� ����

����$ �	� Rn ������� e1 =

(a11, a21, . . . , an1)$ e2 = (a12, a22, . . . , an2)$ . . . $ em =

(a1m, a2m, . . . , anm) ���
	��� ���
��� ��%���� ���	�
����

����� ��#�� �� � 	�	� ��#��$ �	�� �� ���
	����� 
		����

��
�������� #�������� A ��
����� ����� ���� m��� 
	���

(m ≤ n)�

§$� ���
	
 �
	��
� ��&
�
 �� 
��&��
����

�� ���
	
 �
	��
� ��&
�
� )	�����$ ����� ���������

��)��� ������)"����� �	�	�� ���� ���������� �����������$

�	����� ���
����� �)��� ����	����� ���� ���������� ���

)��� ���!���� ��
���� �� ��#���� %�!��$ ��%�!����� ��%��

�� ������� #��� ����#� ��)��� ���� �� ������� ���� ���
	�

��� ���������� ���
���$ �	����� ����� #���!�	 ��%�� 
	�

���������� �������� '���� ��%��� �����( ��� ���� ���� �����

���� ���
���� ���������	�� ��#����$ �	� �� ���
���� ��� ���

�� ���
	�� �� ����	������ �����6������ ��%�� 
	���������



�


'���� ���
��� ���� ��%���� ���	�
�������($  	�	 ��	�� &��

�	�� ��#����$ �	� �� ������� ���������� ���
	�� ����	���

������ ��)��#� #������� ���
	����� ��%��� 
	����������

�������$ E �	���	� ���	�	 ���� �� ������� ���
	��� ���

�������� ���������� e1, e2, . . . , en ���
���$ �	����� �
���	�

%����� #����� 	� &��	���*

�� e1, e2, . . . , en ���
��� ��%���� ���	�
��������;

�� E ������� ���������� x ���
	�� ����	������ e1, e2,

. . . , en ���
	����� ��%�� 
	���������

x = α1e1 + α2e2 + · · ·+ αnen. '<��(

e1, e2, . . . , en ��%���� ���	�
�����	��� ���	

α1, α2, . . . , αn 
	�%�����
��� '<��( 
	�	��#� ������)"�����

����� �� '����

����( �� ��� ��	����� x ������	� ����


�	
����	 ������� ���	��	� �� %��
�$ �	� α1, α2, . . . , αn ����

x ���
	��� 
		�����
��� e1, e2, . . . , en ��)��#�$ �	
��� ���

�"���#����

x = (α1, α2, . . . , αn)e.

�#���	� �	������$ �	� ��

a = (x1, x2, . . . , xn)e, b = (y1, y2, . . . , yn)e, α ∈ R,

��#��

a + b = (x1 + y1, x2 + y2, . . . , xn + yn)e,

αa = (αx1, αx2, . . . , αxn)e.

������� $��� Rn �	���	� 
��	��	��	 n ���	��� ����


��	�����	 e1, e2, . . . , en ������	 ���������
� �� �	���	� ��


�	���



��

∇ ������$ x ���� Rn ������� ���������� ���
	��� ������

 ��	�

x1e1 + x2e2 + · · ·+ xnen = x '<��(

���
	���� ���
	���� x1, x2, . . . , xn ���	����� ������

(x1, x2, . . . , xn ∈ R)� 6�����	� �� ���
	���� 
		�����
��#��

��

e1 = (a11, a21, . . . , an1), e2 = (a12, a22, . . . , an2), . . . ,

en = (a1n, a2n, . . . , ann), x = (b1, b2, . . . , bn),

��#�� '<��( ���� ����"���⎧⎪⎪⎨
⎪⎪⎩

a11x1 + a12x2 + · · · + a1nxn = b1

a21x1 + a22x2 + · · · + a2nxn = b2

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
an1x1 + an2x2 + · · · + annxn = bn.

'<��(

������ e1, e2, . . . , en ��%���� ���	�
������� ���
	�����$ ����


	� '� � ��	���� ���( �� ���
���� ��
�������
�

Δ =

∣∣∣∣∣∣∣∣
a11 a12 . . . a1n

a21 a22 . . . a2n

. . . . . . . . . . . . . . . . . .
an1 an2 . . . ann

∣∣∣∣∣∣∣∣ 	= 0.

�� ��#����$ �	� '<��( ���
��� ���������� �� ��� ���� ��������

�� ��	�� ��� x1 = α1$ x2 = α2, . . . , xn = αn '��	���� ������(�

�� #���
��� ���	����� �� ���#����	���� '<��(�#�$ ����"��� x

���
	��� ����	������ e1, e2, . . . , en ���
	����� ��%��� 
	�

��������� �� ��� �



��

6��������� ���
	��� V3 ������#�$ �	����� R3 �������

�)	�	�%���� '� � §�($
�i = (1, 0, 0), �j = (0, 1, 0), �k = (0, 0, 1)

���
	��� ���
��� ����� �� ������� ������� ��)���$ �	���

���� ��	���� ��
���	�	 ���	�	�

������� $��� ��6���	�$ �	�

�a = (2, 4,−1), �b = (−1, 3, 4), �c = (1, 2,−3)

����	������ V3 ������� ��)��� �� ��&	�	� �d = (5, 5,−11)

���
	��� 
		�����
��� �� ��)��#��

∇ ������ �� ���
	����� 
		�����
�������� #��������

��
�������
�

Δ =

∣∣∣∣∣∣
2 −1 1
4 3 2
−1 4 −3

∣∣∣∣∣∣ 	= 0,

���
	� �a,�b,�c ���
	���� ������ V3 ������� ��)���� �d ���
	���


		�����
���� ��&	������ 6�����	� �d=x�a+y�b+z�c 
	�	��


		�����
��#� �� ��	� ���� ��"����� ���
���⎧⎪⎨
⎪⎩

2x − y + z = 5

4x + 3y + 2z = 5

−x + 4y − 3z = −11.

������ ����"��� x = 1$ y = −1$ z = 2 �� #����������

�d = �a −�b + 2�c.

�������$ �d ���
	��� 
		�����
��� �	����� ��)��#� ����

(1,−1, 2)� �



��

������� $� � �� ���	�	 E �	���	� ���	�	 ������� n

������	����
� ���	
 �� �	���	� 
��	��	��	 n+1 ������	 ��


�	��� �����	�����	��

∇ ������$ b1, b2, . . . , bn+1 ��%��� E ������� ����������

���
	������ �� '<��(��� ��������$ ���
	���

x1b1 + x2b2 + · · · + xn+1bn+1 = θ

���
	����� x1, x2, . . . , xn+1 ���	����� ������ 6������ 
		��

����
��#�$ ����"��� ��%�� �������� ���
	������ �������

�	��� ���
����$ �	���#�� ���
	������ n ��	���	�� ��
���

��� x1, x2, . . . , xn+1 ���	��� ��	���	��)�� ���� �������	�

��� ���
���� 
�$ �	�	�� ��	����� '� � #����� �����2($ ����

������	���� x1 =α1$ x2 = α2, . . . , xn+1 =αn+1 ��	�� ���� �

�� ���
	
 �
	��
� 
��&��
����� ��������� ��%�� ���

����#� �����	�� ��)���� �������	 ��	���	��� ������� ���

)��� ����� �� �����)"����� �� ����$ ������$ �	�	�� <��

��	������� ���	�������	��$ ����� �� ������)"����� ��)��

�#� #������ ���
	��� ��	���	���

��%��� E ������� ��)��#� #������ ���
	��� ��	���	�

��� ��	���� E �	���	� ��
���	���� �� �"���#���� dim E ���

��	�	�� ',=>9?8@>A8- %�������� ��#���� ���)	�������(�

<�� ��	������� ���	�������	��$ �	� �	���	� ��
���	


���� #��!���� ������)"��	� �	�	�� �� �	���	� ���	���

������	����� �������� ����	�����	 �	���	�

������� ���)	������� �����)"�������� ���	�������	��$

�	�

�� dim Rn = n,

�� dim V2 = 2,



��

�� dim V3 = 3.

��	���
�� $�"� ����

����$ �	� ��	�� ����� 
������


�� ��
����� ��%��� ������ 	� ���)	����������$  	�	

X1 =

[
1 0
0 0

]
, X2 =

[
0 1
0 0

]
, X3 =

[
0 0
1 0

]
, X4 =

[
0 0
0 1

]
���� �� ������� �������� ��)����

�� ���������� ��
������� n ��� �������� E ������#�

�����	�� n ��%���� ���	�
������� ���
	��$ ��#�� E �����

��� �������� ��
���	���	�
	 ��	����� ���������$ �������

�	 ���)	���������� �	����� [a, b] �	��
���)� �����)"����

�����
 %�������� ��%��� ������ '���������� n ��� ��������

1, x, x2, . . . , xn %�������� ���
��� ��%���� ���	�
��������(�

#����#�	�$ �	� ���	���� {θ} ������� ���)	������� ���

"������ ��� �� 0$ ���� dim{θ} = 0�

������$ dim E = n �� e1, e2, . . . , en �� ������� ��)����� E

������� �	���

x = α1e1 + α2e2 + · · ·+ αnen

������
� #��������	� Rn ������� x′ = (α1, α2, . . . , αn) ����


	��� � ����$ �	� ����� #��������	�� ������������ �� ��

����6����� ��%�� 	&��������$ ���� ���������� n����)	�������

��� ��%��� ������ Rn ������� �)	�	�%����

E ∼= Rn.

���� ���	 Rn ������ #��!���� ����� ��	� �	�	�� ���
���

��� �)��� ������������ n����)	��������� ��%��� �������



��

��	���
�� $�#� ����

����$ �	� �� dim E = n$ ��#��

���������� n ��%���� ���	�
������� ���
	�� ����� �� �����

��� ��)����

#����#�	�$ �	� �� �����7�#	#� �"��#���� &��	�� #��!�

���� ����"	� ������� ��)���� �����)"������*

n
��
���	���	�
	 ���	�	 �	���	� ���	�	 ������� �� �	


���	� ���	��� ������	����� n �������� ��������� �	�


������

������$ x1, x2, . . . , xk ��%��� E ������� ���������� ����

���
����� �� ������
���� ����� #���!�	 ��%�� α1x1 + α2x2 +

· · ·+ αkxk 
	���������� L(x1, x2, . . . , xk) ��������� ��	����

x1, x2, . . . , xk ���
	����� ���	�	 ����	� � ����$ �	�

L(x1, x2, . . . , xk) �������� ���� ��%��� E ������� ��%���

���������� ����� ��	�$ E ������� ���������� ���������$ �	�

����� #������ x1, x2, . . . , xk ������
���$ #������ ������� ���

����� ��%�� 
	���������� �������$ L(x1, x2, . . . , xk) ���	�	

����	 ��	� ���	�	 E �	���	� �	
	�����	 ����	����� ����


�	� ��	���� x1, x2, . . . , xk �����
����� �� ���������� ���)	�

������ x1, x2, . . . , xk ���
���� ��%���� ���	�
������ ���
	�

��� ����������� ��� ��� 
	����

��
��
�
 $�$� ��&	�	� x1 =(2,−1, 1, 3)$ x2 =(−1, 2, 1, 0)$

x3 =(0, 3, 3, 3) ���
	����� ��%��� L(x1, x2, x3) ������ ���)	�

������ �� �������� ��)����

∇ ����� ��	� x1, x2, x3 ���
	����� 
		�����
��������

#��������

A =

⎡
⎣ 2 −1 1 3
−1 2 1 0
0 3 3 3

⎤
⎦



��

��
����� �#���	� �	������$ �	� �� ��
����� ����� ����


	��� ��

∣∣∣∣ 2 −1
−1 2

∣∣∣∣ ���� A ��
����� ��)����� ���	��� ����

��� ���	�������	��$ �	� L(x1, x2, x3) ���������� ���)	���

���� ���� ���� 
	�� �� x1, x2 ����	������ ��� ������� ���

)���� �

 � ��������
�����
 ��&
�
� ��
����� �������

e1, e2, . . . , en ��)��� ��	���� ������
����	$ ��

(ei, ej) = 0, �	�� i 	= j,

�� ��	���� ����
���	�����	$ ��

(ei, ej) =

{
0, �� i 	= j,

1, �� i = j.

�������$ 	��	�	��������� ��)��� ���� ����� 	��	�	�

������ ��)���$ �	���� ����� ���
	��� �	��� ����� 
	����

� ����$ �	� �� e1, e2, . . . , en ���� ��
����� ������� ��������

��� 	��	�	������ ��)���$ ��#��

1

|e1| e1,
1

|e2| e2, . . . ,
1

|en| en

������ �� ������� 	��	�	��������� ��)����

�

������$ �	� ��������� ���������)	�������� ��
�����

������#� �����	�� 	��	�	������ '�� ��#�������$ 	��	�

�	���������( ��)���� ���������$ e1 = (1, 0, . . . , 0)$ e2 =

(0, 1, . . . , 0), . . . , en = (0, 0, . . . , 1) ���� Rn ������� ��������

	��	�	��������� ��)����



��

������� $�'� �� e1, e2, . . . , en ��	� ����	��� �	���	�

����
���	�����	 ���	�	 ��

x = (x1, x2, . . . , xn)e, y=(y1, y2, . . . , yn)e,

���	
 x �� y ��������	� ��������	 
������	 ����	������

������	�

(x, y) =

n∑
i=1

xiyi = x1y1 + x2y2 + · · ·+ xnyn. '<�2(

����

 $�(� ����
���	�����	 ���	�	� ����������	

|x| =

√√√√ n∑
i=1

x2
i =
√

x2
1 + x2

2 + · · ·+ x2
n ,

���� ϕ ����� ���
�����
 x �� y ��������� ���	� ����


	������ ������	�

ϕ = arccos

n∑
i=1

xiyi√
n∑

i=1

x2
i

√
n∑

i=1

y2
i

.

������� $�)� �� e1, e2, . . . , en ��	� ����	��� E �	���	�

����
���	�����	 ���	�	� ���	
 ∀x ∈ E

x = (x, e1)e1 + (x, e2)e2 + · · · + (x, en)en. '<��(

∇ ������$

x = x1e1 + x2e2 + · · · + xnen '<�<(



�	

�� i ∈ {1, 2, . . . , n}� ���������	� '<�<( 
	�	��� 	���� � ���

�
�������� ei ���
	�)�*

(x, ei) = x1(e1, ei) + x2(e2, ei) + · · · + xn(en, ei). '<�4(

������ e1, e2, . . . , en 	��	�	��������� ��)����$ ���
	�

'<�4(��� ����� #���
����$ ����� ������$ ����� 
	��� ��

(x, ei) = xi(ei, ei) = xi.

�������$ ∀i ∈ {1, 2, . . . , n} xi = (x, ei)$ ��� ��

����� '<��(


	�	���� �

§'� ���
 ��&
�
��� ����� ��&
�&� 
����	��

������$ ��%�� E ������#� %����������� 	�� ��)���*

e = {e1, e2, . . . , en} �� e′ = {e′1e′2, . . . , e′n}.
���#��	� e′ ��)���� ������
��� e ��)���� �� �����*

e′j =

n∑
i=1

aijei (j = 1, 2, . . . , n) '4��(

��$ ��#���� �� ��$⎧⎪⎪⎨
⎪⎪⎩

e′1 = a11e1 + a21e2 + · · · + an1en

e′2 = a12e1 + a22e2 + · · · + an2en

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
e′n = a1ne1 + a2ne2 + · · ·+ annen.

'4��(

aij 
	�%�����
�������� #������� #�����

A =

⎡
⎢⎢⎣

a11 a12 . . . a1n

a21 a22 . . . a2n

. . . . . . . . . . . . . . . . . .
an1 an2 . . . ann

⎤
⎥⎥⎦ '4��(



��

��
����� ��	���� e1, e2, . . . , en ���	�	��
 e′1, e
′
2, . . . , e

′
n ���	


��� �������	� ����	���

������� '��� �� x1, x2, . . . , xn �� x′
1, x

′
2, . . . , x

′
n ��	�

x ∈ E ������	� �����	
����	 �������	��� e1, e2, . . . , en ��

e′1, e
′
2, . . . , e

′
n ���	����	� ���	
⎧⎪⎪⎨
⎪⎪⎩

x1 = a11x
′
1 + a12x

′
2 + · · ·+ a1nx′

n

x2 = a21x
′
1 + a22x

′
2 + · · ·+ a2nx′

n

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
xn = an1x

′
1 + an2x

′
2 + · · ·+ annx

′
n

'4�2(

�
� ����	���	 ���	��

X = A X′, '4��(

����� A ��	� e1, e2, . . . , en ���	�	��
 e′1, e
′
2, . . . , e

′
n ���	���

�������	� (7.3) ����	���

X =

⎡
⎢⎢⎣

x1

x2

· · ·
xn

⎤
⎥⎥⎦ =
[
x1 x2 . . . xn

]�
��

X′ =

⎡
⎢⎢⎣

x′
1

x′
2

· · ·
x′

n

⎤
⎥⎥⎦ =
[
x′

1 x′
2 . . . x′

n

]�
.

∇ '4��(��� ��������������� #����!��� ������	�

x =

n∑
j=1

x′
je

′
j =

n∑
j=1

x′
j

n∑
i=1

aijei =

=
n∑

j=1

n∑
i=1

x′
jaijei =

n∑
i=1

( n∑
j=1

x′
jaij

)
ei,



�


����

x =

n∑
i=1

( n∑
j=1

aijx
′
j

)
ei. '4�<(

��	�� � ���$

x =

n∑
i=1

xiei. '4�4(

�� #��������� ��������� '4�<( �� '4�4( 
	�	���� ��

���������������� ��#��� ��������	���$ ����"���$ �	�

xi =

n∑
j=1

aijx
′
j (i = 1, 2, . . . , n),

��� ��

����� ��	������ �

������� '��� �� A ��	� e ���	�	��
 e′ ���	��� ������


�	� ����	��� ���	
 A ����	�	� �����
����	 A−1 ����	��

	�
��� e′ ���	�	��
 e ���	��� �������	� ����	���

∇ ���� ��	����� �"��#����#� X = A X′� �� B ���� e′

��)������ e ��)��)� ��������� ��
����$ ��#�� ����	������$

X′ = B X� ������ ����"���

X = AX′ = A(B X) = (A B) X .

������

X = (AB) X


	�	�� �������� ���������� X ���
���
����������$ ���
	�

AB = I$ ����� I ������	���� ��
������ ����	������ ���
�


������ 
	�	�� B A = I� �������$ A B = BA = I ��

��#�������$ B = A−1� �



��

����

 '� � ���	 ���	�	��
 ����� ���	��� �������	�

����	�� ���������������	��

����

 '�"� �� A ��	� e ���	�	��
 e′ ���	��� �������	�

����	��� ���	


X′ = A−1 X . '4��(

��
��
�
 '�#� ��	����� a ���
	��� 
		�����
��� e′1$
e′2$ e′3 ��)��#�*

a = (6;−1; 3)e′i. '4�1(

��&	�	� �� ���
	��� 
		�����
��� e1, e2, e3 ��)��#�$ ��

e1, e2, e3 ��)������ e′1, e
′
2, e

′
3 ��)��)� ��������� ��
�����

A =

⎡
⎣1 2 −1

1 −1 1
2 0 1

⎤
⎦ .

∇ '4�2(���� %	������ ���� ���⎧⎪⎨
⎪⎩

x = x′ + 2y′ − z′

y = x′ − y′ + z′

z = 2x′ + z′.

������ x′ = 6$ y′ = −1$ z′ = 3$ ���
	�⎧⎪⎨
⎪⎩

x = 1

y = 10

z = 15.

�������$ e1, e2, e3 ��)��#� a ���
	��� 
		�����
����

a = (1; 10; 15)ei
. �



��

��
��
�
 '�$� ���� ��������� &��	���#� ��&	�	� a =

(1; 10; 15)ei
���
	��� 
		�����
��� e′i ��)��#��

∇ '4��( %	������ ���� ��� ���� ��&	�	� A ��
�����

#���������� A−1 ��
����� ������

det A =

∣∣∣∣∣∣
1 2 −1
1 −1 1
2 0 1

∣∣∣∣∣∣ = −1,

 	�	 ��
��#������� ��
�����

A∗ =

⎡
⎣−1 −2 1

1 3 −2
2 4 −3

⎤
⎦ ,

���
	�

A−1 =
1

det A
A∗ =

⎡
⎣ 1 2 −1
−1 −3 2
−2 −4 3

⎤
⎦ .

������ ⎧⎪⎨
⎪⎩

x′ = x + 2y − z

y′ = −x − 3y + 2z

z′ = −2x − 4y + 3z.

������ x = 1$ y = 10$ z = 15$ ���
	� x′ = 6$ y′ = −1$ z′ = 3

'#������� '4�1(��(� �
��"����� #�������� ��������������� �����

��	� �� ��

�� &������%#� ��	��������� #����� '� � ��	���� ��2(�

������� '�'� �� Δ = 0� ���	
 �� ������	
�
�	� ���	


��
��	 (������	) ���	��� �����	�����	��



��

∇ ����#��� �������"����	� ������$ �� ��
�������
��

e′1 =

⎡
⎢⎢⎣

a11

a21

· · ·
an1

⎤
⎥⎥⎦ , e′2 =

⎡
⎢⎢⎣

a12

a22

· · ·
an2

⎤
⎥⎥⎦ , . . . , e′n =

⎡
⎢⎢⎣

a1n

a2n

· · ·
ann

⎤
⎥⎥⎦

���
��� ��%���� ���	�
��������� ��#�� e′1, e
′
2, . . . , e

′
n ���
	�

���� ������ Rn ������� ��)���� ������

e′j = a1j

⎡
⎢⎢⎣

1
0
· · ·
0

⎤
⎥⎥⎦+ a2j

⎡
⎢⎢⎣

0
1
· · ·
0

⎤
⎥⎥⎦+ · · ·+ anj

⎡
⎢⎢⎣

0
0
· · ·
1

⎤
⎥⎥⎦ (j = 1, 2, . . . , n),

���
	� A = [aij ]n×n ��
���� ����

e1 =

⎡
⎢⎢⎣

1
0
· · ·
0

⎤
⎥⎥⎦ , e2 =

⎡
⎢⎢⎣

0
1
· · ·
0

⎤
⎥⎥⎦ , . . . , en =

⎡
⎢⎢⎣

0
0
· · ·
1

⎤
⎥⎥⎦

��)������ e′1, e
′
2, . . . , e

′
n ��)��)� ��������� ��
���� ��$ ��#��

������$ �����������������$ ���� Δ = det A 	= 0� ��"�����

�����"����	�� ��

����� ��	������ �



��

§(� ���
	 ��
����� 
���������� ���
	���	��


�� ������
	���	��
 �
������
� &�
��


�����!����
� ����%����

������$ �	������� ��%�� �������� ���
	������ ����

����	���� ���
���⎧⎪⎪⎨
⎪⎪⎩

a11x1 + a12x2 + · · ·+ a1nxn = 0
a21x1 + a22x2 + · · ·+ a2nxn = 0
. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
am1x1 + am2x2 + · · ·+ amnxn = 0

'���(

�� A �� ���
���� ��
������ �	�	�� �
�� �"���#��� '� � §�($
�������	���� '���( ���
���� ��	�� ���� E �������� ����	�

������ Rn ������� ����������� �� rank A = n$ ��#�� ����

����	��� '���( ���
���� ���� � 	�	� ���	���� ��	�� ��� '� �

#����� ������( �� ��#������� dim E = 0� #��!���� ���

���

���$ �	� )	����� '� � ��	���� ������ �� �������� ���(

dim E = n − r, '���(

����� r = rank A� E ������� ��)��� ��	���� �������	����

���
���� ��	�� ���� ��
����
���	 �	������ �� v1, v2, . . . , vk

��	�� ���� %�������
��� ���
����$ ��#�� c1, c2, . . . , ck ������

����� ���������� ��� ���� ���#����	��������

x = c1v1 + c2v2 + · · · + ckvk (k = n − r) '���(

���	�� ����� ���!���� '���( ���
���� 
	�
��
�� '
��!	( ��	�

�� ���� ����� ��	�$ '���( ���
���� �	���� ��	�� ��� ���"���

'���(���� c1, c2, . . . , ck ���������� #��������� #��6����� ����

#��� ����#� ���	���$ �	� '���( ���� '���( ���
���� �����	

���
���
	� 6��	�������	� �"��#���� #����� ��	����� �� ���



��

������� (�� *���
	���	��
 �
����
� &�
��
 ���+

��!��
 ����%���
� ����!��,� ���	� �������� ��
����


���� ����������
	 �	����	� �����	 ���
���
	 ���������
�

��
����
���	 �	����	� ���
���
�� ���	� ����	
��	���

��
��
�
 (��� ��&	�	� �������	����

⎧⎪⎨
⎪⎩

2x1 + 3x2 − x3 − 4x4 = 0

5x1 + 2x2 − 3x3 − 5x4 = 0

−7x1 − 5x2 + 4x3 + 9x4 = 0

'��2(

���
���� ��	�� ���� %�������
��� ���
����

∇ ���
���� ��6������$ �	� ���
���� ��
����� ����� ����


	���� ���
	�	� �� ���
���#� � 	�	� &������ 	�� ���
	�

���� '�� ���
	������� 
	�%�����
��� ������� ��
����� ��)��

��� ���	��( �� ��������	� ��"����� ���
��� #������ �� ��*

{
2x1 + 3x2 = x3 + 4x4

5x1 + 2x2 = 3x3 + 5x4.

�������	� x3 �� x4 ������%�� ���	���� x3 = α1 �� x4 =

α2 ��� ���� ���#����	���� �� ��	� ���� ��"����� ���
���


������� %	��������*

x1 =
Δ1

Δ
=

−7α1 − 7α2

−11
=

7

11
α1 +

7

11
α2,

x2 =
Δ2

Δ
=

α1 − 10α2

−11
= − 1

11
α1 +

10

11
α2.



��

�������$ ���
���� ��	�� ���� �������� ����⎧⎪⎪⎪⎨
⎪⎪⎪⎩

x1 = 7
11

α1 + 7
11

α2

x2 = − 1
11

α1 + 10
11

α2

x3 = α1

x4 = α2.

(α1, α2 ∈ R)

�� �������� #��!���� 6�����	� ������� #������ �� ��⎧⎪⎪⎪⎨
⎪⎪⎪⎩

x1 = 7c1 + 7c2

x2 = −c1 + 10c2

x3 = 11c1

x4 = c2

(c1, c2 ∈ R) '���(

'�� c1 = 1
11

α1$ c2 = 1
11

α2(�

#��	��"	� �"��#���

x =

⎡
⎢⎢⎣

x1

x2

x3

x4

⎤
⎥⎥⎦ , v1 =

⎡
⎢⎢⎣

7
−1
11
0

⎤
⎥⎥⎦ , v2 =

⎡
⎢⎢⎣

7
10
0
11

⎤
⎥⎥⎦

�� 6�����	� '���( 
	�	�� ��
������ %	����

x = c1v1 + c2v2. '��<(

'��<( ���� �������	���� '��2( ���
���� )	���� ��	�� ���$

 	�	

v1 = (7;−1; 11; 0)�, v2 = (7; 10; 0; 11)� '��4(

�� ���
���� ��	�� ���� %�������
��� ���
����� �



��

� �� ����� ��	� ��%�� �������� ���
	������ �������

����	���� ���
���⎧⎪⎪⎨
⎪⎪⎩

a11x1 + a12x2 + · · ·+ a1nxn = b1

a21x1 + a22x2 + · · ·+ a2nxn = b2

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
am1x1 + am2x2 + · · · + amnxn = bm.

'���(

'���( ���
���� ��	���� ����������	���� '���( ���
����

#��������� �������	���� ���
���� 6�����	� '���( ���
��� ��
�

������ �� ��

A X = B . '��1(

������$ A ���� '���( ���
���� ��%���	����� ��
���� ��

rank A = rank A = r� �������$ ������$ X0 ���� '��1( ��
���

���� ���
	����� �������� ��	�� ���� �� '��1( ���
	�����

���	��
����

AX0 = B

��
����� 
	�	���$ ����"��� '��1( ���
	����� 
	�%��� ����


	�����

A(X−X0) = 0.

�� ���
	���� ����	������ �������� ���
	������ �������

�	���� ���
���� ��
����� 6�������$ ���
	� ���� )	���� ��	�

�� ��� %�������
��� ���
���� v1, v2, . . . , vk ��	�� ���� ��%��

�� 
	��������� 
	���$ ����

x − x0 = c1v1 + c2v2 + · · ·+ ckvk. '����(

������

x = x0 + c1v1 + c2v2 + · · ·+ ckvk.

��"����� #����� 6��	�������	� ��	����� �� ���



�	

������� (� *������
	���	��
 �
����
� &�
��


�����!��
� ����%���
� ����!��,� ���	� �������� ��



�������� �������������
	 �	����	� �����	 ���
���
	 �	�	

�����	�� ��� � ���
���
	�� �� �� �	����	� �������	�	 ���


�������
	 �	����	� �����	 ���
���
	� ���	� ���	��

��
��
�
 (�"� 6�����	�⎧⎪⎨
⎪⎩

2x1 + 3x2 − x3 − 4x4 = 2

5x1 + 2x2 − 3x3 − 5x4 = 5

−7x1 − 5x2 + 4x3 + 9x4 = −7

'����(

���
���� )	���� ��	�� ��� ���� �	������ 
��!	 ��	�� ����

�� �� #��������� �������	���� ���
���� )	���� ��	�� ����

7���� �� ���

∇ '����(��� #��������� �������	���� '��2( ���
���� ��	�

�� ���� %�������
��� ���
��� #������ v1 = (7;−1; 11; 0)� ��

v2 = (7; 10; 0; 11)� ���
	��������� '� � ��4(� ������ #����	��

�������$ �	�

x0 = (1; 0; 0; 0)�

���� '����( ����������	���� ���
���� 
��!	 ��	�� ���� ����


	� '����( ���
���� )	���� ��	�� ��� 6�������� #������ �� ��*

x = x0 + c1v1 + c2v2 =

= (1; 0; 0; 0)� + c1(7;−1; 11; 0)� + c2(7; 10; 0; 11)�.

#����#�	�$ �	� �� 6��� #���������� �"��#��� �	���������$

����"��� '����( ���
���� ��	�� ����� 6���������� �� �� '#��

������ �� '����(��(

x = (7c1 + 7c2 + 1;−c1 + 10c2; 11c1; 11c2)
� (c1, c2 ∈ R). �



��

��������
 �� ��	���
����


���� �&	��� A × B$ B × A$ A2, B3 �� A × B × C$ ��

�( A = {0, 1}, B = {0, 3}, C = {4};
�( A = {−1, 1}, B = {1}, C = {0, 1};
�( A = {1, 2}, B = {1}, C = {2};
�( A = {0}, B = {1}, C = {1, 2}�
���� P3 = {(x, y) ∈ Z × Z | x ≡ y (mod 3)}� ���� �� ���

����� x ��� �� P3 ���������#� ���� y ��� ����$ ��

�( x = −2$ y = 3; �( x = 1$ y = −5; �( x = −5$ y = 1;

�( x = 0$ y = 12; �( x = 15$ y = 125; �( x = −16$

y = 20B

���� ��	����� P3 ���������� '� � �����7�#	 ���( #��������

Km �
�������
	��� 
���#� #������� ��� ����$ ��

�( m = 0; �( m = 1; �( m = 2�

��2� ���	��
����$ �	����� �	������ �������������� �
���

�����
	��� �� ��������� �����������*

�( {(x, y) ∈ R × R | x ≥ y};
�( {(x, y) ∈ R × R | x > y};
�( {(x, y) ∈ R × R | x2 ≤ y2};
�( {(x, y) ∈ R × R | x2 = y2};
�( {(x, y) ∈ R × R | x + y ≤ 0};
�( {(x, y) ∈ R × R | 2x = y};
)( {(x, y) ∈ Z × Z | x ��	%� y�)�};
�( {(x, y) ∈ Z × Z | x2 ��	%� y�)�};
�( {(x, y) ∈ Z × Z | x2 ��	%� y2�)�}.



�


���� #��!���� �� ��� N ��������)� ������)"��	� �������

�� +̇ 	&������ 
	�	���*

�( x+̇y = x + y; �( x+̇y = xy; �( x+̇y = 2x + 3y;

�( x+̇y = xy; �( x+̇y = x − y; �( x+̇y = x : y;

)( x+̇y = 3
√

x + 3
√

y?

��<� ��	 ����� �����7�#	 ��� Z ��������� #��� ����#� ' �(

�� �( &���
��#� ���� ���� ������	��� ���� ��� ��� Z\{0}
��������(�

��4� ��	 ����� �����7�#	 ��� Q ��������� #��� ����#� ' �(

�� �( &���
��#� ���� ���� Q \ {0} ��������(�

���� ��	 ����� �����7�#	 ��� R ��������� #��� ����#� ' �(

�� �( &���
��#� ���� ���� R \ {0} ��������(�

��1� #��!���� �� ��� ��	��
���� ���
	��� '��������

�	��
�����( V3 ��������)� ������)"��	� �������� +̇ 	&��

����� 
	�	���*

�( �a+̇�b = �a · �b$ ����� �a · �b ���� ���
	����� �
�������

��������;

�( �a+̇�b = 2�a + 3�b$ ����� + ���� ���
	����� #�
�����

	&������;

�( �a+̇�b = �a − �b$ ����� − ���� ���
	����� ���	
�����

	&������;

�( �a+̇�b = �a×�b$ ����� �a×�b ���� ���
	����� ���
	����

��������B

���	��
����$ �� �	������� �������� 	&����������� �	�����


	��
������ �� �	���� ��	���������



��

����� #��!���� �� ��� �	����� [a, b] �	��
���)� �����)"��

��� �����
 %�������� C[a, b] ��������)� ������)"��	� ���

������ +̇ 	&������ 
	�	���* ∀x ∈ [a, b]$ ∀f, ϕ ∈ C[a, b]

�( (f+̇ϕ)(x) = f(x) + ϕ(x);

�( (f+̇ϕ)(x) = f(x) − ϕ(x);

�( (f+̇ϕ)(x) = f [ϕ(x)]B

����� #��!���� �� ��� n���� ����� 'n ∈ N( 
�����
��

��
����� E(n) ��������)� ������)"��	� �������� +̇ 	&��

����� 
	�	���*

�( A+̇B = A + B$ ����� A + B ���� A �� B ��
�������

7���;

�( A+̇B = A · B$ ����� A · B ���� A �� B ��
�������

��������;

�( A+̇B = [cij]$ ����� cij = aij · bij (i, j = 1, 2, . . . , n)B

����� ���������
��� E = {a, b, c} ��������)� �����)"��

����� #�
����� + 	&������ #������ � ����� ��#�������$

����� 	&������� #����� �	������� #��������� �
���	��� ��

���
�� ����
����)� '���������$ a + b = c(*

+ a b c
a b c a
b c a b
c a b c

���	��
����$ �( ���� �� ��� + 	&������ 
	��
������;

�( �����	�� �� ��� E ��������#� ���	���� ������
�; �( ����

�� ��� E ��������� �	��� ������
� �	&����&��� ������
�;

�( ���� �� ��� 	&������ ��	��������B

����� ���	��
����$ #������ �������������� ����������

	&��������� ������ �	���� ����	������ 7��%� '
	��
����

�� 7��%�(*



��

�( Z �������� #�
����� 	&������� ������;

�( 
��
 ��� ��� Z′ �������� #�
����� 	&������� ������;

�( ��� ��� ��� Z(2) �������� #�
����� 	&������� ���

����;

�( �	������ ��
������� n ��� ��� 7���� ���� ���

� ��� Z(n) �������� #�
����� 	&������� ������;

�( Z �������� ����������� 	&������� ������;

�( �������	%�� ���� ��� ��� Z+ �������� #�
����� 	&��

������ ������;

)( Q �������� #�
����� 	&������� ������;

�( Q �������� ����������� 	&������� ������;

�( Q \ {0} �������� ����������� 	&������� ������;


( ������� ����	����� ��� ��� Q+ �������� �������

����� 	&������� ������;

�( n���� ����� (n ∈ N) 
�����
�� ��
����� E(n) ���

������ #�
����� 	&������� ������;

�( E(n) �������� ����������� 	&������� ������;

�( n���� ����� (n ∈ N) ����	����� ��
����� D(n) ���

������ #�
����� 	&������� ������;

	( n���� ����� ��������������� 
�����
�� ��
�����

E∗(n) �������� ����������� 	&������� ������;

&(���� ������� ������������ Pn �������� '���	����

������������ 6������($ �	�����  ���� � n�� �� �"���
��

�� 'n �	������ ��
������� ��� ���( #�
����� 	&�������

������;

5( �	������ n  ���� �� ������������ P ∗
n �������� #�
�

����� 	&������� ������;



��

�( ���� ������� ����� ������������ P �������� #�
���

��� 	&������� ������;

�( �	����� [a, b] �	��
���)�� �����
 %�������� C[a, b]

�������� #�
����� 	&������� ������;


( ��%�� �������� ���
	������ �������	���� ���
����

��	�� ���� �������� #�
����� 	&������� ������B

���2� ���� �����7�#	� &��	���#� ���	��
����$ ���� ��

��� #�
����� ' �( #��� ����#� �����������( 	&������� ������

G1 7��%� G2 7��%�� ���7��%�$ ��

�( G1 = Z(2), G2 = Z(n) (n ≥ 2);

�( G1 = Q+, G2 = Q \ {0};
�( G1 = Z(n), n ≥ 2, G2 = Q;

�( G1 = Pn, G2 = P.

����� ���	��
����$ #������ �������������� �	����� ��	�

�� '������ ��� ����( �� �	����� ���� ��� ����� #�
����� ��

����������� 6���������� 	&��������� ������ '����� �����7��

#	� �"��#����#�(*

�( Z; �( Z(2); �( Z(n) (n ≥ 3); �( Q; �( R;

�( C = {a + bi | a, b ∈ R}; )( CZ = {a + bi | a, b ∈ Z};
�( CQ = {a + bi | a, b ∈ Q}; �( E(n);


( C[−a, a] (a > 0); �( P ;

�( PZ 3 ���� ������� ������������ ��������$ �	�����

����� 
	�%�����
� ������;

�( Z√
5 = {a + b

√
5 | a, b ∈ Z};

	( Q√
5 = {a + b

√
5 | a, b ∈ Q}B

���<� ���	��
����$ E = {a, b, c} �������� ���� �� ���

���� #������ � ������� �����)"����� + �� · 	&���������

������ �� �������� &��� �� #��� ����#� ����� ���� �� �����



��

���	���� �� ������	���� ������
���*

�( + a b c
a a b c
b b c a
c c a b

· a b c
a a a a
b a b c
c a c b

�( + a b c
a b c a
b c a b
c a b c

· a b c
a b a c
b a b c
c c c c

�( + a b c
a c a b
b a b c
c b c a

· a b c
a a b c
b b b b
c c b a

���4� #������ ������ Fq ���#� + �� · 	&��������� �������

)"����� � ������*

�( q = 3, F3 = {0, 1, 2}
+ 0 1 2
0
1
2

· 0 1 2
0
1
2

�( q = 5, F5 = {0, 1, 2, 3, 4}
+ 0 1 2 3 4
0
1
2
3
4

· 0 1 2 3 4
0
1
2
3
4



��

����� ��	 ����� ������ F2 ���#� ��%�� �������� ���
	�

������ ���
���*

�(

{
x + y = 1
x = 0

; �(

⎧⎨
⎩

x + y + z = 1
x + z = 0

y + z = 1
;

�(

⎧⎨
⎩

x + y = 0
x + z = 1

y + z = 0
; �(

⎧⎨
⎩

x1 + x2 + x3 = 0
x2 + x4 = 1

x1 + x3 = 0
;

�(

⎧⎨
⎩

x1 + x3 + x4 = 1
x2 + x4 = 0

x1 + x2 = 1
; �(

{
x1 + x2 + x3 = 0
x1 + x3 = 1

.

���1� ���	�
�����$ ����	� �	������� �������������� �	�

���� ���� ��%��� ������ '#�
����� �� ������� ��� �)� ����

�������� 	&�������� 6�����������(*

�( R4 ������� (x1, x2, 0, 0) �� �� ������
�� ��������;

�( R4 ������� (x1, x2, 3, 3) �� �� ������
�� ��������;

�( Z3 = {(x1, x2, x3) | x1, x2, x3 ∈ Z};
�( C = {a + bi | a, b ∈ R};
�( �	������ n  ���� �� ������������ P ∗

n ��������;

�( ������������ Pn ��������$ �	�����  ���� � n�� ��

�"���
���;

)( [a, b] �	��
���)� �����
 %�������� C[a, b] ��������;

�( m × n ���)	������� ��
����� E(m, n) ��������;

�( ��	��
���� ���
	��� V3 ��������;


( 
����� �������	���� ��������;

�( ���#��� �������	���� ��������;

�( [a, b] ��������)� ��
������ %�������� ���������

����� #���!������� �� ��� ��%��� ������ #�����	���



��

�( ���� ���
	�������$ �( 	�� ���
	�������B

����� ������$ E ��%��� ������� �� x ∈ E� ���� �� ���

E \ {x} ����������� E ������� ��%��� ���������B

����� ������$ E ��%��� ������� �� F �� ������� �����

���	 ������������� #��!���� �� ��� E \ F ��	� E �������

��%��� ���������B �������� &��� �� #��� ����#� �	�������

#��������� ���������

����� ����

����$ �	� ��%��� E ������� ���������� x ���

�
	�������� x + x = 2x�

���2� ����

����$ �	� ��%��� E ������� �����)"�����#�

�	������� ��� ����	����� '� � '���(( &������$ ������ �� ���

	� � ����	���� #�!���� #������	� ���� ����	���* ∀x, y ∈ E$

0x = 0y�

����� ������� ������� ��� ��� R+ ��������)� #��	���

"	� +̇ �� ◦ 	&�������� #�����������* ∀x, y ∈ R+$ ∀α ∈ R$

x+̇y = xy$ α ◦ x = xα� ����

����$ �	� �� 	&��������� ���

���� R+ �������� ����� ��%�� ��������

���<� Rn ������� �������
	�%�����
����� ���
	��� Rn
+ =

{(x1, x2, . . . , xn) | x1, x2, . . . , xn ∈ R+} �����������#� #��	���

"	� +̇ �� ◦ 	&�������� #�����������*

∀x=(x1, x2, . . . , xn)∈Rn
+, ∀y=(y1, y2, . . . , yn)∈Rn

+, ∀α∈R

x+̇y = (x1y1, x2y2, . . . , xnyn), α ◦ x = (xα
1 , xα

2 , . . . , xα
n).

���� �� ��� Rn
+ �������� ��%��� ������B

���4� �&	��� ��
����� Rn ������� x �� y ���
	����� ���

��!� �� 
�� � ��� #	���$ ��

�( n = 3, x = (0, 4, 3), y = (2, 0, 0);

�( n = 3, x = (1,−1, 1), y = (2, 0,−2);



��

�( n = 4, x = (1,−1, 2,
√

3), y = (0, 1,−2, 2);

�( n = 4, x = (3,−2, 1, 4), y = (−4, 0, 0, 3).

����� ������$ x, y, z ��
����� ������� ���
	�����$ x+y+

z = θ$ |x| = 3$ |y| = 4$ |z| = 5� �&	��� (x, y) + (x, z) + (y, z)�

���1� 6������ ���
�� ���� �
	�	�� |x + y| ≤ |x| + |y|

		�����
��#� (x, y ∈ Rn)�

����� #��!���� �� ��� ��	��
���� ���
	��� V3 ������#�

	�� ������	���� ���
	��� �
������� �������� #��	��"	�


	�	��� 'ϕ ���� 
�� � �a �� �b ���
	���� #	���(*

�( (�a,�b) = |�a| · |�b| cos 2ϕ; �( (�a,�b) = 2|�a| · |�b| cos ϕ;

�( (�a,�b) = |�a| · |�b| sinϕ; �( (�a,�b) = |�a| · |�b|;
�( (�a,�b) = |�a| + |�b|; �( (�a,�b) = |�a|2 · |�b|2 cos ϕ;

)( (�a,�b) = |�a| · |�b| cos2 ϕ; �( (�a,�b) = |�a| − |�b|B
����� #�!���� �� ��� R2 ������#� x = (x1, x2) �� y =

(y1, y2) ���
	����� �
������� �������� #��	��"	� 
	�	�

���*

�( (x, y) = x1y1 + 2x2y2; �( (x, y) = x1y1 + x1y2 + x2y2;

�( (x, y) = x1y1 − x2y2;

�( (x, y) = x1y1 + x1y2 + x2y1 + 2x2y2B

����� �&	��� 
�� � �����
 %�������� ��
����� C[−a, a]

������� x = 2t2 − 3t4 �� y = 5t − t7 ���
	���� #	���

'�
������� �������� ������)"����� 
	�	��� (x, y) =∫ a

−a
x(t)y(t) dt(�

����� #��!���� �� ��� ��%�� Rn
+ ������#� '� � �����7�#	

���<( �
������� �������� (x, y) #��	��"	� 
	�	���* ∀x =

(x1, x2, . . . , xn) ∈ Rn
+$ ∀y = (y1, y2, . . . , yn) ∈ Rn

+$

(x, y) = ln x1 · ln y1 + ln x2 · ln y2 + · · ·+ ln xn · ln yn?



�	

���2� #��!���� �� ��� R2 ������#� ρ(x, y) ��
��
� #��	�

��"	� 
	�	���* ∀x = (x1, x2) ∈ R2$ ∀y = (y1, y2) ∈ R2$

�( ρ(x, y) = |x1 − y1| + |x2 − y2|;
�( ρ(x, y) = max{|x1 − y1|, |x2 − y2|}B
����� ������$ M ���������� ���������� ��������� ��

ρ(x, y) =

{
1, �� x 	= y,

0, �� x = y.

M ���� �� ��� ��
��
��� ������B

���<� #��!���� �� ��� C[a, b] ��%�� ������#� ��
��
� #��

�	��"	� 
	�	���* ∀f, ϕ ∈ C[a, b]$

ρ(f, ϕ) = max
x∈[a,b]

|f(x) − ϕ(x)|?

���4� ����

����$ �	� 	�� �a ���b ���
	�� ��%���� ���	�


�������� ��#�� �� � 	�	� ��#��$ �	�� �� 	�� ���
	�� 
	�

�����������

����� ����

����$ �	� ���� �a,�b,�c ���
	�� ��%���� ���	�


�������� ��#�� �� � 	�	� ��#��$ �	�� �� ���� ���
	�� 
	�

�&����������

���1� ����

����$ �	� V3 ������� ���������� 	� � �a$ �b$

�c$ �d ���
	�� ��%���� ���	
���������

��2�� ����

����$ �	� �� �a �� �b ���� V2 ������� ������

����� 	�� ���
	��������� ���
	��$ ��#�� V2 ������� ���

�������� �c ���
	�� ����	������ �a �� �b ���
	����� ��%��


	��������� �� ����� ����	����� �����������

��2�� ����

����$ �	� ���������� ���� ���
	�&��������

���
	�� ����	������ V3 ������� ��)����



��

��2�� �&	��� 2a1 + 3a2 − 4a3$ �� a1 = (8, 1, 0, 3)$ a2 =

(1, 2,−2, 3)$ a3 = (1, 0,−1, 0)�

��2�� ���� �� ��� x = (−1, 4, 15, 17) ���
	��

a1 = (−1, 2, 3, 5), a2 = (−3, 4, 1, 3), a3 = (−2, 3, 3, 4)

���
	����� ��%��� 
	��������� 
	��B �&	��� �� 
	���������

��22� �&	��� x ∈ R4 ���
	�� ���
	�������

�( a1 + 2a2 + 3a3 − 2x = θ;

�( 2(a1 + x) + 3(a2 − x) = 5(a3 + x),

����� a1 = (1,−1, 2, 0)$ a2 = (2, 3, 1,−1)$ a3 = (−1, 2, 1, 4)�

��2�� ��%���� ���	�
�������� �� ��� Rn ������� x1, x2,

. . . , xm ���
	����*

�( x1 = (0, 1)$ x2 = (0, 2);

�( x1 = (3, 1)$ x2 = (−1, 4);

�( x1 = (1,−2)$ x2 = (2,−4);

�( x1 = (−3, 2)$ x2 = (−2, 3);

�( x1 = (1, 2, 3)$ x2 = (3,−1, 4)$ x3 = (2, 4, 6);

�( x1 = (2, 3, 4)$ x2 = (5,−2, 1)$ x3 = (1, 2, 3);

)( x1 = (2, 1, 3)$ x2 = (4, 2, 5);

�( x1 = (4, 2,−6)$ x2 = (6, 3,−9);

�( x1 = (3, 2,−1,−3,−2)$ x2 = (2,−1, 3, 1,−3)$

x3 = (4, 5,−5,−6, 1)B

��2<� ����

����$ �	� e1 �� e2 ���
	���� ������ R2 �����

��� ��)��� �� �&	��� x ���
	��� 
		�����
��� �� ��)��#�$

��

�( e1 = (1, 2)$ e2 = (2, 3)$ x = (7, 12);

�( e1 = (2, 4)$ e2 = (3, 5)$ x = (3, 7);

�( e1 = (−1, 1)$ e2 = (1, 4)$ x = (3, 7);

�( e1 = (2, 3)$ e2 = (−4, 5)$ x = (22,−22)�



�


��24� �6�����$ �	� �a,�b,�c ���
	���� ������ V3 ������� ���

)��� �� �&	��� �� ��)��#� �d ���
	��� 
		�����
���$ ��

�( �a = (1, 1, 0)$ �b = (1,−1, 1)$ �c = (−1, 1, 1)$ �d = (0, 2, 5);

�( �a = (2, 7, 7)$ �b = (−4, 3, 9)$ �c = (9,−6,−9)$
�d = (28,−1, 5);

�( �a = (1, 3, 2)$ �b = (2,−5, 7)$ �c = (1, 3,−1)$ �d = (4, 1, 8);

�( �a = (2, 1, 0)$ �b = (1, 0, 5)$ �c = (0, 3,−1)$ �d = (5, 16, 10)�

��2�� t &�����
��� �� ���#����	�������� ����	������ R3

������� ��)��� #������ ���
	����* x1 = (t, 1, t)$ x2 =

(0, t,−1)$ x3 = (1, t, 1)B

��21� �&	��� �	����� ���
	��� ���
���� '�� ���
	�����

��%��� ������( ����� ��)���$ #�������� �� ���
���� ���
	�

���������*

�( a1 = (1, 3, 0, 0)$ a2 = (1, 3, 4, 5)$ a3 = (2, 6, 0, 0);

�( a1 = (2, 3, 4, 5)$ a2 = (3, 4, 5, 6)$ a3 = (4, 5, 6, 7)$

a4 = (5, 6, 7, 8);

�( a1 = (1, 1, 1, 1)$ a2 = (1, 2, 3, 4)$ a3 = (2, 4, 6, 8)$

a4 = (3, 6, 9, 12);

�( a1 = (1, 1, 1)$ a2 = (3, 2, 1)$ a3 = (4, 3, 2)$ a4 = (4, 3, 4)$

a5 = (3, 2, 3)�

����� �&	��� a1 = (1, 1,−1,−2)$ a2 = (5, 2,−3, 1)$ a3 =

(4, 1,−2, 3)$ a4 = (3, 4,−1, 2) ���
	��� ���
���� ����� ��)���

�� ���	�� �� ���
���� � �� ���
	���� �� ��)���� ��#��������

����� ����

����$ �	� e1, e2, . . . , en ���
	���� ������ Rn

������� ��)���*

�( e1 =(1, 0, . . . , 0)$ e2 =(0, 1, . . . , 0), . . . , en =(0, 0, . . . , 1);

�( e1 = (1, 1, 1, . . . , 1, 1)$ e2 = (0, 1, 1, . . . , 1, 1),

e3 = (0, 0, 1, . . . , 1, 1), . . . ,



��

en−1 = (0, 0, 0, . . . , 1, 1)$ en = (0, 0, 0, . . . , 0, 1);

����� ����

����$ �	� ��	�� ����� 
�����
�� ��
�����

E(2) ��%�� ������#�

A =

[
a 0
0 0

]
, B =

[
0 b
0 0

]
, C =

[
0 0
c 0

]
, D =

[
0 0
0 d

]
��
������$ ����� a · b · c · d 	= 0$ ��%���� ���	�
���������

����� ����

����$ �	� ��	�� ����� 
�����
�� ��
�����

E(2) ��%��� ������ 	� ���)	�����������

���2� ����

����$ �	� �� ��%��� E ������� x1, x2, . . . , xn

���
	���� ��%���� ���	�
��������$  	�	 x1, x2, . . . , xn+1

���
	���� ��%���� ���	
��������$ ��#�� xn+1 ���
	��

x1, x2, . . . , xn ���
	����� ��%�� 
	��������� ����	�������

����� ����

����$ �	� ���	���� θ ���
	��� ����� 
		��

����
� ��������� ��)��#� ����� 
	����

���<� ���	��
����$ ���� �� ��� %�������� #������ ���
���

��%���� ���	�
������� ��������� #�����#�*

�( 1, x, x2, x3 (−∞, +∞);

�( x2,−2x2, 5x2 (−∞, +∞);

�( sin x, cos x (−∞, +∞);

�( tg x, ctg x
(
0, π

2

)
;

�( 2 cos 2x, 5 cos 2x, 10 cos 2x (−∞, +∞);

�( arcsin x, arccos x [−1, 1];

)( arctg x, arcctg x (−∞, +∞)B

���4� ��	�����$ �	� 1, t, t2, . . . , tn−1, tn %�������� ������

��%��� E ������� ��)���� �� ������
�������� #������ �� ���

%��� ������ �� ��� ����� ���� ���)	������B

����� �&	��� 2t2 − 3t + 4 ������������ 
		�����
��� P2

�� P3 ��������#� #���������� 1, t, t2 �� 1, t, t2, t3 ��)����#��



��

���1� ����

����$ �	� t3 + t2 + t + 1$ t2 + t + 1$ t + 1$ 1

���� P3 ������� ��)����

��<�� ����

����$ �	� −t2 + 2t, t2 − t, t2 + 1 ���� P2 ���

����� ��)��� �� �&	��� �� ��)��#� 3t2 +2t+3 ������������


		�����
����

��<�� ����

����$ �	� P2 ��%��� ������� 2+3t−t2, 1+3t$

1 − 2t2 ������������� ��%���� ���	�
���������

��<�� ����

����$ �	� ∀t0 ∈ R ������������ 1$ t − t0$

(t − t0)
2, . . . , (t − t0)

n ���
��� ����� Pn ������� ��)����

��<�� �&	��� P2 ������� 1, x, x2 ��)������ 1, x+1, (x+1)2

��)��)� ��������� ��
���� �� ��#���� x2 − 1 �����������

(x + 1)���  ���� �����

��<2� �&	��� �x ���
	��� 
		�����
��� �e1, �e2, �e3 ��)��#�$

�� �	������� �� ���
	��� 
		�����
��� �i,�j,�k ��)��#�*

�( �x = (−3, 1, 2)$ �e1 =�i +�j$

�e2 = �j + �k$ �e3 =�i + �k;

�( �x = (0, 1,−2)$ �e1 = 3�i + 2�j − �k$

�e2 =�i +�j + 3�k$ �e3 = −�i + �k;

�( �x = (1, 4, 0)$ �e1 =�i + 2�j − �k$

�e2 = −�i + 2�k$ �e3 =�i + 3�j;

�( �x = (5,−1,−1)$ �e1 = 2�i +�j$

�e2 = −3�i +�j + 2�k$ �e3 = −�j + �k;

�( �x = (2, 1,−1)$ �i = −�e1 − �e3$
�j = 2�e1 + �e2$ �k = �e1 + 2�e2 + �e3;

�( �x = (1,−1, 1)$ �i = 2�e1 − �e2 + �e3$
�j = �e2 − �e3$ �k = �e1 + �e3;

)( �x = (1, 0, 1)$ �i = 3�e1 + �e2 − 2�e3$
�j = �e1 + �e3$ �k = −�e1 + �e2;



��

�( �x = (−1, 0, 1)$ �i = �e1 + �e2$
�j = −�e1 + �e2 + �e3$ �k = 2�e2 + 2�e3�

��<�� ����

����$ �	� �e1 =�i+�j$ �e =�i−�j$ �e3 = −�i+2�j−�k

���
	���� ������ V3 ������� ��)���� ��������i,�j,�k ��)������

�e1, �e2, �e3 ��)��)� ��������� ��
���� �� �&	��� �x =�i−2�j+2�k

���
	��� 
		�����
��� � �� �e1, �e2, �e3 ��)��#��

��<<� �&	��� B = (�i,�j,�k) ��)������ B′ = (�e1, �e2, �e3) ��)��

�)� ��������� ��
���� �� �x =�i− 2�j +�k ���
	��� 
		����

��
��� B′ = (�e1, �e2, �e3) ��)��#�$ ��

�( B′ ��)���� ���
	���� ��"������ B ��)���� ���
	���

������� ���� ������������ #������*

�e1 = −�i, �e2 = −�j, �e3 = −�k;

�( B′ ��"������ B ��)���� ���
	����� �������������*

�e1 = �j, �e2 = �k, �e3 =�i;

�( B′ ��)���� ���
	���� ��"������ B ��)���� ���
	�����

ϕ 
�� �� �	�������� �i ���
	��� ���#��	�

��<4� ����

����$ �	� e1, e2, . . . , en �� e′1, e
′
2, . . . , e

′
n ����


	��� ���
����� ������ Rn ��%��� ������� ��)��� �� �&	�

��� e1, e2, . . . , en ��)������ e′1, e
′
2, . . . , e

′
n ��)��)� ���������

��
����*

�( e1 = (3, 4), e2 = (1, 2); e′1 = (2, 6), e′2 = (4, 8); n = 2;

�( e1 = (1, 2,−2), e2 = (3, 0, 1), e3 = (4, 3,−3);

e′1 =(−9,−8, 8), e′2 =(7, 3,−2), e′3 =(15, 7,−4); n=3.

��<�� �	�	� ���� ��
��#������� ����������� x ���
	�

��� 
		�����
��� e1, e2, e3, e4 �� e′1, e
′
2, e

′
3, e

′
4 ��)����#�$ ��

e′1 = ae2, e′2 = be3, e′3 = ce4, e′4 = de1?



��

��<1� #��!���� �� ���

A =

⎡
⎢⎢⎣

0 0 1 −1
0 −1 0 1
−1 1 0 0
1 0 −1 0

⎤
⎥⎥⎦

��	� ���� ��)������ ��	�� ��)��#� ��������� ��
����B

��4�� �&	��� ��%�� �������� ���
	������ �������	�

���� ���
���� ��	�� ���� ����� %�������
��� ���
��� �� ����

�� ����� 6������ ���� )	���� ��	�� ���*

�(

⎧⎪⎨
⎪⎩

2x1 − x2 − x3 = 0

4x1 − 2x2 − 2x3 = 0

x1 − 2x2 + x3 = 0

�(

⎧⎪⎪⎪⎨
⎪⎪⎪⎩

x1 + x2 − x3 + x4 = 0

x1 + x2 − x3 − x4 = 0

x1 + x2 − x3 + 3x4 = 0

x1 + x2 − x3 − 3x4 = 0

�(

⎧⎪⎪⎪⎨
⎪⎪⎪⎩

4x1 + 8x2 + 12x3 + 16x4 = 0

3x1 + 6x2 + 9x3 + 12x4 = 0

2x1 + 4x2 + 6x3 + 8x4 = 0

x1 + 2x2 + 3x3 + 4x4 = 0

�(

⎧⎪⎨
⎪⎩

2x − y + 3z = 0

x − 3y − 2z = 0

3x − 4y + z = 0

.

��4�� #���	����$ �	� (x0
1, x

0
2, . . . , x

0
n) ���� �	������ ����

�������	���� ���
���� �������� ��	�� ��� �� 6������ �� ���

�
���� )	���� ��	�� ��� �� 
��!	 ��	�� ����� �� #���������



��

�������	���� ���
���� )	���� ��	�� ���� 7���� �� ��*

�(

⎧⎪⎨
⎪⎩

2x1 + x2 − 4x3 = 4

3x1 + 5x2 − 7x3 = 13

4x1 − 5x2 − 6x3 = −6

x0
1 = 1, x0

2 = 2, x0
3 = 0;

�(

⎧⎪⎨
⎪⎩

5x1 + 3x2 + 5x3 + 12x4 = 10

2x1 + 2x2 + 3x3 + 5x4 = 4

x1 + 7x2 + 9x3 + 4x4 = 2

x0
1 = 0, x0

2 = 1, x0
3 = −1, x0

4 = 1;

�(

⎧⎪⎨
⎪⎩
−9x1 + 6x2 + 7x3 + 10x4 = 3

−6x1 + 4x2 + 2x3 + 3x4 = 2

−3x1 + 2x2 − 11x3 − 15x4 = 1

x0
1 = −1, x0

2 = 1, x0
3 = 0, x0

4 = 0;

�(

⎧⎪⎨
⎪⎩
−6x1 + 9x2 + 3x3 + 2x4 = 4

−2x1 + 3x2 + 5x3 + 4x4 = 2

−4x1 + 6x2 + 4x3 + 3x4 = 3

x0
1 = 1, x0

2 = 1, x0
3 = 1, x0

4 = −1.



���� ��

������ 	
����	��
� �� ����������

�	���
�

��� ��� ��� 	&���
	��� ����� ������
�
�� �������� ���

��#����	������ ������� ��� �� ���� ���
����� �� �� #��������

�	�� 	� ��������� #	���� ��%��� ������� #��� ����#� � ��

����� ���� ��%�� ��� ���� '��� ��%�� 	&���
	����(� �����

��� ��� ��	�$ ���������$ 	�� ���
	��� 7���� �� � ����

�� ���
	����� �� ����� 7���� 
	��� �"�	6��� �������$ �	�

������� ���)	������� #��� ����#� ��%��� 	&���
	��� �	�

���� #���!������� ��
����� ��#�������$ ��� !��)� �	�� ��

 ������� ����  ���� ��� ��� ��
������� ���
���
��� ������

���
����� ,��
������)����-�

��%�� 	&���
	��� ��	��� %���	 ���	������� &	��	�

�� ������� ����5���	 ��	����� ��	 ���#� '���������$ ����

�
�	������ ������
��� &�	������� #�������#�$ 
	�������

��	���#�$ ��
	��
�� ��	���#� �� ��#�(� ������� ����5���

�	 �� %�)�
��� ��	���� �"������� ���� ��%��� 	&���
	���

�� ���
	�����$ ���� ��	 ��� 
� ����� � ��� �����	��� 	&��

��
	����� ��
������ ���#����	������ �� ��
������ ���
	�

����� &	����� ���)�� ��%�!������ ��%��� �������� �����)��

�&��
���� �� 	&���
	���� ���	�����

��



��

§)� ���
	
 ��������
 �� �
�
 ����
��

������$

A =

⎡
⎢⎢⎣

a11 a12 . . . a1n

a21 a22 . . . a2n

. . . . . . . . . . . . . . . . . .
an1 an2 . . . ann

⎤
⎥⎥⎦ '1��(

���������� 
�����
��� ��
������ Rn ������� �	��� x ������

�
� #��������	� ����� ������� y ������
�$ �	����� �	�����

#������ ��
������ ����%���	���

Y = A X, '1��(

����� X �� Y #���������� x = (x1, x2, . . . , xn) �� y =

(y1, y2, . . . , yn) ������
���� 
		�����
�������� #��������

���
���
�������$ ����

X =

⎡
⎢⎢⎣

x1

x2
���

xn

⎤
⎥⎥⎦ , Y =

⎡
⎢⎢⎣

y1

y2
���
yn

⎤
⎥⎥⎦ .

��������$ n���� ����� �	��� 
�����
�� A ��
����� #��

���!��� #��������	� Rn ������� ���
����� A : Rn → Rn

��� ���

6�������

y = Ax

��#����$ �	� y ���� Rn ������� �� ������
�$ �	���#�� A

��� ��� ��	� ���� ��� Rn ������� x ������
��

'1��(���� ���	�������	��$ �	� ∀x′, x′′ ∈ Rn �� ∀α ∈ R

A(x′ + x′′) = Ax′ + Ax′′,

A(αx′) = αAx′.
'1��(



�	

��� ���$ �	����� �
���	%����� '1��( &��	����$ ��	���

�� ���	�	 ������� ��%��� ��� �� #��!���� ������)"��	� ���

� 	�	� Rn ������������$ ������ ���������� ��%��� E �����

���������

������$ E �� F ��%��� ����������� A : E → F ��� ���$

�	����� �
���	%����� '1��( &��	����$ ��	���� ���	�	 ������

��� ���	�	 ��������	 E ��������� F ������#�� �� E = F $

��#�� A : E → F ���	� ������� ��	����� E ������� ��%��

�����������

������� )��� A : R3 → R3 ��%��� ��������� �	�����

A =

⎡
⎣−1 3 2

1 −1 4
0 −2 1

⎤
⎦

��
������ ��&	�	� x = (1, 0, 2) ���
	��� �� � �� ��� ���

��	��

∇ ������$ Ax = y� ��#��

Y = AX =

⎡
⎣−1 3 2

1 −1 4
0 −2 1

⎤
⎦
⎡
⎣1

0
2

⎤
⎦ =

⎡
⎣−1 + 0 + 4

1 + 0 + 8
0 + 0 + 2

⎤
⎦ =

⎡
⎣3

9
2

⎤
⎦ ,

���� Ax = y = (3, 9, 2)� �
����� ��	� ����	����� ��	���� n����)	��������� Rn ���

����� #��� ����#��

������� )��� ��&	�	� e1 = (1, 0, . . . , 0)$ e2 = (0, 1, . . . , 0),

. . . , en = (0, 0, . . . , 1) ���
	����� �� ���� '1��( ��
����� ����

��)"����� A : Rn → Rn ��%��� ���������� ��	��



��

∇ ������$ Aei = yi (i = 1, 2, . . . , n)� ��#��

Y1 =

⎡
⎢⎢⎣

a11 a12 . . . a1n

a21 a22 . . . a2n

. . . . . . . . . . . . . . . . . .
an1 an2 . . . ann

⎤
⎥⎥⎦
⎡
⎢⎢⎣

1
0
· · ·
0

⎤
⎥⎥⎦ =

⎡
⎢⎢⎣

a11

a21

· · ·
an1

⎤
⎥⎥⎦ ,

Y2 =

⎡
⎢⎢⎣

a11 a12 . . . a1n

a21 a22 . . . a2n

. . . . . . . . . . . . . . . . . .
an1 an2 . . . ann

⎤
⎥⎥⎦
⎡
⎢⎢⎣

0
1
· · ·
0

⎤
⎥⎥⎦ =

⎡
⎢⎢⎣

a12

a22

· · ·
an2

⎤
⎥⎥⎦ , . . . ,

Yn =

⎡
⎢⎢⎣

a11 a12 . . . a1n

a21 a22 . . . a2n

. . . . . . . . . . . . . . . . . .
an1 an2 . . . ann

⎤
⎥⎥⎦
⎡
⎢⎢⎣

0
0
· · ·
1

⎤
⎥⎥⎦ =

⎡
⎢⎢⎣

a1n

a2n

· · ·
ann

⎤
⎥⎥⎦ .

yi (i = 1, 2, . . . , n) ������
��������� ����"���*

y1 = Ae1 = Y�
1 = (a11, a21, . . . , an1),

y2 = Ae2 = Y�
2 = (a12, a22, . . . , an2), . . . ,

yn = Aen = Y�
n = (a1n, a2n, . . . , ann). �

'1�2(

��"����� #�������� ���	�������	��$ �	� �����	�� ���

���������� � #��������	�� Rn ������� ��%�� ������������

�� n���� ����� 
�����
�� ��
������ #	���* �	���

A : Rn → Rn ��%�� ���������� #���������� n���� ����� 
����

��
��� A ��
����$ �	���� ���
��� ���"��� '1�2( ���
	���

��� 
����&	������� '���� A ��
����� i���� ���
� ��� ���

�� Yi ���
���
�����( �� &������$ ����� #��������	��� ��	�

n���� ����� �	���� A ��
���� #���������� '1��( 
	�	���

�����)"���� ��� A : Rn → Rn ��%�� �����������



�


����� #��������	�� !���#�� ���������� ���������)	�����

����� ��%��� E ������� #��� ����#��� �� #��������	��� ������

�������� E ������#� ���� ����%�����	� ����������

e1, e2, . . . , en ��)��� �� �	��� A : E → E ��%�� ����������

#��������	� '1�2( ���
	����� 
����&	������� ��"����� ����


������� #�������� 
�����
��� A = [aij ] ��
����*⎧⎪⎪⎨
⎪⎪⎩

Ae1 = a11e1 + a21e2 + · · · + an1en

Ae2 = a12e1 + a22e2 + · · · + an2en

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
Aen = a1ne1 + a2ne2 + · · ·+ annen.

'1��(

����� ����� ������ A ��
����� ��	���� ���	�	 A ���


����
	� ����	�� ������� ���	��	� ����� ������)"�����

A : E → F ��%��� 	&���
	��� ��
���� 'E �� F �������

���� �	����� ��)����#�(�

�������$

y = Ax '1�<(

�� �� �	���� 	&���
	���� ����%���	��$ ����� x, y ∈ E$

#��!���� #������	� #������ �� ��

Y = A X '1�4(

��
������ ����%���	���$ ����� A = [aij ] ���� A 	&��

��
	��� ��
���� �	����� ��)��#� '� � '1��(($  	�	 X =⎡
⎢⎢⎣

x1

x2

· · ·
xn

⎤
⎥⎥⎦ �� Y =

⎡
⎢⎢⎣

y1

y2

· · ·
yn

⎤
⎥⎥⎦ ���� #���������� x =

n∑
i=1

xiei �� y =

n∑
i=1

yiei ������
���� 
		�����
�������� #�������� ���
���
�

������� �"��#���� ����%���	�� 
		�����
��� %	���� ���



��

6��������* ⎧⎪⎪⎨
⎪⎪⎩

y1 = a11x1 + a12x2 + · · ·+ a1nxn

y2 = a21x1 + a22x2 + · · ·+ a2nxn

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
yn = an1x1 + an2x2 + · · ·+ annxn.

'1��(

������� )� � ��&	�	� #������ ��
������� #���������

��%��� �����������*

1. O =

[
0 0
0 0

]
; 2. I =

[
1 0
0 1

]
; 3. A =

[
λ 0
0 λ

]
;

4. S =

[
1 0
0 −1

]
; 5. Aϕ =

[
cos ϕ − sin ϕ
sin ϕ cos ϕ

]
.

∇ ������$ �a = (x, y) ∈ V2 �� X =

[
x
y

]
3 #��������� ���
�

��
������ ��#��

�� O X =

[
0 0
0 0

] [
x
y

]
=

[
0
0

]
= 0$

���� ���	���� O ��
����� #��������� O ��%��� 	&���
	��

V2 ������� ��������� �a ���
	�� ���������� ���	��� �0 ���
	�

�#�* ∀�a ∈ V2

O�a = �0.

���� O ��%�� 	&���
	�� 
�����
	 ��������	 ��	����;

�� I X =

[
1 0
0 1

] [
x
y

]
=

[
x
y

]
= X,

���� ∀�a ∈ V2

I�a = �a.

���� ��%�� 	&���
	�� ���������
	 �
� 	�	���	 �������


�	 ��	����;



��

�� A X =

[
λ 0
0 λ

] [
x
y

]
=

[
λx
λy

]
= λ

[
x
y

]
= λ X,

���� ∀�a ∈ V2 A�a = λ�a. �������$ A 	&���
	�� �	���� �a

���
	�� ����C���� ��� 
	�������� λ�a ���
	�#� '�� � 1��(�

�� 1��

2� S X =

[
1 0
0 −1

] [
x
y

]
=

[
x
−y

]
.

�� ��#����$ �	� S 	&���
	��� �	�������� �a = (x, y) ����


	�� ������� ���� �b = (x,−y) ���
	�#�$ �	���� &������


		�����
� ��� ���� �a ���
	��� &����� 
		�����
�$  	�

�	 ��	�� 
		�����
� ������� �	&����&��� ��� ���� ����

�� ��������� ����	������ ����
���� Ox "��!�� ������ '�� �

1��(�

�� 1��



��

�� ������$ �a =�i = (1, 0)� ��#��

Aϕ X =

[
cos ϕ − sin ϕ
sin ϕ cos ϕ

] [
1
0

]
=

[
cos ϕ
sin ϕ

]
,

����

Aϕ
�i = (cos ϕ, sin ϕ).

�� ��#����$ �	� Aϕ
�i ���
	�� ���"��� �i ���
	������� ϕ 
���

 �� �	�������� O ������� ���#��	 ������ ����� �	!��	���

�������"����	 ������������ '�� � 1�� �(�

�� 1��

����	������$ �a = �j = (0, 1) #��� ����#�

Aϕ X =

[
cos ϕ − sin ϕ
sin ϕ cos ϕ

] [
0
1

]
=

[− sin ϕ
cos ϕ

]
=

[
cos(ϕ + 90◦)
sin(ϕ + 90◦)

]
,



��

��������

Aϕ
�j = (cos(ϕ + 90◦), sin(ϕ + 90◦)),

���� Aϕ
�j ���
	��� ���"��� �j ���
	������� ϕ 
�� �� �	����

����� '�� � 1�� �(�

�������i,�j ���� V2 ������� ��)���$ ���
	� '� � �� � '1��((

���������� �a ∈ V2 ���
	�������� Aϕ�a ���
	�� ���"��� �a ����


	��� O ������� ���#��	 �������� ������������ ϕ 
�� ��

�	�������� '�� � 1�� �(� 
��#��� �a �� Aϕ�a ���
	��� 
		��

����
��� #	��� �	����� %	������ '� � '1��(({
x′ = x cos ϕ − y sin ϕ,

y′ = x sin ϕ + y cos ϕ. �
��%��� ������� ��)���� #������ #��� ����#� ������� �	�

������ ��%��� 	&���
	��� ��
����� ����	� �	������� ���

������ �������� 
��#��� �� ��
������ #	����

������� )�"� �� A ��	� A : E → E ���	�	 �������


�	� ����	�� e1, e2, . . . , en ���	��	� A′ ' ����� ��������	�

����	�� e′1, e
′
2, . . . , e

′
n ���	��	� ���	


A′ = B−1 AB,

����� B ��	� e1, e2, . . . , en ���	�	��
 e′1, e
′
2, . . . , e

′
n ���	���

�������	� ����	���

∇ ������$ x ���� ��%��� E ������� ���������� ���
	��$

 	�	 X �� X′ �� ���
	����� 
		�����
�������� #��������

���
���
������ #���������� e �� e′ ��)����#�� ������$ AX =

Y $ ��#�� '� � '4��( �� '4��((

A′ X′ = Y′ = B−1 Y = B−1(A X) = (B−1 A) X =



��

= (B−1 A) BX′ = (B−1 A B) X′,

����

A′ X′ = (B−1 A B) X′ . '1�1(

������ '1�1( 
	�	�� �������� ���������� X′ ���
���
�����

������$ ���
	� A′ = B−1 A B� �

����

 )� � ���	�	 �������
	� ����	�	� ������	
�
�	

�� ��	� �����	�����	 ���	�	� ���%������

∇ |A′ | = |B−1 A B | = |B−1 | · |A | · |B | = |A |,
������ |B−1 | |B | = 1� �

§�-� ��%�������
 ���
	 ����������&�� ���
	

���������� �
	���

������$ A : E → F �� B : E → F ��%��� 	&���
	������

A �� B 	&���
	����� 7��� ��	���� ���� A + B : E → F

	&���
	��$ �	����� ������)"����� &��	���*

∀x ∈ E, (A + B)x = Ax + Bx. '����(

��	���
�� �-��� ����

����$ �	� A + B 	&���
	��

��%�����

������$ A �� B ���� #���������� A �� B 	&���
	�����

��
������ �	����� ��)��#�$  	�	 C ���� A+B 	&���
	���

��
���� ����� ��)��#�� 6�����	� '����( 
	�	�� ��
������

�� ��*

C X = A X + BX . '����(



��

��
������ 	&��������� �������� ���� ���

A X+ BX = (A+ B) X,

���
	� '����( 
	�	����� ����"���

C X = (A + B) X . '����(

������ '����( 
	�	�� �������� ���������� X ���
���
���

��������$ ���
	�

C = A + B .

�������$ ��������� ��)��#� A + B ��������	� ����	��

A �� B ����������	� ����	���	� ���	� ���	��

����	������ ������)"����� ��%��� A 	&���
	��� ����

����� ��������� ������� α ��� �)�

∀x ∈ E, ∀α ∈ R, (αA)x = α(Ax). '���2(

����� ���
���� �

������$ �	� αA 	&���
	��� ��
����

���� A 	&���
	��� ��
����� α ��� �)� ��������� 
	���

��%��� 	&���
	����� #�
����� �� ��� �)� �����������

	&�������� �
���	%������ ��%��� ������� ����	����� &��	�

���� ��$ ��#�������$ �� 	&��������� ������ ��%��� 	&���
	�

���� ������ ��%�� ��������

������$ B : E → F �� A : F → H ��%��� 	&���
	���

���� A �� B 	&���
	����� �������� ��	���� ����

AB : E → H 	&���
	��$ �	����� ������)"����� &��	���*

∀x ∈ E, (AB)x = A(Bx). '����(

�������$ A �� B 	&���
	����� �������� ����	������

B �� A 	&���
	����� 
	�&	)������



��

��	���
�� �-��� ����

����$ �	� AB ��%��� 	&���
	�

����

	&���
	����� 7���� #��� ����� ����	������ �

������

'����

����($ �	� ���������� ��)���� #��� ����#� AB ���


�����	� ����	�� A �� B ����������	� ����	���	� 
�����


�	� ���	��

#����#�	�$ �	� ��%��� 	&���
	����� �������� �� ����


	��
������$ ���� )	����� AB 	= BA�

	&���
	����� ����������� � �� ������������ �"����#���

��� #������*

�� (AB)C = A(BC);

�� AI = IA = A (A ��%��� ����������$ I 3 �������(;

�� (A + B)C = AC + BC;

2� A(B + C) = AB + AC.

�"��#���� ������������ ���	�������	��$ �	� �	������

��%��� ������� ����������� �������� 	&���
	��� #�
�����

�� ����������� 	&��������� ������ ��	�� ����	�������

§��� ���������
� �	
����������
 ��

����
������
 ����������


�� &������%#� ������� ������� ����$ �	� E ��
�����

�������� n����)	��������� �������$  	�	 A : E → E 3

�� ������#� �����)"����� ��%��� ����������

������$ A ���� A ���������� ��
���� 	��	�	��������

e1, e2, . . . , en ��)��#�� A∗��� �"���#�	� ��%��� ���������$

�	���� ��
���� �	����� ��)��#� ���� A ��
����� 
�����

&	�������� A� ��
����� �� x = (x1, x2, . . . , xn) �� y =

(y1, y2, . . . , yn) ���� E ������� ���������� 	�� ���
	��



�	

'x1, x2, . . . , xn �� y1, y2, . . . , yn �� ���
	����� 
		�����
����

�	����� 	��	�	�������� ��)��#�($ ��#�� '<�2( �� '1��(���

��������������� #����!��� 6�����	�

(Ax, y) =

n∑
i=1

( n∑
j=1

aijxj

)
yi =

n∑
i=1

n∑
j=1

aijxjyi =

=
n∑

j=1

n∑
i=1

aijyixj =
n∑

j=1

( n∑
i=1

aijyi

)
xj =

=

n∑
j=1

xj ·
( n∑

i=1

aijyi

)
. '����(

������ A� ���� A∗ ���������� ��
����$ ���
	� '����(����

����"���$ �	� ∀x, y ∈ E ������
�������� #����������� 
	�

�	��

(Ax, y) = (x,A∗y). '����(

��6���	�$ �	� �����	�� � 	�	� ���� ����� A∗ 	&���
	�

��$ �	����� �
���	%����� '����( &��	���� �������$ E ���

����� ���������� x ���
	�������� '� � %	����� '<��((

A∗x =

n∑
i=1

(A∗x, ei)ei =

n∑
i=1

(x,Aei)ei,

��� ��

����� ��������	����

A∗ ���������� ��	���� A ���������� ���������	 ���


����
�$ �� E ������� ���������� x �� y ������
������� ����

����� '����( &��	���

�������$ �	���� ��%��� A ��������������� �����	�� ���

������� #��"������ A∗ ��������� �� A∗ �������
	� ���


�	�� ����
���	����� ���	��	 ��	� A �������
	� ����	�	�

���
���
	�����	�



��

#����#�	�$ �	� �� e1, e2, . . . , en ��)��� �� ���� 	��	�	�

���������$ ��#�� A∗ ���������� A∗ ��
���� �� ��)��#� #��!�

���� ��&	�	� A∗ = Γ−1 A� Γ %	������ ��#�������$ �����

Γ ���� ���� ����	� ����	��*

Γ =

⎡
⎢⎢⎣

(e1, e1) (e1, e2) . . . (e1, en)
(e2, e1) (e2, e2) . . . (e2, en)
. . . . . . . . . . . . . . . . . . . . . . . . . . . . .
(en, e1) (en, e2) . . . (en, en)

⎤
⎥⎥⎦ .

��%�� ���������� ��	���� ��	����������	$ �� A∗ = A$

���� �� ∀x, y ∈ E

(Ax, y) = (x,Ay).

� ����$ �	� ��	����������	 A ��������	� ����	��

����
���	����� ���	��	 �	����	��	��

��
��
�
 ����� ������$ Aϕ : R2 → R2 ���� O ���
����

���#��	 ϕ 
�� �� �	�������� 	&���
	�� 1�� ������������

��&	�	� Aϕ ���������� #��"������ A∗
ϕ ����������

∇ �	�	�� ��	����� '� � �������� 1��($ �i,�j ��)��#� Aϕ

	&���
	��� ��
�����

Aϕ =

[
cos ϕ − sin ϕ
sin ϕ cos ϕ

]
.

������ 	��	�	�������� ��)��#� A∗
ϕ ���������� ��
����

Aϕ ���������� Aϕ ��
����� 
����&	���������� ��������	�

A∗
ϕ ���������� A�

ϕ ��
���� #������ �� ��*

A�
ϕ =

[
cos ϕ sin ϕ
− sin ϕ cos ϕ

]
=

[
cos(−ϕ) − sin(−ϕ)
sin(−ϕ) cos(−ϕ)

]
.



�


Aϕ �� A�
ϕ ��
������� #�������� �����
����$ �	� A∗

ϕ ������

����� ���� ϕ 
�� �� �	������� O ���
���� ���#��	$ 	"	��

�������"����	 ������������$ ����

A∗
ϕ = A−ϕ = A−1

ϕ . � '����(

�� A∗ = A−1$ ��#�� A ���������� ��	���� ������
���


�	 �������
� !��������	$�

�������$ ���� �������#� ��� ����� �	�������� Aϕ 	&��

��
	�� 	��	�	��������

������ 	&���
	��� AA∗ = A∗A = I ����%���	���

	��	�	�������� ��)��#� #���������� ��
������ A A� =

A� A = I ����%���	��$ ���
	� 	��	�	������ 	&���
	�

��� A ��
���������� �������� 
	�	��

A� = A−1 . '���2(

���� 
�����
�� A ��
����� ��	���� ������
����	 ���


�	��� �������$ ������
����	 ��������	� ����	�� ����



���	����� ���	��	 ������
����	��

��	���
�� ����� ����

����$ �	� �� A 	��	�	�����

�� ��
�����$ ��#�� |A | = ±1�

�� A 	��	�	������ �����������$ ��#�� ∀x, y ∈ E

(Ax,Ay) = (x,A∗Ay) = (x, Iy) = (x, y),

���� ������
����	 �������
� 	
��%�
��� ������	� �	�� ��

�� ������ �� ������� ���	�� ������ ���	�������	��$ �	�

������
���� �������
�� ����
���	�����	 ���	�	 ����


(���� ����
���	����� ���	��	�

�

������$ �	� ���������� �%�	 )	���� ��������*



��

������� ��� � ������	 ���	 �	���� �����
��	� ���	


����
���	�&

1. A �������
� ������
����	�)

2. A �������
	� ����	�� ����
���	����� ���	��	 ��


����
����	�)

3. A �������
�� ����
���	�����	 ���	�	 ����(���� ��


��
���	����� ���	��	�

�"���#�	�$ �	� ���
����� �)��� Aϕ ��������� ���� R2

'��$ ��� ������$ V2( ������� ��������� 	��	�	������ ����

������� �%�	 )��
��$ ���������� #������

������� ���"� R2 �	���	� 
��	��	��	 ������
����	

�������
� ��	� �
 �����
��� �����	
���� �����	� �	����

��	�� ϕ ����	�� �
 ��� ��	 �	����	� O ����	��� �������	

��������	 ���	� �	�����

§��� ����������
 
��������� ���
	
 
����%��
�


��
 �� ��
�	�������� �
���	��� ����.���
�

�
�
� ��������


������$ A : E → E ��%��� 	&���
	���$  	�	 E ��
���

��� �������� n����)	��������� �������� �	�	�� �"���#���

'� � §1($ �	��� 	&���
	���

Ax = b '����(

���
	����� #���������� ������� �� �� AX = B ��
������

���
	����$ ����� A �� 	&���
	��� ��
����� �	������ ��)��

�#�$  	�	 X �� B ���
���
�������� �������	��� 	&���
	�

���

Ax = θ '����(



��

���
	����� #���������� �������	���� ��
������ ���
	����

A X = 0.

������ ���	�������	��$ �	� �� A ��������� �������������

����� '���� |A | 	= 0($ ��#�� �������	��� 	&���
	��� '����(

���
	����� ���� � 	�	� ���	���� ��	�� ��� x = θ� )	�

�����$ �������	���� 	&���
	���� '����( ���
	����� ��	�

�� ���� �������� ����	������ ��%��� E ������� (n − r)�

���)	�������� ��%�� ����������$ ����� n = dim E$  	�	

r = rank A '� � '���((� ���� ���������� ��	���� A ���	�	

�������
	� ���	 '�� �	���	( �� �"���#���� ker A ����	�	�

��� �������$

ker A = {x ∈ E | Ax = θ}
��

dim(ker A) = n − r (n = dim E, r = rank A). '����(

������ ker A ���������� ���)	������ �� ���� ���	
�������

��)���� #��6���)�$ ������ ���	�������	��$ �	� ���	�	 ���


����
	� ����	�	� ��
�	 r �� ��	� �����	�����	 ���	�	� ��


�%������ �� r ��� �� ��	���� A ���	�	 �������
	� ��
�	�

Ax (x ∈ E) �� �� ������
�� ��������� A ��%��� ������

����� �
	��
������� �	������ ��	���� �� �"���#���� ImA

����	�	��

ImA = {Ax | x ∈ E}.
� ����$ �	� ImA ����	������ E ��%��� ������� ��%��

����������� ������ �� ���������#� �����	�� r ��	���	���

��%���� ���	�
������� ���
	�� '�	������ #���������� A



��

��
����� ��)���� ���
���($  	�	 ���������� � �� b = Ax ���

�
	�� '�	�	�� ��%���	����� A ��
����� ���
�� #��������

�� ���
	��( ����	������ ��� ��%�� 
	���������$ ���
	�

dim(ImA) = r. '���2(

�"���#�	� �������$ �	� '����( �� '���2( 
	�	������� ���	�

�������	�� 
	�	��

dim(kerA) + dim(Im A) = dim E.

����(���	� �	�	� ��������	 ��������� 
��#���

Ax = b '����(

�� �� ����������	��� ��

A∗x = θ '���<(

�� �� #��"����� �������	��� 	&���
	��� ���
	������ #	�

���� %���C	���� 
�&�� ��	������� %	����������#� ��
��

������
�� �� )	�����$ ������ ����� � ��� �� �� �� �	�

������	��� ����� ����	��� �&���
��	�� �� ����$ �	� ����

���� �� �� %	���������� ��	������ ������
�
�� � �� ����

���#� '���������$ ��
������� ���
	������ ��	���#�(� ���

������ '����( ��'���<( 	&���
	���� ���
	������� #��������

�� ����������	���� �� �������	���� ���
������ |A | ��

|A� | ��
�������
��� ���������� 
	���$ ������ ���"��� ����

����(���	� �����
��	���

������� ����� �
 (12.5) �������������
 ����������

��
������� ���� ��������	 ���
���
	 
��	��	��	 b ∈ E ���


��
�	����	�� �
 ��������� ����������
 (12.6) ��
�������

���� ���	 ��	
� ���
�����
	 ���
���
	�



��

��
����� � ���� %���C	���� #������

������� ����� 	�	����	�� ��� �������������
 (12.5)

��
������� (��
��� ���
���
	� ���	�����	� �� ������	�	�

��� ������
� ����� b 	��� ���������	 ����������
	 (12.6)

��
�����	� ����� ���
���
	� ������
����	�

#����#�	�$ �	� ��
�����	������ ���� �������$ ��������

�	�� 
���������� �

������� �������$ ������ x0 ����

'����( ���
	����� ��	�� ���$ ����

Ax0 = b.

��#�� '���<( ���
	����� ���������� y ��	�� ���������

(b, y) = (Ax0, y) = (x0,A
∗y) = (x0, θ) = 0,

���� b ⊥ y� �

§� � ���
	
 ��������
� ������
	
 	�%���
 ��

������
	
 ��
�	������� ��!��
������



��������

������$ A : E → E ��%��� ���������� �� x ∈ E 3

������	���� ���
	��� ��

Ax = λx, '����(

����� λ �������� ��� ���$ ��#�� x ���
	�� ��	���� A ��


�	�	 �������
	� ������	�	 ������	$  	�	 λ ��� �� 3 ����


��	�	 �
	��
������

��
��
�
 � ��� ��&	�	� ���	���� O : E → E �� ����

���� I : E → E 	&���
	����� ��
������ ���
	�� �� ��
��

����� ���#����	���



��

∇ ������ ∀x ∈ E

Ox = θ = 0x �� Ix = x = 1x,

���
	� E ������� ���������� ������	���� ���
	�� ���� ���

�	���� O �� ������� I 	&���
	����� ��
������ ���
	���

����� ��	�$ O 	&���
	��� ��
������ ���#����	��� λ = 0$

 	�	 ������� I 	&���
	��� ��
������ ���#����	���

λ = 1� �
#����#�	�$ �	� ��%�� 	&���
	�� #��!���� �����	� ��

C�	���� ��� ���� ��
������ ���
	��� ���� 	&���
	��� ���

� �� ���
�������$ ���������$ �	�������� Aϕ : R2 → R2 	&��

��
	�� '� � §1($ �	�� ϕ 	= πn (n ∈ Z)�

������$ x ���� A 	&���
	��� ��
������ ���
	��$  	�

�	 λ 3 #��������� ��
������ ���#����	��� ��������	� '����(

	&���
	���� 
	�	�� ��
������ �� ��*

AX = λ X . '����(

�	�� ���	� �� ��
������ 
	�	��� ���������*

A X = λ X ⇐⇒ A X−λ IX = 0 ⇐⇒ (A−λ I) X = 0.

������ �������	��� ��
�����

(A−λ I) X = 0 '����(

���
	����� ���� ������	���� ��	�� ��� 'x ���� ��
������

���
	��$ ���
	� x 	= θ($ ���
	� A−λ I ��
����� |A−λ I |
��
�������
� ����� 
	��� '#����� ������($ ����

|A−λ I | = 0. '���2(



��

� ����$ �	� &��������$ �� �������� λ ��� �� ���� '���2(

���
	����� %����$ ��#�� �� ��� �� ������ A ��%��� 	&���
	�

��� ��
������ ���#����	���

'���2( ���
	����� ��	���� A ��
����� �����	������	 ��



������$  	�	 �� ���
	����� λ %���� � ����	�	� �����	���


���	 ����	� ��"����� #����� #��!���� 6��	�������	� ��	���

��� �� ���

������� � ��� 	�	����	�� ��� 
����	�	 λ �	���	 	���

A ���	�	 ��������	� ������	�	 �
	��
������ ���	�����	�

�� ������	�	� ��� �� �	���	 	��� A ��������	� ����	�	�

(
��	��	�� ���	��	) �����	������	 (13.4) ��
�����	� ����	�

������

A−λ I =

⎡
⎢⎢⎣

a11 a12 . . . a1n

a21 a22 . . . a2n

. . . . . . . . . . . . . . . . . .
an1 an2 . . . ann

⎤
⎥⎥⎦− λ

⎡
⎢⎢⎣

1 0 . . . 1
0 1 . . . 0
. . . . . . . . . . . .
0 0 . . . 1

⎤
⎥⎥⎦ =

=

⎡
⎢⎢⎣
a11 − λ a12 . . . a1n

a21 a22 − λ . . . a2n

. . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
an1 an2 . . . ann − λ

⎤
⎥⎥⎦ ,

���
	� |A−λ I | ��
�������
� ����	������ λ ������� n����

 ���� �� p(λ) �����������$ �	������ ��	���� A ����	�	�

�����	������	 ����������	�

������ n  ���� �� (n ≥ 1) �	��� ����������� ���� ����

%���� ����� '
	�&������� �� ��������($ ���
	� ����������

���	� �	�����	 ����� ���	� �������
�� ���� ���	 ������	


�	 ������	 ��	
��



��

���� ��	������� ���	�������	�� �������$ �	� � �� ��)��

�)� ����������� �� ���������� ���
	����� %���� �� ������

��� �� %������ ��	���� �	������ A �������
	� �����	������	

������	�

��
��
�
 � � � ��&	�	�

A =

[
8 4
4 2

]
��
����� �	������ A : R2 → R2 ���������� ��
������ ����


	���� �� ��
������ ���#����	�����

∇ ��	����	� #��������� �� ���������� p(λ) �����������

p(λ) = |A−λ I | =

∣∣∣∣8 − λ 4
4 2 − λ

∣∣∣∣ = λ2 − 10λ = λ(λ − 10)

�� �� ���������� ���
	����

λ(λ − 10) = 0.

�� ���
	����� λ1 = 0 �� λ2 = 10 %������ ����	������� A

���������� ��
����� ���#����	����� #��������� ��
������ ���

�
	���� ��&	�	� '����( ��
������ ���
	�������$ �	�����

6�����	� ��#���� �� ��*{
(8 − λ)x1 + 4x2 = 0,

4x1 + (2 − λ)x2 = 0.
'����(

������ λ�� �"��#���� ���#����	���������� �� ���
���� p(λ)=

λ(λ−10) ��
�������
� ����� 
	���$ ���
	� �� ���
��� ����

���� ���
	����� 
	�%����� 
��!	�$ ���"	� &������ ����


	����

(8 − λ)x1 + 4x2 = 0. '���<(



�		

λ = 0 #��� ����#� '���<(���� �"����	��

8x1 + 4x2 = 0,

�������� x2 = −2x1 ��$ ��#�������$ λ = 0 #��� ����#� '����(

���
���� )	���� ��	�� ����*

x1 = t, x2 = −2t (t ∈ R).

�������$ λ = 0 ��
������ ���#����	��� #��������� ��
��

����� ���
	�����

x = (t,−2t), ����� t ∈ R \ {0}.
����	������$ λ = 10 #��� ����#� '���<(���� ����"���

���
	�����

−2x1 + 4x2 = 0,

�������� x1 = 2t$ x2 = t (t ∈ R)�

�������$ λ = 10 ��
������ ���#����	��� #��������� ��
��

����� ���
	�����

x = (2t, t), ����� t ∈ R \ {0}. �

���� �������#� ��� ����� A ��
����� ����� �� �������

���� %���� ���������� �� #����� �� ���� #��� �������

��	���
�� � �"� ����

����$ �	� ��	�� ����� ����
�

�����

A =

[
a b
b c

]
��
����� ����� �� ���������� %���� ����������

#����#�	�$ �	� �� ���������� !���#� �6��� ���������� ���

��� ����
����� ��
�����������



�	�

������� � �#� ��	����������	 ���	�	 �������
	� ���


�� �����	������	 ����	 
����	�	��

∇ ����#��"������ 	&���
	��� ��
���� 	��	�	����

����� ��)��#� ����
������ '� � §��($  	�	 ����
����� ��
�

����� ����� �� ���������� %���� ���������� �

����

 � �$� 
��	��	�� ��	���������� �������
�� ����

���	 ��	
� ������	�	 ������	�

������ ���� �%�	 )	��� ��	�����*

������� � �'� 
��	��	��	 ��	����������	 ���	�	 A

�������
	����	� �������� �	���	� ����
���	�����	 ���	


�	� �����
	�	 A �������
	� ������	�	 ��������	����
�

� ����$ �	� �� ������� ��)��� #������ ��%��� A ������

����� ��
������ ���
	���������$ ��#�� A ���������� ��
���

�� �� ��)��#� ����	�������� ���� ��������������� ��	����

���4 #��!���� 6��	�������	� #������ �� ��*

����

 � �(� 
��	��	��	 ��	����������	 A �������
	


����	� �������� �	���	� ����
���	�����	 ���	�	� �����


�	� �� �������
	� ����	�� �	���
����	� (����	�	� �	���



����	 �����
���	 ���������
�
 �������
	� ������	� �
	�


�
�������)�

������� � �)� 
��	��	��	 �	����	��	 A ����	�	���


�	� �������� 	���	 ������
����	 B ����	��� ��� B� A B

�	���
����	 ����	����



�	


∇ ������$ e1, e2, . . . , en 	��	�	��������� ��)����$  	�

�	 A �	������ ����
����� A ��
����� #��������� �����

#��"������ ����������� ���� #������ !���� �����	�� ���

����� 	��	�	��������� e′1, e
′
2, . . . , e

′
n ��)���$ �	���#�� ��

���������� A′ ��
���� ����	�������� �� B ���� e1, e2, . . . , en

��)������ e′1, e
′
2, . . . , e

′
n ��)��)� ��������� ��
����$ ��#�� '� �

��	���� 1�2(

B−1 AB = A′

�� A′ ����	������ ��
������ ������ ���� 	��	�	������

���� ��)������ ��	�� 	��	�	�������� ��)��)� ���������

��
���� 	��	�	������� '� � ��	���� ����($ ���
	� B−1 =

B� �� ���	�		� ����"���$ �	� B� A B ��
���� ����	�

�������� �

§�"� �	�������
 ������
� �	�������
 ����
�

���	��� �����
��� ��!�&�


����&�	����� x1, x2, . . . , xn ���������

F = F (x1, x2, . . . , xn) =

n∑
i=1

n∑
j=1

aijxixj '�2��(

�����������$ ����� aij ∈ R$ aij = aji (i, j = 1, 2, . . . , n)$

���������	 ����� ��	����� aij 
	�%�����
������ #�������

����
����

A =

⎡
⎢⎢⎣

a11 a12 . . . a1n

a21 a22 . . . a2n

. . . . . . . . . . . . . . . . . .
an1 an2 . . . ann

⎤
⎥⎥⎦

��
����� ��	���� ���������	 ����	� ����	���



�	�

�	�� n = 2$ 
�����
��� %	��� ���"��� #����� �� ��*

F = F (x1, x2) =

2∑
i=1

2∑
j=1

aijxixj =

= a11x
2
1 + a12x1x2 + a21x2x1 + a22x

2
2.

a12 = a21 
	�	��� ��������������� #����!��� ������	�

F = F (x1, x2) = a11x
2
1 + 2a12x1x2 + a22x

2
2.

�� 
�����
��� %	���� ��
���� ����	�������$ ����

A =

⎡
⎢⎢⎣
λ1

λ2
O

O
� � �

λn

⎤
⎥⎥⎦ ,

��#�� '�2��(���� ����"���

F = λ1x
2
1 + λ2x

2
2 + · · · + λnx2

n.


�����
��� %	���� ���� �� �� ��	���� ��
�
	���	 �����

������$ E ��
����� n����)	��������� �������$ e1, e2, . . . ,

en �� ������� 	��	�	��������� ��)����$  	�	 A �� �������

#� �	����� ����#��"������ 	&���
	���$ �	���� ��
����

�"��#��� ��)��#� ���� '�2��( 
�����
��� %	���� ����
���

��� ��
����� ��

x = (x1, x2, . . . , xn) ∈ E,

y = Ax = (y1, y2, . . . , yn) ∈ E,

��#�� '� � '1��((

yi =

n∑
j=1

aijxj (i = 1, 2, . . . , n).



�	�

������

(Ax, x) = (y, x) =

n∑
i=1

yixi =

n∑
i=1

( n∑
j=1

aijxj

)
xi =

=

n∑
i=1

n∑
j=1

aijxixj = F (x1, x2, . . . , xn).

�������$ �	���� 
�����
��� %	��� #��!���� ����	������

�	�

F = (Ax, x) '�2��(

�� ��$ ����� A ���
����� ����#��"������ 	&���
	����


�����
�� %	������� ��
��#������� !������� ��	����

�� ����$ �	� ������� ���
����� ���������� �� %	��� �����

����	� ������������ ���
�� '���� 
��	��
��( �� �)��

�����
��	�$ �	�	� ������� 
�����
��� %	��� ������

�� ��%��� ���������� #��� ����#�� ������$ �	�� �����

������� ���������⎧⎪⎪⎨
⎪⎪⎩

x1 = p11y1 + p12y2 + · · · + p1nyn,
x2 = p21y1 + p22y2 + · · · + p2nyn,
. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
xn = pn1y1 + pn2y2 + · · ·+ pnnyn.

'�2��(

�� ����������

P =

⎡
⎢⎢⎣

p11 p12 . . . p1n

p21 p22 . . . p2n

. . . . . . . . . . . . . . . . . .
pn1 pn2 . . . pnn

⎤
⎥⎥⎦ '�2�2(

��
���� 	��	�	�������$ ��#�� ������� '�2��( ����������

��	���� 	��	�	�������



�	�

������$ P �� ��%��� ����������$ �	���� ��
���� �	���

��� 	��	�	�������� ��)��#� ���� P ��
����� ��#�� x = Py

��

F = (Ax, x) = (APy,Py) = (P∗APy, y),

���� ������� '�2��( ���������� '�2��( 
�����
��� %	���

����������

F = (P∗APy, y) '�2��(

�� �)�� ������ ����#��"������ P∗ 	&���
	��� ��
����

	��	�	�������� ��)��#� P ��
����� 
����&	���������$

���
	� '�2��( 
�����
��� %	���� B ��
���� �	����� '�2��(


�����
��� %	���� A ��
�������� ��
��#�������� 
	�	�

���

B = P� A P .

������ �	���� ����
����� A ��
���������� �����	�� �����

	��	�	������ P ��
����$ �	� P� AP ��
���� ����	�����

��� '��	���� ���1(� ������ ���	�������	�� #������ ���#����

�	���� ���������

������� �"��� �����	 ���������	 ����� �������

��������	 ������
����	 �������
	� ��	���
��� ��
�
	���

�������

�������$ ���������� 
�����
��� %	���

F (x1, x2, . . . , xn) =

n∑
i=1

n∑
j=1

aijxixj

������� 	��	�	������ ���������� ����������

Φ(y1, y2, . . . , yn) =

n∑
i=1

λiy
2
i



�	�

�� �)�$ ����� λi (i = 1, 2, . . . , n) ��� ���� ����	������ 
����

��
��� %	���� ��
����� �� ���������� ���
	����� %�������

���
�	��� 
�����
��� %	���� 
��	��
��� �� � ����� ��

�����)"����� �� ����� ����� �� �����)"������ � 	�	�

�������� �� ����	%��� '�� #���������� ������	����( λi


	�%�����
���� ��� �� '���� 	
���		� ��
�
	(� ������	����

λi 
	�%�����
���� ��	���	��� ��	���� ���������	 ����	�

��
�	� 
�����
��� %	���� ����� �� %	���� ��
����� ������


	���� �

��
��
�
 �"��� ��������	�

F (x, y) = 8x2 + 8xy + 2y2 '�2�<(


�����
��� %	��� 
��	��
�� �� �)��

∇ �� a11 = 8$ 2a12 = 8$ a22 = 2$ ���
	� a12 = a21 = 4 ��


�����
��� %	���� ��
�����

A =

[
8 4
4 2

]
.

������ ∣∣∣∣8 − λ 4
4 2 − λ

∣∣∣∣ = λ2 − 10λ = λ(λ − 10),

���
	� �� ���������� ���
	����� %������� λ1 = 0$ λ2 = 10�

�������$ ������� 	��	�	������ ���������� '�2�<( 
����

��
��� %	��� ����������

Φ(x′, y′) = 0(x′)2 + 10(y′)2 = 10(y′)2


��	��
�� �� �)�� ��&	�	� �"��#���� 	��	�	������ P ����

������� ���1 ��	����� ���

�������� '� � ������� ��	����



�	�

���4 �� #����� ����( ���	�������	��$ �	� �� ���������� P

��
���� ���� ������� �	������ 	��	�	��������� e1, e2

��)������ A ���������� ��
������ ���
	��������� #�������

	��	�	�������� e′1, e
′
2 ��)��)� ��������� ��
����� λ1 = 0

�� λ2 = 10 ���#����	����� #��������� ��
������ ���
	�����

e′1 = (t,−2t) �� e′2 = (2t, t)$ t 	= 0 '� � �������� ����(� ������

|e′1| = |e′2| =
√

t2 + 4t2 = t
√

5 ,

���
	� 	��	�	��������� ��)���� ����"���� ���� ���"	�

t = 1√
5
'�� t = − 1√

5
($ ���� e′1 = ( 1√

5
,− 2√

5
)$ e′2 = ( 2√

5
, 1√

5
) ��$

#����������$ {
e′1 = 1√

5
e1 − 2√

5
e2

e′2 = 2√
5
e1 + 1√

5
e2.

�������$

P =

[ 1√
5

2√
5

− 2√
5

1√
5

]
�� ������� ��!������ 	��	�	������ ����������{

x = 1√
5
x′ + 2√

5
y′

y = − 2√
5
x′ + 1√

5
y′.

#����#�	�$ �	� '�2�<( 
�����
��� %	���� ������� 
��	�

��
�� �� �)� #��!���	�� ������� ����� 
�����
�� ���	�	�

%��*

F (x, y) = 8x2 + 8xy + 2y2 = 2(4x2 + 4xy + y2) = 2(2x + y)2.

�� #��	��"��� �"��#����{
x′ = 2x + y

y′ = y,
'�2�4(



�	�

����"��� 
�����
��� %	���� 
��	��
�� �� ��

Φ(x′, y′) = 2(x′)2.

'�2�4( ���
���#� ��	�� 
	�	�� �"������ ����������� � 	�

�	� ���� ���������������$ �	� ������� ���������� ��
���

�� ��	� ����������������� �
#����#�	�$ �	� ��	�� ����� �����

Ax2 + 2Bxy + Cy2 + Dx + Ey + F = 0

(A2 + B2 + C2 	= 0)
'�2��(

)	���� ���
	����� '� � ���� I$ '����(( &������ ���� #���
�

����� 7��� Ax2 + 2Bxy + Cy2 ����	������ 
�����
�� %	�

����� ������ ���	�������$ �2�� ��	����� ��%�!���)� �����
��

���$ �	� '�2��( �� �� �	���� ���
	���� ������� ���
�����

	��	�	������ ����������$ �	����� 
		�����
�� ���
��

��� �	�������� 
	�%���� '� � ��	���� ���2($ #��!���� �����

����	�

A′x′2 + C ′y′2 + D′x′ + E ′y′ + F ′ = 0 '�2�1(

�� �� ���
	����)�$ �	����� �� #������ ��������� ��������

(B′ = 0)� ����� � ���$ ��"����� '�2�1( ���
	���� �������

x′ = x0 + x′′$ y′ = y0 + y′′ �� �� ���������� '�	����� 
	�

	�����
�� ���
���� &��������� ����
���� 
	�%����( #��

�!���� ��������	� 
��	��
�� �� �)� '� � §����(�
����	������$ ��	�� ����� )���&����

Ax2 + By2 + Cz2 + Dyz + Exz + Fxy+

+Kx + Ly + Mz + N = 0 '�2���(



�	�

���
	����� '� � ���� �$ '�����(( &������ ����� #���
����� 7���

Ax2 + By2 + Cz2 + Dyz + Exz + Fxy

����	������ 
�����
�� %	����� ���
	� ������� 	��	�	�

������ ���������� '
		�����
�� ���
���� �	��������( ��

&��������� ����
���� '�2���( ���
	����� ���������� 
��	�

��
�� �� �)��



��	

��������
 �� ��	���
����


����� ��%��� A : R3 → R3 ��������� �	����� A ��
������

�&	��� x ∈ R3 ���
	��� Ax �� � �� ���������� ��	�$ ��

�( x = (3,−1, 1), A =

⎡
⎣2 −1 −3

2 4 1
3 −1 5

⎤
⎦ ;

�( x = (1,−1, 2), A =

⎡
⎣3 4 −3

2 1 0
1 2 4

⎤
⎦ ;

�( x = (2,−1, 0), A =

⎡
⎣1 −3 2

1 4 1
2 5 −1

⎤
⎦ ;

�( x = (−3, 2, 4), A =

⎡
⎣3 0 −1

4 2 4
3 1 1

⎤
⎦ .

����� ��%��� A : R3 → R3 ��������� �	����� A ��
������

�&	��� R3 ������� �� x ���
	��$ �	����� �� ��� ��� ��	�

���� ��� y ∈ R3 ���
	�)� '���� ����� x ∈ R3$ �	� Ax = y($

��

�( y = (1, 14,−7), A =

⎡
⎣1 2 1

3 −5 3
2 7 −1

⎤
⎦ ;

�( y = (−1,−7, 2), A =

⎡
⎣2 −4 9

7 3 −6
7 9 −9

⎤
⎦ ;

�( y = (4,−1, 1), A =

⎡
⎣2 1 0

1 0 3
0 5 −1

⎤
⎦ .



���

�( y = (15, 15, 36), A =

⎡
⎣ 7 2 3

5 −3 2
10 −11 5

⎤
⎦ .

����� ���	��
����$ ���� �� ��� #������ 
	�	����� �	�

������ ��%��� E ������� A ��������� ��%��� �� �����

���� &��� �� #��� ����#� �&	��� #��������� ��%��� ������

����� ��
���� ����� ��)��#�$ �	���#�� �	������� x =

(x1, x2, x3) ���
	��� 
		�����
���*

�( Ax = (2x1 − x2 + 2x3, 5x1 − 3x2 + 3x3, −x1 − 2x3);

�( Ax = (x2, −4x1 + 4x2, −2x1 + x2 + 2x3);

�( Ax = (2x1 + x2, x2
2, x3 − x2);

�( Ax = (x1, x2 + 1, x3 + 2);

�( Ax = (x1, x1 + x2, −x1 + x3).

���2� e1, e2, e3, e4 ���� ��%��� E ������� ��)���$ A : E→E

���� ��%��� ���������$ Ae1 = e2 + e3$ Ae2 = e1 + e4$ Ae3 =

e2 + e4$ Ae4 = e1 + e3$ x = (x1, x2, x3, x4)� �&	��� Ax ���
	�

��� 
		�����
����

����� ������$

B1 =

⎡
⎣ 8 −16 9
−6 7 −3
7 −13 7

⎤
⎦ �� B2 =

⎡
⎣ 1 3 2
−2 −1 1
1 2 2

⎤
⎦

���� ��%��� E ������� e1, e2, e3 ��)������ #����������

e′1, e
′
2, e

′
3 �� e′′1, e

′
2, e

′′
3 ��)����)� ��������� ��
������$  	�	

A′ =

⎡
⎣ 1 −18 15
−1 −22 20
1 −25 22

⎤
⎦

���� ��%��� A : E → E ���������� ��
���� e′1, e
′
2, e

′
3 ��)���

#�� �&	��� A ���������� ��
���� e′′1, e
′′
2, e

′′
3 ��)��#��



��


���<� ��	����� ��%��� A : E → E ���������� ��
����

e1, e2, . . . , en ��)��#�� �&	��� �� ���������� ��
���� e′1, e
′
2, . . . , e

′
n

��)��#�$ ��

�( A =

⎡
⎢⎢⎣

1 2 0 1
3 0 −1 2
2 5 3 1
1 2 1 3

⎤
⎥⎥⎦ ,

e′1 = e1

e′2 = e3

e′3 = e2

e′4 = e4

;

�( A =

⎡
⎢⎢⎣

1 2 0 1
3 0 −1 2
2 5 3 1
1 2 1 3

⎤
⎥⎥⎦ ,

e′1 = e1

e′2 = e1 + e2

e′3 = e1 + e2 + e3

e′4 = e1 + e2 + e3 + e4

;

�( A =

⎡
⎣1 −1 0

2 1 −1
0 1 2

⎤
⎦ ,

e′1 = e1 + e2

e′2 = −e2 + e3

e′3 = e1 + e2 + e3

;

�( A =

⎡
⎣1 0 −1

0 1 1
1 0 1

⎤
⎦ ,

e′1 = −e1 + 2e2

e′2 = e2 + e3

e′3 = e1 + e3

.

���4� ����

����$ �	� �����	�� ��������� ��%���

A : R3 → R3 ���������$ �	������ a1 = (2, 3, 5)$ a2 = (0, 1, 2)$

a3 = (1, 0, 0) ���
	���� ����C���� #���������� b1 = (1, 1, 1)$

b2 = (1, 1,−1)$ b3 = (2, 1, 2) ���
	���#�$ �� �&	��� �� ����

������� ��
�����

����� �&	��� ��%����������� ��%��� D = d
dt

	&���
	���

��
���� Pn ������� 1, t, t2, . . . , tn ��)��#��



���

���1� �6�����$ �	� ��	�� ����� 
�����
��� ��
����� ����

������� �( ���� ����� �� �( ���7������ �	�����

[
a b
c d

]
��
�

����)� ����	������ ��%�� ���������� ��	�� ����� 
������


�� ��
����� E(2) ��%�� ������#� �� �&	��� �� ��������

����� ��
������ �� �������

[
1 0
0 0

]
,

[
0 0
1 0

]
,

[
0 1
0 0

]
,

[
0 0
0 1

]
,

��)��#��

������ A : E → E ��������� ������)"����� 
	�	���

Ax = x + x0$ ����� x0 ��%��� E ������� ������	���� ����


	���� ���� �� ��� A ��������� ��%���B

������ A : E → E ��������� ������)"����� 
	�	���

Ax = x0$ ����� x0 ��%��� E ������� %���������� �������


��� �� #��� ����#� ������ ��������� ��%���B

������ #��!���� �� ��� V3 ������#� ��%��� A ��� �� �����

��)"��	� 
	�	���*

�( A�x = �a0 × �x$ ����� �a0 ∈ V3 %���������� ���
	���;

�( A�x = (�a0 · �x)�x$ ����� �a0 ∈ V3 %���������� ���
	���;

�( A�x = |�x|�x B

������ ��	����� A�x = �a0 × �x 
	�	��� �����)"�����

��%��� A : V3 → V3 ���������� '� � �����7�#	 ��� ��( ��
�

���� �i,�j,�k ��)��#�$ �� �a0 = (1, 1, 1)�

����2� �&	��� Ax ���
	��� 
		�����
���$ ����� x =

(x1, x2)$ A = Aπ
4

+ I 'Aπ
4

���� π
4


�� �� �	�������� 	&��

��
	��$  	�	 I 3 ������� 	&���
	��(�



���

������ ������$ A : R3 → R3 �� B : R3 → R3 ��%���

������������$ x = (x1, x2, x3) ∈ R3$

Ax = (y1, y2, y3), Bx = (z1, z2, z3),⎧⎪⎨
⎪⎩

y1 = x1 − 2x2 + 3x3

y2 = 4x1 − x2 + 5x3

y3 = 3x1 − 2x2 + x3

,

⎧⎪⎨
⎪⎩

z1 = x1 + 3x2 − x3

z2 = 2x1 − 4x2 + 5x3

z3 = 3x1 − 2x2 + 8x3

,

�&	��� (2A + 3B)x�

����<� ���� �����7�#	� &��	���#�⎧⎪⎨
⎪⎩

y1 = x1 + x2

y2 = x2 + x3

y3 = x1 + x3

,

⎧⎪⎨
⎪⎩

z1 = x1 + x3

z2 = x2 + x3

z3 = x1 + x2

.

�&	��� (AB)x �� (BA)x�

����4� �&	��� A2
ϕx ���
	��� 
		�����
���$ ����� x =

(x1, x2) ∈ R2$  	�	 Aϕ : R2 → R2 ���� ϕ 
�� �� �	��������

	&���
	���

������ A �� B ���� A : R2 → R2 �� B : R2 → R2 ��%���

	&���
	����� ��
������ #���������� e1 = (1, 2)$ e2 = (2, 3)

�� e′1 = (3, 1)$ e′2 = (4, 2) ��)����#�� �&	��� A+B 	&���
	�

��� ��
���� e′1, e
′
2 ��)��#�$ ��

A =

[
3 5
4 3

]
, B =

[
4 6
6 9

]
.

����1� A =

[
1 −2
2 −4

]
���� ��%��� A 	&���
	��� ��
�����

�&	��� 2A2−3A+4I 	&���
	��� ��
����$ ����� I �������

	&���
	����



���

������ #���	���� DA−AD = λA 
	�	��$ ����� D �� A

���� %������� #���������� ������	���� �� eλt�)� ���������

��� ��%��� ����������� ������� ����	���� %�������� ��%��

������#��

������ �6�����$ �	� ������������ Pn ������#� Dn+1 = O$

����� D ���� ������	���� 	&���
	���

������ ����

����$ �	� Rn ������� ��%�� �����������

�������� #�
������ �� ��� �)� ����������� 	&��������� ���

���� ����� ��%�� ������� �� �&	��� �� ������� ���)	�������

������ ��%�� ������#�$ �	���� ��)���� e1, e2$ �	�������

��%��� A 	&���
	��� �&	��� #���������� A−1 	&���
	���

��
����$ ��

Ae1 = e2, Ae2 = e1.

����2� ��%��� A : R2 → R2 	&���
	�� �	������� 
	�

�	���* ∀(x1, x2) ∈ R2

A(x1, x2) = (x1 + x2, 2(x1 + x2)).

�����	�� �� ��� #���������� A−1 	&���
	��B

������ ���	��
����$ ���� �� ��� 	��	�	�������� ��)��

�#� A ��
����� �	������ ��%��� A ��������� ����#��"�

������ �� 	��	�	������*

�( A=

⎡
⎣ 3 2 −1

2 1 −4
−1 −4 3

⎤
⎦ ; �( A=

⎡
⎣−1 2 3

2 4 2
3 2 5

⎤
⎦ ;

�( A=
1

3

⎡
⎣ 2 2 −1

2 −1 2
−1 2 2

⎤
⎦ ; �( A=

1

2

⎡
⎣ 1 1 −√

2

1 1
√

2√
2 −√

2 0

⎤
⎦ ;



���

�( A=
1

3

⎡
⎣ 2 −1 2

2 2 −1
−1 2 2

⎤
⎦ ; �( A=

1

4

⎡
⎣ 3 1 −√

6

1 3
√

6√
6 −√

6 2

⎤
⎦ ;

)( A=
1

2

⎡
⎣ 1 −√

2 −1

1
√

2 −1√
2 0

√
2

⎤
⎦ .

����<� A ���� A : R3 → R3 ���������� ��
���� e1 =

(1, 0, 0)$ e2 = (0, 1, 0)$ e3 = (0, 0, 1) ��)��#�� �&	��� A∗x$
����� x = (x1, x2, x3)$ ��

�( A =

⎡
⎣2 −1 0

3 2 1
4 1 2

⎤
⎦ ; �( A =

⎡
⎣ 3 2 −1

4 1 2
−1 3 1

⎤
⎦ ;

�( A =

⎡
⎣−1 1 1

1 1 −1
−1 2 1

⎤
⎦ ; �( A =

⎡
⎣ 1 −2 3
−3 2 −1
1 3 2

⎤
⎦ .

����4� A ���� ��%��� A : Rn → Rn ���������� ��
����

e1, e2, . . . , en ��)��#�� �&	��� #��"������ A∗ 	&���
	���

��
���� ����� ��)��#�$ ��

�( A=

[
1 2
1 −1

]
, e1 = (1, 0), e2 = (1, 1), n = 2;

�( A=

⎡
⎣1 1 3

0 5 −1
2 7 −3

⎤
⎦, e1 = (1, 2, 1), e2 = (1, 1, 2),

e3 =(1, 1, 0), n = 3.

������ ������������ P2 ��%�� ������#� �
������� ����

����� �	������� 
	�	��� (f, g) = a0b0 +a1b1 +a2b2$ �����

f(t) = a0+a1t+a2t
2$ g(t) = b0+b1t+b2t

2� �&	��� ������	����



���

D = d
dt

	&���
	��� #��"������ D∗ 	&���
	��� ��
����

#����� ��)��#�*

�( 1, t, t2; �( 1, t, 3
2
t2 − 1

2
.

����1� ����

����$ �	�

�( (A∗)∗ = A; �( (A+B)∗ = A∗+B∗; �( (AB)∗ = B∗A∗.
������ ����

����$ �	� AA∗ �� A∗A ����#��"������

	&���
	������

������ ����

����$ �	� �� A �� B ����#��"������

��%��� 	&���
	�����$ ��#�� AB + BA 	&���
	��� �����

#��"������ �������

������ ����

����$ �	� 	�� ����#��"������ A �� B

	&���
	����� �������� ����#��"������� ��#�� �� � 	�	�

��#��$ �	�� AB = BA�

������ ����

����$ �	� �� ��%�� A : V3 → V3 	&��

��
	�� ���	���� �a ���
	�� ����C���� ����� %����������

����
��� ������ ����
���� �b ���
	�#�$ ��#�� �� 	&���
	��

	��	�	��������

����2� α�� �� ���#����	�������� ������ Ax = αx 
	�	���

�����)"����� 	&���
	�� 	��	�	������B

������ ������ �� ��� ��%��� Ax = −x1e1 + x2e2 + x3e3 +

x4e4 ��������� 	��	�	������$ ����� x = x1e1 + x2e2 +

x3e3 + x4e4 �� e1, e2, e3, e4 	��	�	��������� ��)����B

����<� �&	��� A ��
����� �	������ ��%��� A ����������

�����$ ���������� ���� �� ���� ���)	�	����*

�( A =

⎡
⎣3 −1 1

2 0 −1
3 1 1

⎤
⎦ ; �( A =

⎡
⎣1 −1 −1

1 4 2
3 7 3

⎤
⎦ ;



���

�( A =

⎡
⎢⎢⎣

1 4 1 0
2 1 −1 −3
1 0 −3 −1
0 2 −6 3

⎤
⎥⎥⎦ ; �( A =

[
2 4
−1 −2

]
;

�( A =

[
1 −1
2 3

]
; �( A =

⎡
⎣ 1 2 −3

2 4 −6
−3 −6 9

⎤
⎦ .

����4� ��	 ����� 	&���
	���� ���
	���� Ax = b$ �����

b ∈ R3$  	�	 A : R3 → R3 ���� A ��
����� �	������

��%��� ���������*

�( A =

⎡
⎣2 1 −1

1 −2 2
7 1 −1

⎤
⎦ , b = (5,−5, 10);

�( A =

⎡
⎣4 2 3

2 8 −1
9 1 8

⎤
⎦ , b = (−2, 8, 0);

�( A =

⎡
⎣1 2 −4

2 1 −5
1 −1 −1

⎤
⎦ , b = (1,−1,−2);

�( A =

⎡
⎣1 2 3

2 3 4
3 4 5

⎤
⎦ , b = (−4, 1, 6).

������ #���	���� %���C	���� ��	���� ����4 �����7�#	#�

��� ����� 	&���
	���� Ax = b ���
	����������$ ���� �6�

�����$ �	� b ∈ R3 ���
	�� ���� #��"������ �������	����

A∗x = θ ���
	����� ����� ��	�� ���� 	��	�	�������



���

����1� �&	��� A ��
����� �	������ ��%��� A ����������

��
������ ���
	���� �� ��
������ ���#����	����*

�( A =

[
6 −4
4 −2

]
; �( A =

[
3 0
1 1

]
;

�( A =

[
8 6
6 17

]
; �( A =

[
1 1
0 1

]
;

�( A =

[
3 0
0 3

]
; �( A =

⎡
⎣ 2 −1 2

5 −3 3
−1 0 −2

⎤
⎦ ;

)( A =

⎡
⎣ 0 1 0
−4 4 0
−2 1 2

⎤
⎦ ; �( A =

⎡
⎣ 2 −1 1
−1 2 −1
0 0 1

⎤
⎦ .

���2�� ������$ x = (x1, x2) ∈ R2� �&	��� Ax = (5x1 +

4x2, 8x1+9x2) 
	�	��� �����)"����� ��%��� A ����������

��
������ ���
	���� �� ��
������ ���#����	�����

���2�� �&	��� ���
	��� OZ "��!�� ���#��	 π
3

�� �� �	�

�������� ��%��� A : V3 → V3 ���������� ��
������ ���
	�

���� �� ��
������ ���#����	�����

���2�� ���	�� �� ��%��� A−1 ���������� �� ����������

%������ ��%��� A ���������� �� ���������� λ %������� ��#��

�������

���2�� �&	��� #������ &��	����� �����)"����� ��%���

A : V3 → V3 ���������� ��
������ �a ���
	���� �� ��
���

���� λ ���#����	����*

�( A�x = α�x$ ����� α %���������� �������� ��� ���;

�( A�x = (�x ·�i)�i; �( A�x =�i × �x�



�
	

���22� ��������� �	������ 
�����
��� %	��� 
��	��
��

�� �)� �� �&	��� ������� �� 	��	�	������ ���������$ �	�

������ �� %	��� ��C���� 
��	��
�� �� �)�*

�( 2x2 − 4xy + 5y2; �( 2x2 + 8xy + 8y2;

�( 2x2 + 2xy + 2y2; �( 15x2 + 26xy + 15y2;

�( 6x2 + 5y2 + 7z2 − 4xy + 4xz;

�( 6x2 + 3y2 + 3z2 + 4xy + 4xz − 8yz�



���� ���


���� ����
��
�

����� ��������� �� ��%��� ������� ������� #	��� �����

�	�� ���
����� ����	��� �� ������)�����$ �	� 	���� #��

�� ����#� ����� ������ ����������)� �����)"���� ���
�����

�� �� 	&����������$ �	������ �
���	%������ ���
���� &��

�	����� ����� �������� �����$ ����� �	�	�� ��%��� �����

��� �����$ ��"������ �� �����	 ���������� ���	�	%�� �� ����

)	�������$ �	������ �
���	%����� ����� ������ 	&������

���� ����� �������� 
����
�� �������� ����	������ �	���

���� '����������( ��������� ������������� �������� �����

��������$ ����
����� �� ����
���� 	&��������� ������� �����

��������� ���� ���	������ ���� 
����
�� ���� ������#�$ �	�

������ ��
��#�������� ���	����� 
����
����� �� � �� ���

%��� �	��	���	�������

§�#� 
������	����
 �� �����
	��
 �������%��

�%����


��
	�
��
	 ������ ���# ������� ���� �	��	���	���$ �	�

����� #������ ���
����� �� �� #��������� ������������

�������� �� ������������� #��!���� ��	� ������
���� �	�����

�
�



�



'��	���������$ ������
��� �������( �� ����
�	���� �	��	�

���	���� '����
�	�����
���$ 
���)��
	����$ 
����
	���

��(�

��
	�
��
	 �����#� � �����	��#� ���"��� ������������

� 	�	� 	�� ���	����	�� 3 ,6������- '���� �����( �� ,���

�	�����- '���� �� �����(� ������ �	��� p ����������� #��

�������	� ���#����	�� �$ �� �� 6������� '���� �����($ ��

���#����	�� �$ �� �� ���	������ '���� �� �����( '#��������

���$ �� � ���� �( �� �� � ���� �( (�

�� � ����

	�� p �� q ������������ �������	��� #�������� #��� �

����#� ������ #��������� �	��
���� ���� ���
����� � 	�	�

��#��$ �	�� 	���� ����������� ������ 6������ '�� � ����(�

�� � ����

	�� p �� q ������������ �������	��� #������� �"���#�

���� p∧q ����	�	�� '��"������ ������� �"��#��� p·q(� )��	�

����������� ���	�������	��$ �	� p∧ q�� #������� ���#����	�

�� ������ ���� 
	�� � 	�	� �� #��� ����#�$ �	�� p = 1 ��

q = 1$  	�	 �����6�� #��� ����#� p ∧ q�� ���#����	�� ������

���� 
	��� �� �����%��� #��!���� ���� 	� #������ � �����

'� � � ���� ����(



�
�

p q p ∧ q
� � �
� � �
� � �
� � �

� ���� ����

���� � ���� ��	���� *�����	���	� ���	�	 '� � ������� §�1(�
	�� p �� q ������������ &��������� #�������� #��� �

����#� ������ #��������� �	��
���� ���� �� ���
����� � 	�	�

�� #��� ����#�$ �	�� 	���� ����������� ���	������ '�� �

���2(�

�� � ���2

p �� q �������������� ����� #������� �"���#���� p ∨ q

����	�	�� '��"������ ������� �"��#��� p + q(�

�������$ p ∨ q�� ���#����	�� ������ ���� 
	�� � 	�	�

�� #��� ����#�$ �	�� p = 0 �� q = 0$  	�	 �����6�� #��

�� ����#� p ∨ q�� ���#����	�� ������ ���� 
	�� '� � � ����

����(�

p q p ∨ q
� � �
� � �
� � �
� � �

� ���� ����



�
�

	�� ����������� ���������� #��!���� ��	� #���������

����������� '������
���� �� ����
	������($ �	� ��������

������������ 6������ #��� ����#� ��	�� ����������� ���	�

���	� �� &������$ �������� ������������ ���	����� #��

�� ����#� ��	�� ����������� 6����	�� �� p ���� ����� 	��

�������������� ��������$ ��#�� ��	�� ����������� �"����

#���� p��� '�� � ���<(�

�� � ���<

�"��#���� #��������	�� p �� p ������������� #	��� ��� ��

��� ���4 � ���#��

p p
� �
� �

� ���� ���4

������$ L = {0, 1} �� n ���������� ��
������� ��� ����

f : Ln → L �� �� %�������$ ����� Ln ���� L ���������

��
��
��� n����  ���� � '� � §�($ ��	���� ���	� ��
��	��

�������$ ����� %������ ����

z = f(x1, x2, . . . , xn)

�� �� %������$ ����� x1, x2, . . . , xn, z ∈ {0, 1}�
������ ���	�������$ #��!���� ������$ �	� ������������

��� ����� #�������  ��������� #��������� ����� %�������



�
�

'����� ��#����
	��� � �����(� p∧q �� p∨q �������� #��� ���

��#� n = 2 '� ���� ���� �� ����($  	�	 p ������ #��� ����#�

n = 1 '� ���� ���4(�

p ∧ q$ p ∨ q �� p �� �� ���	�� ������� ��	���� ���	�

��������	 ��� ���	� ������������	�

� �� ����� ��	� ���� �� �))� �	������� ������

�� � ����

p q r p q ∨ r p ∧ (q ∨ r)
� � � � � �
� � � � � �
� � � � � �
� � � � � �
� � � � � �
� � � � � �
� � � � � �
� � � � � �

� ���� ���1

������ ���� ������$ �	� �������������� ���� #�������� #��

���������

p ∧ (q ∨ r)

����� %	������ ����	� �� ������ ��#����
	��� � ���� ��$

��� ������$ ��&	�	� f : L3 → L ����� %������� ����� ���#��

���	�� 'n = 3$ ������ ������ ���� �����������(� ���������

����������	��� ��&	�	� 7�� q∨r��� ���#����	��$ #����� 
�

p∧ (q ∨ r)���� �� �����%��� ���� 	� � ���#� '� ���� ���1(�



�
�

�� � �����

p q r p ∧ q p ∧ r (p ∧ q) ∨ (p ∧ r)
� � � � � �
� � � � � �
� � � � � �
� � � � � �
� � � � � �
� � � � � �
� � � � � �
� � � � � �

� ���� �����

���1 � ������� ���	�������	��$ �	� ���� �� �))� �	�

������� ����� ���� ���
����� � 	�	� 	� #��� ����#�*

�� �����	���� 6������� p �� r ����������� '���1

� ����� ���< �� ���� �
���	��(;

�� �����	���� 6������� p �� q ����������� '���1

� ����� ���4 �� ���� �
���	��(�

� �� ����� ��	�

(p ∧ q) ∨ (p ∧ r)

����� %	������ #��������� ����� ���$ �	
���$ (p∧q)∨(p∧r)

����� '�� � �����(� �� #�������� �� ������ #�������� ��#�����


	��� � ���� '� ���� �����($ ������ ���$ �	� �� � �����

�	�	 ���
� ��� ���� p ∧ (q ∨ r) ������ ��#����
	��� ���1

� ����� �	�	 ���
�� �� ��#����$ �	� �� 	�� ����� ��#�	��



�
�

��������� �� ���� ���������� �
�������
���� ���� #��������

��� p∧ (q ∨ r) �� (p∧ q)∨ (p∧ r) ����� %	������� ��	����

�
�������
��� %	��������

)	�����$ ���	� �� �������� ������� ���	����
���	$

�� ���� #��������� ����� %�������� ���������� 
	����

��	���
�� �#��� ����

����$ �	� �"��#���� ��������

��������� ����	������ �
�������
	��� ���������� '� � §�(
����� %	�������� ��������)��

�� %��
�$ �	� u �� v �
�������
��� %	��������$ �"���

#����� ���

u ≡ v.

�������$ #����!��� ������	�

p ∧ (q ∨ r) ≡ (p ∧ q) ∨ (p ∧ r).

#����#�	�$ �	� ��

u1 ≡ v1 �� u2 ≡ v2,

��#��

u1 ≡ v1, u1 ∧ u2 ≡ v1 ∧ v2, u1 ∨ u2 ≡ v1 ∨ v2.

���� #���������� #�����#� u ≡ v �
�������
	��� #��� ����#�

�����
��������� ������� u = v '�� ����� u �� v %	������

�	������ #��������� ������ #������� ���� �
�������
���

�������$ ���� ����� &��	���� 
	�	�� �� ����"����(�

�� #���� ����� ��%�!���)� #��!���� ������$ �	� ����� ����

�� %	�����$ �	���� #��������� ����� %������ "����	��

� 	�	� ���� 
	� ���#����	���$ ���������� 
	���� �����

����� %	����� �"���#�	� f ��	�� 'DEF@? ���������� ��#����

������(�



�
�

����	������$ t��� �"���#�	� ����� �� %	�����$ �	��

��� #��������� ����� %������ "����	�� � 	�	� ���� 
	�

���#����	��� 'GHIGJ ���������� ��#���� ��#����
�(�

���������$ ���������� p�����

p ∧ p = f, p ∨ p = t.

§�$� ��	�
�
 �
���	���� ��
��������

���� ���	� ���������� ������������$ ����
�����$ � ��	���

�� ����
���� 	&���������

A �� B �	��������	� ��
������ ��	���� ����� �� �������


�� ���������$ �	����� �����	���� �
������ �	�	�� A

��� B ��������� '�� � �<� � �((

A ∩ B = {x | x ∈ A �� x ∈ B}.

�� � �<��



�
�

A �� B �	��������	� �����	�
��� ��	���� ����� �� ����

���
�� ���������$ �	����� �
������ A �� B ��������������

�������� ����� '�� � �<�� �((

A ∪ B = {x | x ∈ A �� x ∈ B}.
A �� B �	��������	� ������� ��	���� A ��������� �����

�� ������
�� ���������$ �	����� B ��������� �� �
������

'�� � �<�� �((

A \ B = {x | x ∈ A �� x /∈ B}.
)	������ 
	�
��
��� ��
�� �� #���������� ��)��#��	�

����� ����� U ��������� #��	"���$ �	����� ���������������

�� �� #������ �� ��
�� ��� ��
��#������ ����� ����������

���� U ��������� ��	���� �
	��������	 �	������� �������

���$ &������
���#� ���� ����������� ��������� #����!���

����6��	� ����
��� ����� ���
���� ���������

������$ U ������������ ���������� U \ A � ��	��� ��	�

���� A �	�����	� �������� U �	�������	 �� �"���#���� A ��

A′ ����	�	�� '�� � �<�� �((

A = U \ A (A ⊂ U).

�� ��� ����� 	&�������� '�����$ �	�	�� � �� ��������

�� 	&�������� ��� �����$ ��
������� �� ���
	����� #��� �

����#�( �
���	%������ ���
���� &��	����� �	��
��	� )	���

���� ����� ���#����	���� ����%���	��*

1. A ∪ A = A, A ∩ A = A '����&	
��	��(;

2. A ∪ B = B ∪ A, A ∩ B = B ∩ A '
	��
�����	��(;

3. (A ∪ B) ∪ C = A ∪ (B ∪ C),



��	

(A ∩ B) ∩ C = A ∩ (B ∩ C) '��	�������	��(;

4. A ∩ (A ∪ B) = A,

A ∪ (A ∩ B) = A '#�������� 
��	����(

5. A ∩ (B ∪ C) = (A ∩ B) ∪ (A ∩ C),

A ∪ (B ∩ C) = (A ∪ B) ∩ (A ∪ C) '���
��������	��(;

6. A ∪ ∅ = A, A ∪ U = U, A ∩ ∅ = ∅, A ∩ U = A;

7. A ∪ A = U, A ∩ A = ∅;

8. (A) = A;

9. A ∪ B = A ∩ B, A ∩ B = A ∪ B '�� �	������ ������(.

�� �	
����� )	������ 
	�	��� ��	��
����� ��
��&���


���� �	�������� �<�� �� �<� � �� �)��)��

�� � �<��

�� � �<��



���

������$ U ���������� ���������� ���������� S(U) ���

��	�	�� �"���#�	� �� ��������� ����� ������������ �������

��$ ����

A ∈ S(U) ⇐⇒ A ⊂ U.

� ����$ �	�

∅ ∈ S(U)

��

U ∈ S(U).

���������� ����
�����$ ������������ �� ����
���� 	&������

��� #����!��� ����� ��	� �	�	�� S(U) ��������)� ������

)"����� 	&���������

���� &�����%#� 6��� �����

���� 
	�	�� '�%�	 )��
��$

�
�������
	��(

p ∧ (q ∨ r) = (p ∧ q) ∨ (p ∧ r).

������ ������� ����%���	��$ �	�	�� �
�� �"���#���$ �������

������ ������������������* ���������� A, B �� C ���������

������

A ∩ (B ∪ C) = (A ∩ B) ∪ (A ∩ C).

�"�	6���$ �	� ����� ����%���	��$ �	����� ��
��#����

����� ������������ ����
����� (∩)$ ������������ (∪) �� ���

��
���� ( ) 	&����������$ ������� ��#����
� ������ �����

%	���������������$ �� ∩$ ∪ �� 	&��������� ����	�	���

#������� #���������� ∧$ ∨ �� ����	�	����$ ������ ∅ ���

������� 3 f %	������$  	�	 ����������� U ��������� 3 t

%	�������



��


��	����	� ����� �� �� ����%���	���� '#������� �������

���� �������� 	&��������� ���������(*

1. p ∨ p = p, p ∧ p = p;

2. p ∨ q = q ∨ p, p ∧ q = q ∧ p;

3. (p ∨ q) ∨ r = p ∨ (q ∨ r), (p ∧ q) ∧ r = p ∧ (q ∧ r);

4. p ∧ (p ∨ q) = p, p ∨ (p ∧ q) = p;

5. p ∧ (q ∨ r) = (p ∧ q) ∨ (p ∧ r),

p ∨ (q ∧ r) = (p ∨ q) ∧ (p ∨ r);

6. p ∨ f = p, p ∨ t = t, p ∧ f = f, p ∧ t = p;

7. p ∨ p = t, p ∧ p = f ;

8. (p) = p;

9. p ∨ q = p ∧ q, p ∧ q = p ∨ q.

�"���#�	�$ �	� ���	� ���	 ������	��
 �	� ���	����



��� ��������� �������	����	� ������	�	� �������	 ���


���	� �������
� ��
	�
��	 �������	� ������
��	��

���������$ ������

p ∧ (p ∨ q) = (p ∧ p) ∨ (p ∧ q) = f ∨ (p ∧ q) = p ∧ q

'�� ����������	��� ����������� ����$ ���4 �� ���< 
	�	�

�����($ ���
	� p∧ (p∨ q) %	����� p∧ q %	������ �
�������

�
����$ ����

p ∧ (p ∨ q) = p ∧ q.

&���
�
��� ���	������� ������)����� �� ��#����$ �	� �<�2

�� �))� ����	������� ����� #��!���� #������	� �<�� �� �))�

�	������� ������*
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�� � �<�2 �� � �<��

�������$ ������ �����)�� ��#������� �	������ ����� 6���

���������� ��� �
�������
�� �%�	 ���
�� �� #����������

�%�	 ������	 �����)��
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���


���� &������%#� 6��� �"���#���$ �	� ���������� ��������

��� ��������� ������������� S(U) ��������)� �� ����� %	�

������� ��������)� '����� %	������� 
	�	�� ��#���� ���

�
�������
	���( �����)"���� 	&�������� ���� �������� ����

������� #��!���� �	������	� ����� ������������ � �� �������

������ �� #���������� �� �� �� ����������� )	�����$ ������

��� ������$ �� ��� ����	������� �� ��������� ������
��� 3

��������������$ %	�������$ ��� ���� �� � �� ������� 	�����


����

��������� M ��������� ��	���� ���	� ��������∗ �� M

��������)� �����)"������ 	�� �������� ∧ �� ∨ �� ����

������� 	&������$ �	������ #����� #��� &��	��� '�����

	���( �
���	%�����*

1. a ∨ a = a, a ∧ a = a '����&	
��	��(;

2. a ∨ b = b ∨ a, a ∧ b = b ∧ a '
	��
�����	��(;

3. (a ∨ b) ∨ c = a ∨ (b ∨ c),

∗���� ��
� ������� ����� ! ���
�	�
� ��������"�	� �#$#%!

#$&'� 



���

(a ∧ b) ∧ c = a ∧ (b ∧ c) '��	�������	��(;

4. a ∧ (a ∨ b) = a, a ∨ (a ∧ b) = a '#�������� 
��	��(;

5. a ∧ (b ∨ c) = (a ∧ b) ∨ (a ∧ c),

a ∨ (b ∧ c) = (a ∨ b) ∧ (a ∨ c) '���
��������	��(;

6. M ��������#� �����	�� ����� 	�� � �� � ������
�$

�	� ∀a ∈ M

a ∨ 0 = a, a ∨ 1 = 1,

a ∧ 0 = 0, a ∧ 1 = a '���
�����	��� 
��	��(;

7. a ∨ a = 1, a ∧ a = 0 '����
���� 
��	��(.

������� ∨ 	&������� ��	���� �	�	�
��	� '7���$ �������

�����( �� �
�� ��� �	�	�� ,��-$ ������� ∧ 	&������� ��	�

���� ��
	�
��	� '��������$ ����
����( �� �
�� ��� �	�	��

,��-$  	�	 ������ 	&�������$ �	������ �"��#����� �����

��� ′ ����	�	��$ 3 ������� '����
���( �� �
�� ��� �	�	��

,���-�

���
�	�� �� ����� ����	�� �� ���� ���	�
������� '�����

�����$ &������ ����	�� ����	������ �����6��� ����	�����

#�����(� �
���
�	�� �� ����#����� � �� ����	��
�
��� �
�"����#�����$ �	� �	������� ����	������� ���	��������

	�� ���#����	���� ����%���	����*

a ∨ b = a ∧ b, a ∧ b = a ∨ b.

��������� M ���������$ �	���������� #�����������

&������ 	� � ����	��$ �����	 ��	����� ������ ��	���� �	��


�	���	��	$ �� #����������� ���� ����	����



���

������$ M ����� �������� '�� ������( �� a, b ∈ M � ���


����$ �	� a ≤ b$ �� a ∨ b = b$ ����

a ≤ b ⇐⇒ a ∨ b = b. '�4��(

��	���
�� �'��� ����

����$ �	� '�4��( ����� #��	"��

���� �������� ,≤- ��������� ��%�������$ 
���)�
��� ��

��
�����
������ '� � §�(�
������ ���	�������$ �����	 ���	� ������� �� �����	 ��


	 ���� ��
�	�	��� ������ 
��	����	� ���������	 �	����


��� ������ 0∨1 = 1 '����	�� <($ ���
	� 0 ≤ 1� ����� �������

���

������$ �	� ∀a, b ∈ M

0 ≤ a ≤ 1, a ≤ a ∨ b, a ∧ b ≤ a.

���� #���������� a∨b ������
� �"���#���� sup{a, b} ����	�	�

��$  	�	 a ∧ b ������
� 3 inf{a, b} ����	�	���

�	���� ������� �����	���� ���������� �������� #��

�!���� ���	��� 	� 	����
������� ���%�� ��#������� '� �

§��(� ���������$ �����	���� ���������� M = {a, b, c, d}
��������$ ����� a ≤ b ≤ d$ a ≤ c ≤ d$ ���	��� ��� #������

���%�� '�� � �4��(*

�� � �4��
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�	��
��	� ����� �������� �����������

�� ������	��	 U �	�����	� ����� ����	�����	� S(U) �	


������� 
	�������� �������
	� �	�	�� ���������� ����
�

����$ ��)������� 3 �	�	�� �����������$  	�	 ����	%� 3

�	�	�� ����
���� �� &������%�� ��������#� ��	������ #���

���� ����	�� ������ #���������� '� � §�<(� S(U) ����� ���

������ � ������
� ���� ������� ∅ ��������$  	�	 � 3 ����

U ���������

�� ���	� ��������� �	������ ∧� ∨ �� ������	����


����� '	�� %	������ 
	�	�� ��#���� ��� �
�������
	���(�

�� #��� ����#�� #������ ����	�� #����������� '� � §�<(� ��

����� �������� � ������
� ���� f %	�����$  	�	 � ���� t

%	����� '� � §��(�
�� �������
�	�
	 L = {0, 1} �	������� �� ����#����$ �	�

0 ∨ 0 = 0, 0 ∨ 1 = 1 ∨ 0 = 1 ∨ 1 = 1,

0 ∧ 0 = 0 ∧ 1 = 1 ∧ 0 = 0, 1 ∧ 1 = 1,

0 = 1, 1 = 0,

��#�� #������ ����	�� #���������� ������ '#���	����(�

#����#�	�$ �	� ∧$ ∨ �� 3 	&������� #������� ��� ���

�� ��������������� ��
��#������ ����� %��������� ���#��

���	�����

2� 
��	����	� ���������	 M = {a, b, c, d} �	�������

����� a ≤ b ≤ d� a ≤ c ≤ d '�� � �4��(� ����#���$ �	�

a = 0$ d = 1$ b ∧ c = a$ b ∨ c = d� �� #��� ����#� #������

����	�� #������������



���

�� [0, 1] ��
�����	� ����	��� �	������� ∧$ ∨ �� 	&��

������� #��	"������ #�����������* ∀x, y ∈ [0, 1]

x ∨ y = max{x, y}
(
���������

1

2
∨ 1

3
=

1

2

)
;

x ∧ y = min{x, y}
(
���������

1

2
∧ 1

3
=

1

3

)
;

x = 1 − x
(
���������

(1

3

)
=

2

3

)
.

���
���� #����	�����$ �	� #������ ����	�� #������������

�� ����� �������� ���� ���� ��� �� �$  	�	 ������� 3 ���

� �� ��

§�(� �������%�� �%��
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���&


������$ ����&�	��
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��
��� ����#������� ���


	�
��
	 ������ �� ����#������ �� ����$ �	� ��������������

���
����� ���	����	��� #��� ����#� ������ ���� ���
��	�

��$ #����������$ �� ���
��	�� �� #��� ������ 
�$ �	�	��

��	�����$ �"������� ��#����
	��� � ������� ��$ ��� ����

���$ ����� %��������� ��#��������

������� ��	���� ������
�
���� #��!���� 6��	�������	�

#�����������* �
��	�	 ���	� ��
��		� �	����	� ������ ��


�	� �������	�	 ��������

#����#�	�$ �	� ����� ���������� %������������ #��!���

�� ����	� ����� #��������� %	�����$ ������ ����� %	�����

����� �� �����)"����� �� ���� '����� ����� %	����� ���

���� ���������� �
�������
���(�

����� ��	� #��� ����$ �	�� ����� %������ "����	��

���� 
	� ���#����	��� � 	�	� ��� ���
��#� '�����6�� ���

�
����#� �� ���� 
	���(�



���

��
��
�
 �(��� ������$ ����� f : {0, 1}3 → {0, 1} %��

����� �	������� #�����������*

f(x1, x2, x3) =

{
1, �� (x1, x2, x3) = (0, 1, 0),

0, �� (x1, x2, x3) 	= (0, 1, 0).

����	� �� %������� #��������� ����� %	������

∇ ����� �������#� '� � §�4(
x1 ∧ x2 ∧ x3 = 1 ⇐⇒ x1 = x2 = x3 = 1.

������ ���	�������	��$ �	�

p ∧ q ∧ r '����(

%	������ ���#����	�� ������ ���� 
	�� � 	�	� �� #��� �

����#�$ �	�� p = 0$ q = 1$ r = 0� �������$ p ∧ q ∧ r ����

��!������ '��������( ����� %	������ �
)	��� #��� ����#� �	������ ����� %������� #���������

����� %	����� #��!���� ���	� �	�	�� '����( �� �� %	��

������� ��)�������� ������� ��
��#������ ����� ��	� 
	�
�

��
��� ���������

��
��
�
 �(��� ����� %������ �	������� ���� � �����

x1 x2 x3 f(x1, x2, x3)
� � � �
� � � �
� � � �
� � � �
� � � �
� � � �
� � � �
� � � �

� ���� ����



���

����	� �� %������� #��������� ����� %	������

∇ ���	��	� �� � ����� �� �
���	����$ ����� f %����

���� ���#����	�� ���� ���� 
	��� �� ���� � ����� ��	��

�� ������� �
���	��� �����$ �	�	�� ���� ��������� #��� ���

��#�$ ����	� �� �
���	����� #��������� ����� p ∧ q ∧ r ��

p∧ q∧ r �������������� ��!������ ����� %	����� ����	���

���� �� �������������� ��)��������*

F (p, q, r) = (p ∧ q ∧ r) ∨ (p ∧ q ∧ r). �

#����#�	�$ �	� ����� %	������ �"��#��� %	���� ��	�

���� �	�	�
��	��	 
�������	 ������

������� �(� � ����%��#� ���� ������� �� 	�� p �� q

�����������$ ���� ����%��� ��� �	�	#�$ ��	�� 3 ��	��

�	�	#�� ����	� ��
	�
��
	 �����$ �	����� �)�������	%�

#������ &��	����� #���������*

�� �� ������ 6��������$ ��#�� ���������� ������������

���	����	��� #������ #��� ����#� '���� ���� 6��������$ �� ��

��	 ���	�����$ �� ���	�������$ �� �� ��	 6������( ������

�������;

�� �� ������ ���������$ ��#�� ���������� ������������

���	����	��� #������ #��� ����#� ������ 6�������

∇ ����	� #��������� f(x1, x2) ����� %������� ������ ���

�	����	��� ���"	�$ ��������� x1 = x2 = 0 �� f(0, 0) = 0�

��	����� &��	����� ��������������� �������� #������ � ���

��



��	

x1 x2 f(x1, x2)
� � �
� � �
� � �
� � �

� ���� ����

�� � ����� �
���	���� ���	�� ���� #����� #��� ������*

�� p ����������� ���	������$ q ����������� ���	����

���$ ������ 6��������;

�� p 6�������$ q ���	������$ ������ ���������;

�� p 6�������$ q 6�������$ ������ 6��������;

2� p ���	������$ q 6�������$ ������ ����������

�����$ �	�	�� ���� ��������� #��� ����#�$ ���� � �����

�� ����� ����	� ����� ��!������ %	�����

(p ∧ q) ∨ (p ∧ q).

#�������� ��
	�
��
	 ������ ���� #������ �� � '�� � ���� �(�

�� � ����

������

(p ∧ q) ∨ (p ∧ q) = (p ∨ p) ∧ (p ∨ q) ∧ (q ∨ p) ∧ (q ∨ q) =

= 1 ∧ (p ∨ q) ∧ (q ∨ p) ∧ 1 = (p ∨ q) ∧ (p ∨ q),



���

���
	� ������ ��	����� ����
� ������� (p∨ q)∧ (p∨ q) %	�

������ #��������� ��
	�
��
	 ����� '�� � ���� �(� �

§�)� 
������%	���� ��
���� �� �
�
 ��	�
�
 ���
�

��
��������

����
������	 ���� ����� � �	���� ����������$ �	����

������ #��!���� ������� ��
�� � ���� ��#����
	��� �� �����

�	��� #��� ��� ���	�������� �� #��!���� ��	� �����	����

�������
�� �� ��������

����� ��	� ��������� ����������*

�� ,���
�� ���� 
�� ����� 7��� 180◦��� 
	���-;

�� ,5 + 3 = 8-;

�� ,4 + 5 = 10-;

2� ,���������	 ���)"����� �������-;

�� , ��� ������� 
��	#�-;

<� ,x + 2 = 5-�

� ����$ �	� &������ 	�� ���������� ����	������ ���

#����
 ���	��������$ �	�����	 	�� ���������� 3 ����� ���	�

��������$ �� ��� ���������� �����	� �� ���� ���	��������$

���	�������� �� ���� ������� �����������$ ������ �� �������

 ����� x ������� ���#����	���$ �� ���������� ���	����������

����� �� �� ����������� ����	���	 ��	�����

�� p ��#����
� ���	���������$ ��� #��������	� ��� �� �$

 	�	 �� �� ������� 3 ��� �� �� &����� #��� ����#� ��
��

���$ �	� p ���	��������� ��#����
	��� ���#����	�� ���� ����


	��$  	�	 ��	�� #��� ����#� 3 ���� 
	���

������
�
��� �	��
�� ����#����	����� ������� ����	���

����� ���� ���	���	 ����������	 '����	���	(* ¬ ����	%�$ ∧



��



	��������$ ∨ ��)�������$ → ��&��
����$ ↔ �
�����������

�����$ �	�	�� �����
�
�#� ���
��� ��������������� �����

����� ����������$ ������
�
�� �	��
�#� �	������ ���	�

������������� �	��
��� 
��#������ ��#������� #��!���� #��

������	� � ��� ���	���������

����	� �	
��� ���� ��������  ������� �	��
�� 
��#��

�����
¬ ����	%�� p ���	��������� ����	%� �"���#���� ¬p ��

p ����	�	�� �� �
�� ��� �	�	�� ,���

p-�

∧ 
	��������� ���	������� ������� & �"��#���� p∧ q �
��

� ��� �	�	�� ,p �� q-�

∨ ��)�������� p ∨ q �
�� ��� �	�	�� ,p �� q-�

→ ��&��
����� ���	������� ������� �"��#��� ⇒ �� ⊃�

p → q �
�� ��� �	�	�� ,p���� ���	����

����	�� q-$ ��� ,�� p$ ��#�� q-$ ,q ���� p��

���������� &��	��-$ ,p ���� q�� ��
�����

�� &��	��-�

↔ �
����������� ���	������� ������� ⇔ �� ∼ �"��#����

p ↔ q �
�� ��� �	�	�� ,p ��#�� �� � 	�

�	� ��#��$ �	�� q-$ ,p ���� q�� �������

���� �� ��
������ &��	��-$ ,p �
��������


���� q���-�

p p
� �
� �

p q p ∧ q p ∨ q p → q p ↔ q
� � � � � �
� � � � � �
� � � � � �
� � � � � �

� ���� �1�� � ���� �1��



���

��#����
	��� � ��������� '� � � ���� �1�� �� �1��( ���

�	�������	��$ �	�

�� p ����	%� ��#����
�� ��#�� �� � 	�	� ��#��$ �	��

p �������;

�� p ∧ q 
	�������� ��#����
�� ��#�� �� � 	�	� ��#��$

�	�� p �� q ��#����
�� �����	����;

�� p ∨ q ��)������� ������� ��#�� �� � 	�	� ��#��$

�	�� p �� q ������� �����	����;

2� p → q ��&��
���� ������� ��#�� �� � 	�	� ��#��$

�	�� p ��#����
�� �� q ������;

�� p ↔ q �
���������� ��#����
�� ��#�� �� � 	�	�

��#��$ �	�� p �� q �����	���� �� ��#����
�� ��

�������

#����#�	�$ �	� p → q ��&��
���� ������ #�������� ����

������� ���� ������� �������	 ���� ���	������������ ,p����

���	�������	�� q-$ �	����� 
������ �)�� �� #��� ����#�$

�	�� p ��������

�	�	�� �
�� �"���#���$ p → q ��&��
���� ��#����$ �	�

,q ���� p�� ���������� &��	��- ��� ,p ���� q�� ��
������

&��	��-$  	�	 p ↔ q �
���������� ��#����$ �	� ,p ���� q��

���������� �� ��
������ &��	�� �� &������-� ����� ��	����

#��!���� 6��	�������� p → q ��&��
����� �� p ↔ q �
�������

����� �� ���

���������$ �� p ���� ���������� ,�	������ 	� 
���

 ��� &������	������-$  	�	 q 3 ,�	������ 	� 
�� ����

�	&����&��� 
�� ���� 
	���-$ ��#�� p → q ��&��
���� �"�

��#���� ��	�����* ,�� 	� 
�� ��� &������	������$ ��#��



���

���� �	&����&��� 
�� ���� 
	���-� �� ����� ��	�$ r �"���

#���� ����������� ,	� 
�� ���� 	�� ������ &����������

�� 
	��-$ ��#�� p ↔ r �
���������� ����	������ ��	�����*

,���������$ �	� 	� 
�� ��� ��	� &������	�����$ �������

����� �� ��
������$ ���� 	�� ������ ��	� &��������� ��


	��-�

�� #��� ����#�$ �	�� p, q, r, . . . ����	�	��� �"��#����� ���


	�
��
�� ������������$ ������ ���	��������� )	����� ���

����������� �"����#�����$ ��� ������	�	��	 �������	 ��	�

����� 'KHAKA@>G>A ��������� ��#���� �����������$ ���	���

������(� &�	&	)������ ������������� �	��
��� 	&������

���� ��#������� ������ ������	�	��	 ��������	* �( �	����

&�	&	)������ ������ ���� %	�����; �( �� u �� v %	����

�����$ ��#�� u∨v$ u∧v$ u → v$ u ↔ v$ u ������� %	���������

���	��������� �������� %	������ ����� %	����������

���� ������ ���#� ���	� �
���$ �	� �� ∨$ ∧ �� ¬ '��� ���

������ ( 	&��������� ����� ���	������� 
���� 	�� 	&������

→ �� ↔�

u(p1, p2, . . . , pn) %	������ ��#����
	��� ���#����	�� �����

��)"����� ���#� #������� p1, p2, . . . , pn &�	&	)������ �����

����� ���#����	�����$ ���� �����$ �	�	�� ����� %	������

#��� ����#�$ ���	��������� �������� �	��� u(p1, p2, . . . , pn)

%	������ #���������� ����� f : {0, 1}n → {0, 1} %������$

�	���� �	���� #���!������� ��#����
	��� � ����� ��#�����

����

��������� �� �� ����	� u(p, q) = p → (q → p) %	������

��#����
	��� � �����



���

p q q → p p → (q → p)
� � � �
� � � �
� � � �
� � � �

� ���� �1��

���	��������� �������� u(p1, p2, . . . , pn) %	������ ��	�

���� 	�	����� *�����	�	 �������$ �� p1, p2, . . . , pn �������

��� ���������� ���#����	�������� u %	������ ��#����
	���

���#����	�� ���� ���� 
	��� �������� ��#����
 %	������

��	���� ������� ��������	��

�������� ��#����
� %	������ ���������

p ∨ p

%	�����$ �	����� ���	�� ��� ���� �����	� �����	���	� ��



�
�� �������� ��#����
�� �������

p → (q → p)

%	����� '� � � ���� �1��(�

����	������ ������)"����� 	�	����� �����	 �������*

u(p1, p2, . . . , pn) %	������ ��	���� 	�	����� �����	 �����


��$ �� p1, p2, . . . , pn ��������� ���������� ���#����	��������

u %	������ ��#����
	��� ���#����	�� ���� ���� 
	���

�������� ������ %	������ �������� ����	������ %	�

�����

p ∧ p.

���	��������� �������� 	� u �� v %	������ ��	����

���	����
���	 '
	�%���($ ��

u ↔ v



���

���� �������� ��#����
� %	�����$ �� ��� ������$ �� u �� v

%	�������� ��#����
	��� � ������ '����� %��������( ��� �

���� ����������

�� %��
�$ �	� u �� v �
�������
��� %	��������$ 6���

�"���#���� ���

u ≡ v.

��	���
�� �)��� ����

����$ �	� ≡ ��������� ����

�
�������
	��� ����������

����� �	�	�� ����� %	������ #��� ����#�$ u ≡ v �
���

�����
	��� #��� ����#��$ �����
��������� ������� u = v�

����� #���� ����� ���� ��� ����� �������� ��#����
� %	��

���� ������ ���������� 
	�� �� ����� ���� %	������ �"��

��#���� t ����	�	��� ���������� 
	�� ������ ������� �����

�������� ������ %	����� '�"���#���� f ����	�	��(�

���
�	��� 	�� �
�������
��� %	������ &�	&	)�����

������� �������� #��!���� �� ����� ��� ���������� �������

���$ �	�	�� ������ #����	��������$

(p ∧ p) ∨ q = q.

���� #��� ����#� �
�������
	��� ���������� 	���� � ���#�

���� #���
��	� ����� �� ������$ �	����� �	������	�� ����

��� %	�����#� ������ �

��
��
�
 �)��� ��������	�$ �
�������
���� �� ���

p → q �� p ∨ q %	��������

∇ #�������	� ��#����
	��� � ������*



���

p q p → q
� � �
� � �
� � �
� � �

p q p p ∨ q
� � � �
� � � �
� � � �
� � � �

� ���� �1�2 � ���� �1��

������ � ������� �	�	 ���
��� ��� ���� ���������$ ���
	�

p → q = p ∨ q. � '�1��(

'�1��(��� �������� ���

������ �
�������
	��

p ↔ q = (p → q) ∧ (q → p). '�1��(

�	������	� �
�������
	��� � �� ���#����	���� ���������

��*
1. p ∨ p = p, p ∧ p = p;

2. p ∨ q = q ∨ p, p ∧ q = q ∧ q;

3. (p ∨ q) ∨ r = p ∨ (q ∨ r), (p ∧ q) ∧ r = p ∧ (q ∧ r);

4. p ∧ (p ∨ q) = p, p ∨ (p ∧ q) = p;

5. p ∧ (q ∨ r) = (p ∧ q) ∨ (p ∧ r),

p ∨ (q ∧ r) = (p ∨ q) ∧ (p ∨ r);

6. (p) = p;

7. p ∨ q = p ∧ q, p ∧ q = p ∨ q.

'�1��(

������ ���������� u %	�����������

u ∨ f = u, u ∨ t = t, u ∧ f = f,

u ∧ t = u, u ∨ u = t, u ∧ u = f,

���
	� �3� ����%���	����� ��������������� #����!��� ���

���
����$ �	� ����
�������� ������	� ��������	 ∨� ∧ ��



���

������	��	� �	���� ��
	� ���	� ��������� ����� �����
�	

1 ��	� 	�	����� *�����	�	 t �������� ���� 0 ' 	�	�����

�����	 f ��������

����� ��	�$ '�1��(���� �� '�1��(���� ���	�������	��$ �	�

����
�������� ������	� �����	 ������� ��	 ���� ��	���


��� �	�	 ���	����
���	 ������	�� �����	� �� ��	���� →
	���	���		� �� ↔ ���	����
�		� 
	�
���� ���� %	�������$

�	�	�� ����� '� � §�<($ ����� %	������� ��	����� �����

��� ���	��������� ������� #����!��� ����� ��	�$ �	�	��

����� �������� 
	�
��
��� �����)�����

§�-� 
������%	���� ��
���
� &�

���
 
��������
�

����!��

������ ���	��������� ������� ����	������ ����� �����

���� 
	
�
��
�� ��
��&��
�����$ ���
	� )��	� �	
�����

&���
�
��� ��	������ '� � §�<$ §�4$ §��( #��!���� �������

�� ��	� ���� ���	��������� �������� �&���
�� ���	��������

6��� �� ����� ����� 
���� 	� ��	�����$ �	����� 
����� ���

��������� ������������ �������� �����

������� �-��� ����� �����$ �	����� �)�������	%� ���

%
�� ��#����� ��	�� ���������� &����� ������)��

∇ 6��	�������	� �� &��	����$ �	������ �����)"������

��%
�� ��#�	���*

p1 3 ��%
�� 
��� &����� ������)� ��
�
����;

p2 3 ��%
�� 
��� ��	�� ������)� ��
�
����;

p 3 ��%
�� 
������ 
��� ��
�
����;

q 3 ��)���� ��%
�� 
�����#��;

r 3 ��#����� "���
� ��%
�� 
�����#� 6�������;



���

s 3 ���	!� ���� "���
� &����� ������)� 6��������

&��	��$ �	����� �����)"����� ��%
�� ��#����� ��	��

���������� &�����)�$ �"������� %	������

u = (p1 ∧ p2 ∧ p ∧ q ∧ r) ∨ (p1 ∧ p2 ∧ p ∧ q ∧ s).

�� ������������ ���
��������	��� �������� '� � '�1��($

&���
� �($ ����"���

u =
(
(p1 ∧ p2 ∧ p) ∧ (q ∧ r)

) ∨ ((p1 ∧ p2 ∧ p) ∧ (q ∧ s)
)

=

= (p1 ∧ p2 ∧ p) ∧ ((q ∧ r) ∨ (q ∧ s)
)
.

�� %	������ #��������� ����� ����	�������� ���� �� �)�

)��

�� � ����

������ ���	���� ������
� #��!���� ����	������	� �	�

�	�� �����������$ �	����� ���
����� 
����
��� ��#�����

��� ��
��#�������� #�������� ������)����� �"��#���� �����

�)�������	%� ��%
�� ��#����� �������� �

������� �-��� ������$ 
��������#� �	������	�� ���� ����

������ ����� �����$ �	����� �)�������	%� %����� 
������

���� ��	� ������� ������� � 	�	� �� #��� �����#�$ �	��


��������#� �	������ ������ ��������	�� ������� #��������

"���
��

∇ #��	��"	� �"��#�����*

p1 3 &������� ��������� ������� "���
�;



��	

p2 3 ��	�� ��������� ������� "���
�;

p3 3 ������ ��������� ������� "���
��

&��	��$ �	����� ���	������ ������� �������$ ���	��� ��

�� %	������*

u = (p1∧p2∧p3)∨ (p1∧p2∧p3)∨ (p1 ∧p2∧p3)∨ (p1∧p2∧p3).

'�1��(��� &������ &���
�� ���� ��� %	������ ����������

#���
���� #��!���� ������	�	� ������7��� ���� #����������

#����!��� ������	�

u =
(
(p1 ∧ p2 ∧ p3) ∨ (p1 ∧ p2 ∧ p3)

)∨
∨ ((p1 ∧ p2 ∧ p3) ∨ (p1 ∧ p2 ∧ p3)

)∨
∨ ((p1 ∧ p2 ∧ p3) ∨ (p1 ∧ p2 ∧ p3)

)
. '����(

'�1��(��� � �� &���
���� ���	������� ����"���

(p1 ∧ p2 ∧ p3) ∨ (p1 ∧ p2 ∧ p3) =

= (p1 ∧ (p2 ∧ p3)) ∨ (p1 ∧ (p2 ∧ p3)) =

= (p1 ∨ p1) ∧ (p2 ∧ p3) = t ∧ (p2 ∧ p3) = p2 ∧ p3. '����(

����	������$

(p1 ∧ p2 ∧ p3) ∨ (p1 ∧ p2 ∧ p3) = p1 ∧ p3 '����(

��

(p1 ∧ p2 ∧ p3) ∨ (p1 ∧ p2 ∧ p3) = p1 ∧ p2. '���2(

'����($ '����( �� '���2( 
	�	����� ��������������� '����(�

��� ����"���

u = (p2 ∧ p3) ∨ (p1 ∧ p3) ∨ (p1 ∧ p2).

���
��������	��� ���	������ ���!����*

u =
(
(p1 ∨ p2) ∧ p3

) ∨ (p1 ∧ p2).



���

�� %	������ #��������� ����� '�� � ����( �)�������	%� ��	�

����#� ������� &��	����� #���������� �

�� � ����

§��� ��

���
 �%����
 *�
����
 ��%�
�
�

�������
���
 �����	���
,

�	����	 ������	���� #������ ������
��������$ �	����

��� ���6���� 	�� ������� ���	����	��� �	���� 
	�
��
��

�� ������� �� ����
�%�������� �� ����� '�	��
��� ����($ ��

����� '�	��
��� �������(� � #���������� ����� !����� '�����

�����$ �$� �	�
)� ��
����($  	�	 � 3 #�������� ��"��

!����� '���������$ �$2���� 2$� �	�
����( '� � �� � ����(�

�� � ����



��


��%���� �	��	���	��� �"��#��� ������
��� ��	����

���	���	 �����
���	� ��%���� 
����
�� ��"��� �� �������

����� �� ������		�� ���&��	������� ����$ �	� !����� �����

���� ��)� �	��
��� ������
��� �� ����������

�	���� �	��
��� ������
� #��!���� ����	������	� �	�

�	�� �	��	���	��$ �	������ ���� ��������� x1, x2, . . . , xn

#��������� �� ��������� y1, y2, . . . , ym ���	�������� '�� �

����(�

�� � ����

����� �	��	���	��� ���	��� xi #��������#� (i = 1, 2,

. . . , n) ����	���� �� � �� �� ���� #���������� ���	��� yj ���	�

�������)� (j = 1, 2, . . . , m) ���"��� ���
����� ���#����	�� �

�� �� �	���� yj�� ���#����	�� ���	
�������� x1, x2, . . . , xn�

�� ���#����	���)�� �� ��#����$ �	� �����	 ���	���	 �����
�	

�������	����� ��	������

fj : {0, 1}n → {0, 1} (j = 1, 2, . . . , m)

���	� ��
��	��� ������	��	��

����� ��	� )	������ ����
����� �	��
��� ������
� ���

�� ���	��������� (m = 1)� ����� ������
���� %�����	������

�"������� ���� f : {0, 1}n → {0, 1} ����� %��������

�� ���	���	 �����
�	 0LM �� '��	����� ������� �����

�
	�� �� �
�� ��� �	�	�� ,���-(� �� �� ������
�� ������

��� #��������)� �����	���� ���$ ���	�������)� ����"���

���� �� #��������)� �����	���� ���$ ��#�� ���	�������)� ���

��"��� ����



���

�� ���	���	 �����
�	 LN �� ∨ '�
�� ��� ,��-(� �� ������

�
�� ���	�������)� ���"��� � � 	�	� �� #��� ����#�$ �	��

����� #��������)� ����	���� ��

�� ���	���	 �����
�	 O0P �� ∧ '�
�� ��� ,��-(� �� ����

���
�� ���	�������)� ���"��� � � 	�	� �� #��� ����#�$ �	�

�� ����� #��������)� ����	���� ��

2� ���	���	 �����
�	 0LN '����� 0LM LN( �� ∨ '�
���

 ��� ,��� ��-(� �� ������
�� ���	�������)� ���"��� � � 	�	�

�� #��� ����#�$ �	�� ����� #��������)� ����	���� ��

�� ���	���	 �����
�	 0O0P '����� 0LM O0P( �� ∧
'�
�� ��� �	�	�� ,��� ��-(� �� ������
�� ���	�������)�

���"��� � � 	�	� �� #��� �����#�$ �	�� ����� #��������)�

����	���� ��

6��	������ �	��
��� ������
���� 
��������� ���%��


��� ���	�� ����� '���	������� � �� ���	�� ��������( �� #��

�������� ����� %	������� �	�������� ���� �� �))��

�� � ����



���

�	������� �	��
��� ������
���� ����� ���� ���	�����

�� ���� � �� �	��
�� ������
�����$ �	����� #	��� �"�����

#����� �	��
��� ������
�

?Q+FI@>R? LN 3 ,���	���� ��� ��-$

�	���� �	������� � ������ ���2 �� �))��

�� � ���2

�� �	��
��� ������
�� ���	�������)� ���"��� � � 	�	� ��

#��� ����#�$ �	�� ������� #��������)� ����	���� �$  	�	

��	��)� 3 ��

��%��� �	��	���	���#� �	��
��� ������
��� #������

����� ����������� ���
����� ������ ����� ��	� ���� �� �)�

)� ����	������� ������

�� � ����

������	��#� �� ����� #��!���� ����	������	� �	�	�� ����

�	��
��� ������
�$ �	������ ���� ���� #��������� x1, x2, x3

�� 	�� ���	�������� y1 �� y2� �	�	�� �� �)���� 6���$

y1 = x1 ∧ x2,

 	�	

y2 = (x1 ∧ x2) ∧ ((x2 ∧ x3) ∨ x3). '����(



���

����� �������� ��	� � ����	��� ���� ��� '� � §�4 �� '�1��((

x3 ∨ (x3 ∧ x2) = x3$ ���
	� '����(���� ����"���

y2 = (x1 ∧ x2) ∧ x3.

������ ���	�������$ �"��#���� ����� #��!���� #������	� �%�

�	 ���
��� '�� #����������$ �%�	 ������	( ������$ �	�����

����	�������� ���< �� �))��

�� � ���<

0O0P �	��
��� ������
�� ���	������� �� ����� ���������

�� ���4 �� �))� ����	������ �����)��

�� � ���4

� ����$ �	� �	��� ����� %	������ #���������� ���
���

��� �	��
��� ������ ���������$

y = (x1 ∧ x2) ∨ ((x1 ∨ x2) ∧ x3)

����� %	������ #�������� �	��
�� ������ ���� ���� �� �))�

�	������ �� ��



���

�� � ����

���� ��	����� #�������� ���	�������	��$ �	� �� ������ y ���	�

�������)� ���"��� � � 	�	� �� #��� ����#�$ �	�� x1, x2, x3

#�������������� �����
��� 	�)� ����	���� ��



���

��������
 �� ��	���
����


������ #�������� �	������ ����� fi (i = 1, 2, . . . , 8) %	��

����� #��������� ��#����
	��� � ����*

f1 = p ∧ (q ∧ p); f2 = p ∨ (q ∨ p);

f3 = (p ∧ q) ∨ (p ∧ q); f4 = (p ∨ q) ∧ (p ∧ q);

f5 = p ∧ q ∧ (p ∨ q); f6 = (p ∧ q) ∨ (p ∨ q);

f7 = (p ∧ q ∧ r) ∨ (p ∧ q ∧ r) ∨ (p ∧ q ∧ r) ∨ (p ∧ q ∧ r);

f8 = (p ∧ q ∧ r) ∨ (p ∧ q ∧ r) ∨ (p ∧ q ∧ r) ∨ (p ∧ q ∧ r).

������ ����� ������ �� �))� �	������� ��
	�
��
	 ��������

#��������� ����� �������������*



���

�� � �����

������ �� �)�� �	������ ����� %	������ #��������� ��
	�

�
��
	 �����*

�( [p ∧ (q ∨ r) ∨ (s ∨ t); �( (p ∧ q) ∨ (r ∧ p);

�( (p ∨ q) ∧ (p ∨ q); �( [p ∨ (q ∧ p)] ∨ [(q ∧ r) ∨ p].

����2� ���	�� �� #������ ����������� ����� �����������*

�( A ∪ B; �( A ∩ B; �( A ∪ B; �( A ∩ B.

������ �	������� ������������ �������� U = {x ∈ Z |
−4 < x ≤ 4}� 6������ �����������*

�( A; �( B; �( A∪B; �( A∩B; �( A ∪ B; �( A ∩ B$

����� A = {x ∈ R | (x− 1)(x + 2)(x− 3) = 0}$ B = {x ∈ Z |
−2 ≤ x < 1}.

����<� �6�����$ �	�

�( B ∪ (A \ B) = A ∪ B;

�( (A \ B) ∪ (B \ A) = (A ∪ B) \ (A ∩ B);

�( C ∩ (A \ B) = (C ∩ A) \ (C ∩ B);

�( A ∩ (B ∩ C) = (A ∩ B) ∩ C;

�( A ∩ (B ∪ C) = (A ∩ B) ∪ (A ∩ C);

�( A ∪ (B ∩ C) = (A ∪ B) ∩ (A ∪ C).



���

����4� ���������� ��	���� 
��	����� ���	������� �������


���� #������ ���	�� �������*

�( A ∩ (A ∪ B); �( (A ∪ B) ∩ (A ∩ B);

�( (A ∪ B) ∩ (A ∪ B); �( (A ∩ B) ∪ (A ∪ B);

�( (A ∪ B ∪ C) ∩ (A ∪ (B ∩ C));

�( (A ∪ B ∪ C) ∩ (A ∪ B ∪ C) ∩ (A ∪ B);

)( (A ∩ B ∩ C) ∩ (A ∪ B ∪ C) ∩ (A ∪ B.

������ ����

���� #�������� 
��	����*

�( A ∪ (A ∩ B) = A; �( A ∩ (A ∪ B) = A �

����1� ����� �������� ����	����� ���	������� ������
����

����� %	�������*

�( ((p ∧ q) ∨ q) ∧ q; �( p ∨ (q ∧ r) ∧ q;

�( (p ∧ q) ∨ (p ∨ q); �( p ∨ q ∨ r ∨ (p ∧ q);

�( (p ∧ q) ∨ (p ∧ r) ∨ q ∨ r.

�� � �����



��	

������� ���	������ ����� �������� 	&��������� ���������

�� �� �)�� ������ �� �))� �	������� �������� �
�������
���

�����
������� �������*

������� M = {0, a, b, 1} ��������)� ∧$ ∨ �� 	&��������

�	������� #������ � ������� ��#�������*

∧ � a b �
� � � � �
a � a � a
b � � b b
� � a b �

∨ � a b �
� � a b �
a a a � �
b b � b �
� � � � �

x x
� �
a b
b a
� �

���� �� ��� M ����� �������B

������� ����� %�������� F = {f : {0, 1}2 → {0, 1}} ���

������)� #��	��"	� ∨$ ∧ �� 	&�������� #�����������*

∀f, ϕ ∈ F $ ∀x ∈ {0, 1}2

(f ∨ ϕ)(x) = max{f(x), ϕ(x)},
(f ∧ ϕ)(x) = min{f(x), ϕ(x)},
f(x) = 0, �� f(x) = 1, �� f(x) = 1, �� f(x) = 0.

����� F �������� ���� �� ��� ����� �������B

������� ����
�	�	��	���	��� ���� ���� ��	���� p$ q �� r

��������� �����	� ���� ����� #�������$ �	� �� p ��������$

�	��	���	�� ���	���	�$ ������ �� p �� ��������$ �	��	�

���	�� ���	���	� � 	�	� �� #��� ����#�$ �	�� ��������

	���� q �� r ��������� �� �)�� �����$ �	����� ����	���

���� ���� ��������� #�������� ���
����	 ������
��



���

�����2�  ��� A, B, C, D �� E ��5����� ��	����� ���	����

��� �&���
�� ���	��� ��5����� ���� �����������$ �	���

���� 6������ �� #��� ����#�$ �� �"�	�6��� ��)�������� �	�

�	� ���� #�������� ������������� ��������	 ����������$

�	� ������ ����	� � 	�	� #����� &��	���#�*

�( A �"�	�6��� ��)�������;

�( ���������� 	�� B, C �� D ��5��������� �����	����

�"�	�6��� ��)�������;

�( E �"�	�6��� ��)��������

������� ��������� �	����� ���	�������� �� �	���� ���B

�����)"���� ��#����
	��� ���#����	���� ���	������������

����*

�( �� �
����
� ����	���; �( 5 > 0; �(
√

2 ����	������

��� ���; �( ∀x, y ∈ N$ x + y > 0; �( x + y > 0; �( �	�����	

���� �
�� ����������

�����<� �������� ���	����������* �( �� 
��
� ��� ���;

�( ∀x ∈ N$ x ≤ 0; �( a2 = 4 
	�	����� ���	�������	��$

�	� a = ±2; �( 	�� ���	������� ���� ����� �	� �������

����)����

�����4� ������$ p, q �� r #������ �������������*

p 3 �
����
� ��������	��;

q 3 �
����
� �����	�� ������
�
��;

r 3 �
����
� 6�������� ������
�
�� ���	�����

6������ �	��
��� �"��#������ ���	������� #������ ���

����������*

�( �
����
� ��������	�� �� �����	�� ������
�
��;



��


�( �� �
����
� �����	�� ������
�
��$ ��#�� �
����
�

��������	��;

�( �� �
����
� �� ��������	��$ ��#�� �� �� �����	��

������
�
�� �� ��� 6�������� ������
�
�� ���	����;

�( �� �
����
� �� ��������	�� �� �� �����	�� �����

��
�
��$ ��#�� �� ��� 6�������� ������
�
�� ���	�����

������� ���� �����7�#	� &��	���#� 6������ ��
�������

#������ ���	����������*

�( p ∧ q; �( p → q ∨ q;

�( r ↔ (p ∧ q); �( q → r�

�����1� &����
�
� x > 0 ������* �( ��#����
 ���	�������

���; �( ����� ���	����������

������� C�&	��)�� �������������� �������� !������� ���

#������ ���� 
	�
���������� ������ �	!����� #������ ���

������������ #��������� 
	�
�����������*

�( ∀n ∈ N$ 2n + 1 > 7;

�( x2 +a = 0 �� �� ����� ���
	����� ���� �������� %�����

������� ����� ���	��������� �������� �	������ %	����

��� #��������� ��#����
	��� � ����*

�( p ∧ p; �( p ∨ p; �( p ∧ q → r; �( (p ∨ q) ∧ r;

�( p ∧ (q → r); �( p → (p ∧ q); )( p ∨ q → (p ↔ q);

�( p ∨ q ↔ p ∧ q; �( p → (q → p).

������� ���� �� ��� �	������ %	����� �������� ��#�����


� �� �������� ������B

�( (p ∧ (p → q)) → q; �( (p ∧ q) → (p ∨ q);

�( (q → p) ↔ (p ∧ q); �( ((p → q) ∧ (q → r)) → (p → r);



���

�( ((p → q) → q) → q; �( (p → q) ∨ (q → p);

)( (p → q) ∨ (p → q); �( p → (q → p ∧ q);

�( (q → p) → ((q → p) → q).

������� ������
���� ����� �	������ %	����� �� �� �)��

���� #��������� �	�	�� �������$ ����� �����
������� �	���


��� �����*

�( (x1 ∨ (x2 ∧ x3)) ∨ (x1 ∨ (x3 ∧ x2));

�( (x1 ∧ x2 ∧ x3) ∨ (x1 ∧ x2 ∧ x3) ∨ (x1 ∧ x2 ∧ x3);

�( (x2 ∧ x3) ∨ (x1 ∧ x2 ∧ x4) ∨ (x2 ∧ x3 ∧ x4);

�( (x1 ∨ x2) ∧ (x1 ∨ x2) ∧ (x1 ∨ x2).

�����2� ����� ����� �� �))� �	������ �	��
��� ������ #��

�������� ����� �����������$ ������
���� ��� �� �� �)�� �	�

������ ������ �
�������
��� �����
������� �	��
��� �����*



���

�� � �����

������� �� �)�� ����� �	������ %	������ #��������� �	�

��
��� �����*

�( (x1 ∧ x2) ∨ x3; �( (x1 ∨ x2) ∧ (x3 ∨ (x2 ∧ x4))�



���

�����<� ����� ����2 �� �))� �	������� �	��
��� ������ #��

�������� ����� ����������� �� ���	�� �� ���	�������)� ���

"����� y1 �� y2 ���#����	���� � ����� �� �� #����������

x1 �� x2 ���#����	����� ��#�������

�� � ����2

�����4� �� �)�� ����� x1 ∨ x2$ x1 ∧ x2 �� x1 %	��������

#��������� �	��
��� ������� � 	�	�

�( 0O0P ������
�� ���	�������;

�( 0LN ������
�� ���	��������

������� �� �)�� ����� (x1 ∧ x2) ∨ (x1 ∧ x2) %	������ #��

�������� �	��
��� ����� � 	�	�

�( 0O0P ������
�� ���	�������;

�( 0LN ������
�� ���	��������

�����1� ��	 ����� ���� ��	���� ���� ������������ #��� �

����#��



���� �:

�����
�

���%� ��	��
������ #��!���� ����	������	� �	�	��

���
���������� �� �� ���
������ #����������� �����������

#�������� 
	�%�������� '� �$ ���������$ �� � ����(� �������

%	���� �� ���
������ ���������� �� #��� ����#� ���#����	�

�� ��� ����� ��������� � 	�	� ��$ �� �	���� ���
������

#��������� �� �������� ���%�� ��	���� ��� �	�� �� �����

�"�	6��� ������������ �� 
����
�� � ����� �� ������������

�� #��!���� 6��	�����	� ����� �������$ �	�	����� %�)�
�$

�����$ ��	�	���$ 
��#��������	��$ ������
�
�$ ���������#��

����	��$ ����
��
���$ ����
�
�$ %���	�	���$ �	��	�	���$

�
	�	��
�$ �������
�
� �� ����� � ���

���%�� ��	��� ������� �"��� ���	6����� ������
�
	���

�� ������� #�	���#�� �4�< �� ��� ��	 ��� 
����������� '� ����

���� 
�����������(  ������� ��
��#������� �� ���������

��	����� 
����������� 	�� 
��!��� #���������� �����������

�� �������� ����&��	����� #����  ���� ��#������� '� � �� �

S(� ����������$ �����	�� �� ��� ����� ���#��
�$ �	�����

������  ������� ���������� ��������� '�� �))� �� ���������

A$ B$ C �� D($ �������  ������� �����6�� �������)� �� )��

�
�� ��� �� ������� ���	���  ��)��

���



���

�� � K �� � K∗

���������$ �	� �� ��	���� ��	� ���$ �������  ������� ���

�	���� ������ �"��#�� ���
����$  	�	 ���	����  ��� 3

�����$ �	����� ������� #�������� ���
������ ���� #�����

��� ���"	 K∗ �� �))� ����	������� ���%�� ����� ����	��

������� ���	������� ������� ����

���$ �	� �� �����	��

���#��
�$ �	����� ���
���	%����� )��	� �"��#��� &��	�

�����

�� ���#� 6��� ������	��� ���%�� ��	���� ������
��� ��

���� )	����� &���
�
�� ����5���	 ���	��������

§��� 
���
� �����

����	 ���� ����� ���������� V ��������� �� (v, w) �� ��

(v, w ∈ V $ v 	= w) ������������ ������� E ���������

G(V, E) ���	���	��� V ��������� ������
��� G(V, E) ����

%�� �������	 ��	����$  	�	 E ��������#� #������ ��������

3 ���%�� �	����	�

��	��
������ ����	��� �"��#����� ���
������ ��#�����

���$  	�	 ���	��� 3 �� ���
������ #����������� �������

��#������� '�� � ����(�



���

�� � ����

���� �( �� �))� ����	������� G(V, E) ���%������� ����

�	���� ��������� V = {(v1, v2, v3, v4, v5}$  	�	 ���	�����

E = {(v1, v2)$ (v2, v3)$ (v3, v4)$ (v3, v5)};
���� �( �� �))� ����	������� G(V, E) ���%������� ����

�	���� ��������� V = {v1, v2, v3}$  	�	 ���	����� E =

{(v2, v3)};
���� �( �� �))� ����	������� G(V, E) ���%������� ����

�	���� ��������� V = {v1, v2, v3}$  	�	 ���	����� 3 E = ∅�

#����#�	�$ �	� ���� �( �� �))� ����	������� ���%��

(v1, v2) �� (v3, v4) ���	���� ����
����� ���
��� �� ����	���

���� ���%�� ����	�� ���%�� ��	��
����� ����	�������� ����

#����	�� ��� ���� ����	���� '���
������( ���������������

��� �� �� ����	���� #����������� ���	���� '�������( %	�����

���������$ ���� �( �� �))� ���	�� ��� ���%� ������$ ���

���� �� �))� ���	�� ��� ���%��

�� � ����

G(V, E) ���%� ��	���� ������	$ �� ���� ����	���� V

�������� ��������� �	�� E = ∅$ ��#�� G(V, E) ���%� 
��


����	 ��	���� �� � ���� �(�



���

��	��
����� ����	������ #����������$ �� (v1, v2) ∈ E$

��#�� ���	���$ �	� (v1, v2) ���	 ������� v1 �� v2 ����	����

G(V, E) ���%� ��	���� ����	 ����	$ �� ���� ��������

��� 	�� ����	 #���������� ���	��� ����� ���%�$ �	���

���� ���� n ����	$ �"���#���� Kn ����	�	��� ���������$

K3 ���%� ��	��
������ ����	�������� ���
�� ���� �� ��

'�� � ��� � �((

�� � ����

G(V ′, E ′) ���%� ��	���� G(V, E) ���%�� �������	$ ��

V ′ ⊂ V �� E ′ ⊂ E� ���������$ ���� �( �� �))� ����	�������

���%� ���� ���� �( �� �))� ����	������� ���%�� ������%��

6���������� ���%���� ����� ���	�������#�  #���� � ����

��� ���)	������� ���%���$ �	������� ���� �����5�$ ���� (v, v)

�� �� ���	���$ �� ���%���$ �	����#�� 	�� ����	 #������

����� ��������� ���	�� '�� � ���2 �((� ���� ���	��� 7�����

���	��� ��	����� �� E ���� ����� �	�	�� ��������� ���

����� �������� '���� �� (v1, v2) �� (v2, v1) ��������$ v1 	= v2

#��� ����#�$ ���� ����� �	�	�� E ��������� ���� ��������

������
���($ ��#�� G(V, E) ���%� ��	�
�	�����	 ���%� ��	�

���� '�� � ���2 �((� 	����
������� ���%�� ����� ���	 	���

��
��������� 	����
������� ���%�� ���	��� ������� ��	�

������



��	

�� � ���2

)	����� #��� ����#� � ������ #����� ���%���$ ���� ����

%���$ �	������ ���� �	�	�� 	����
�������$ ��� ���	���

��
������� ���	���� ���������$ ������� ����� #��!���� ����

�� ��	� �	�	�� ���%�$ �	���#�� ���	��� ����	������ ���

6���$  	�	 ����	��� 3 �)�7����������� ��#�� ��6���$ �	��

���)���� �	!��	�� ���� �����$ ���	��� ��� 	����
�������

���	����$  	�	 ��6���$ �	����)���� �	!��	�� 	�� ����� 3

���	����
������� ���	�����

�"���#�	� �������$ �	�  #���� �����	� ����
����� ���

%	������� �������� G(V, E) ���%�� V �� E ������������ #��

�� ��� ���������$ �� ����	��� �"��#����� #���������� �����

���� �������$  �#���$ ���
������$ ������ �� �	 ���$  	�

�	 ���	��� ��� ����
��#������ �
����)��$ ��#�� #���������

���%� #��!���� ��	� ����	������� ���� �� �)�� �� ��$ �����

���	��� ���	)� �"��#����� #��������� �)�� ����!� 
��	���


���#��

�� � ����



���

§� � 
���
� �	���� !��
�!
� ��/	
� �
��
� !�

���%�� ���	�$ �	����� ������� ���%�� ����	���$ �� ����

�	���� 	
�	
��
���	 �	�� ��	����� #����������$ �� ����	�

��� �	������ ���	� 	
�	
��
���	 �������	 ��	����� �����

���$ (v1, v2) ���	 �������
���� �	�	�� v1$ ��� v2 ����	��$

 	�	 v1 '����� v2( ����	 �������
���� (v1, v2) ���	�� '� �$

���������$ �� � ����(�

���%�� ����	�$ �	����� ��� ���� ���	� ��������
��

�� �� ����$ 	���	�����	 ����� ��	���� '����	 v1 ���� �(

�� �))�(�

	� ���	�$ �	����� ���� �� ����� ����	� ��������
����$

��������� �	����	 ��	����� ���������$ ���� �� �))� (v1, v2)

�� (v2, v3) �	��)"��� ���	����$  	�	 (v1, v2) �� (v3, v4) 3

����	��)"��� ���	���� #���������� ������)"����� ���%�� �	�

��)"��� ����	���* 	� ����	� ��	���� ���������$ �� �����

���� �� ����� ���	� ��������
���� '���������$ ���� �� �))�

v1 �� v2$ v3 �� v4 �	��)"��� ����	����(�

������$ v ���	����
������� ������� ���%�� ����	�� v

����	� ��������
�� ���	�� ��	���	��� ��	���� v ������

���	��	 �� �"���#���� deg v ����	�	�� '=?TH?? ����������

��#����  ���� �(� �� ���%#� �� ���� �����5� �� 7����� ���

�	���$ ��#�� �	���� ���	 ������ 	�� ����	� �������
��� ��$

��#�������$ ���%�� ����	����  ���� ���� 7��#� �� #��� 	��

7��� 6�
������� ��7��	��� #����� 6��	�������	� ��	�����

�� ���

������� � ��� ������	 G(V, E) ����	� �������	� ���	


����	� ���	 ����� ��������� �	�	 �	����	� |E| �����
�����



��


��	� �� V = {v1, v2, . . . , vn}� ���	


n∑
i=1

deg vi = 2|E|. '����(

�"��#���� ����%���	�� ���

������� ��	 ������� ����

�� ����	������ ���%�� ��	���� ��
	������ &����� ���

	������ �� ��	������� ���	�������	��$ �	� ������ �����	

��
����	��	�
 ������� �����
��� ���	��

��
��
�
 � ��� #����	��	� '����( ����%���	�� ���� ���

 �))� �	������� ���%��������

∇ deg v1 = deg v4 = deg v5 = 1, deg v2 = 2, deg v3 = 3,

���
	�

deg v1 + deg v2 + deg v3 + deg v4 + deg v5 =

= 1 + 2 + 3 + 1 + 1 = 8.

������

E = {(v1, v2), (v2, v3), (v3, v4), (v3, v5)},
���
	�

|E| = 4.

�������$

deg v1 + deg v2 + deg v3 + deg v4 + deg v5 = 2|E|. �

���%� ��	���� ����������
	$ �� ���� ����� ����	�  ����

� � ���� �� ������� �������	���� ���%�� ���������� ����

�	������� ������� �������� ������� 3 
�
�������$ 
����$



���

	�
������$ �	��
������ �� �
	������� ����	���� �� ���

�	���� #������� ���%����

���%�� ���� ������� ���	��

(v0, v1), (v1, v2), (v2, v3), . . . , (vn−1, vn) '����(

�������	��� ��*�	 ��	���� '� � �� � ����$ ����� n = 3(�

�� � ����

�� v0 = vn$ ��#�� 7���� �	��	 ��	���� '�� � ���� �(�

�����
��� 7���� ����	�	 ��*�	 ��	���� '	����
�������

���%�� #��� ����#� 3 ���($ �� ���#� �	������ ����� ����	

���� ��������� '���� vi 	= vj$ �	�� i 	= j( '�� � ���� �((� #��

��������� ������)"����� ����	�	 �	��	 '	����
������ #��

�� ����#� 3 ��
���	( '�� � ���� �((�

���%� ����	 ����	 ��	����$ �� ���������� 	�� ����	�

������ �����	�� �� ����	���� #����������� 7���� ' ���� �(

�� �))� ���	�� ��� ���%� ������$  	�	 ���� �( �� ���� �(

�� �))� 3 ��������(� �	���� �������� ���%� #��!���� ����

�	������	� �	�	�� ���� ���%�� ������������

���%��� #	��� �����
�������� ������ ������� ������

���� ���%���$ �	������ ��
�� �� #������ '�� � ���� �((� ����

���%��� ����	 ��	�����



���

�� � ����

������ ���%�$ �	����� ��
�� �� #������$ ��� ��	����

'�� � ���� �((� �� �����)"�������� ���	�������	��$ �	� 
���


	�&	���
��� ����	������  �����

�	��
��	�  ������ ��
��#������� ���� ���#����	���� ���

��%���	���

������� � � � �������	 n (n ≥ 2) ���������
 ��	 ����

�	���

tn = nn−2 '����(

���������� ���

#����#�	�$ �	� �� �"��#��� tn  ���� #	��� )	������

���	�� ��� ���
����� ������� ������� '�%�	 )��
�� �)	�

�	�%��( ���%���� G(V, E) �� G(V ′, E ′) ���%��� ��	����

	��������	 ������	$ �� �����	�� ����� ������������ �

#��������	�� V �� V ′��� ����	��� #	���$ �	� �� ���	����

��� ��$ �	������ ������� V �� �	������ 	� ����	�$ 
	�

��� �� ���	���� ��� ����$ �	������ ������� V ′��� #��������

����	���� ���������$ n = 3 #��� ����#� ����� #���!�	  ��

�� ��	���	�� t3 = 33−2 = 3$ ������ ����� ��  � ����������

�)	�	�%���� '�� � ����(�



���

�� � ����

��
��
�
 � �"� �	������ 	� � ���
��������� ����	�

����� #���!�	  �$ �	���� ����	��� �	���������� �"��#���

���
����#��

∇ '����( %	������ ���� ��� n = 4 #��� ����#� �����

 ����� ��	���	���

tn = 44−2 = 16.

����	� #��������� ���%��� '� � �� � ���2(�

�� � ���2



���

#����#�	�$ �	� &������ 	� � ���%� ���������� �)	�	�

�%����� ���������� �)	�	�%���� ������� �����6��� �	��

��
� ���%�� �������$ n = 4 #��� ����#� �����	�� ����)	�	�

�%��  ��� � 	�	� 	�� 
����� �� 
����� ����	����������

��� ���� ���� �( �� ���� �( �� �)��)�� �

�� � ����

������$ n ��	���	��� ������ ���� ���
��#����� ����

������ �
����)�� ���$ �	� ��������� 	� ������ #	��� ���

���	���� ��������� �)� '#���!������� � �� ��������� ����

���(� � ����$ �	� ����� #���!�	 ������
�� ��	���	�� ���	�

������� '����( %	������� #����#�	� �������$ �	� ���%��

��	���� ���	���� ��#������� ���!���� ��	� ���� �%�	 )	�

���� ��	�����* �"��#��� ������
��� #	��� #����6�	� ����

�� ������
�$ �	���� &���
�
��� ��� 	�������� ��
��#��

������ ������ ���������  ��7������ ������� �� �� ��	������

� ������$ ���������$ ����
�	�������� ��&�	��
������ ��

� �� ����5���	 ���	�������#��

§�"� ��
���
�����
 
�����
 �� ��
�
���
 
&
�

����
&


	����
������� ���%��� ���	������� ����	���� ��������

������ �� ���������� #������#�� 	����
������ ���%�����



���

��
��#�������� ���� ��	�	���	 ��	� �����	$ �	����� ����

�	������ ����7���
�� ��%�!����� �� ���	��� ������
����	�

����� ��	� #������ &���
�
��� ��	�����

������$ �	����"�� %���� ��)����� ������� ��
	�	�����

�������� 
������ ������)�� �����������$ ��������� ��� ����

����� ����	� 6��	������ 	&��������� #�������� ���
�����

�����������	��� ������ '� �� ���� �2� �(�

�����(��	
�����(��	 ��	�)�
��� ��	��
���	 ��������

��� �*� 
A ! 	�����	� +��+�	 ����� #% �����
� �����(��
B ! ,��
�	 ��������� ' ��	��
��	 A-	 ������
C ! 
���	 ��������� & ./!0 A-	 ./!0
D ! ��	����
� "���
�	

�������1��� % ./!0 B-	 ./!0
E ! ����
���	 �������1��� 2 ./!0 A, B, C-	 ./!0
K ! ����3� ��*4���
���	

�������1��� ## ./!0 A, B, C, D-	 ./!0
L ! ������������	

��4����� ' ./!0 E, K-	 ./!0
M ! �
� ��4����
���	

�������1��� 5 ./!0 E-	 ./!0
N ! �����	 ���
���	

��"����� # ./!0 K-	 ./!0

� ���� �2��

��	���� �� ����$ �	� ������)"��	� ���� ���������� ������

)������� �����	 ���������� ��	 �� #�������	� ����#�	�

#��������� #��������� ��������

�	������ � ����� �� ����� ����	� 	����
������� ����

%�$ �	���� ����	��� ��� ���� #�������� 	&��������$  	�	

���	��� '�
�����( 3 	&�������� #	��� 
��#��� '�� � �2��(�



���

�� � �2��

������� ���%�� �	��� XY �
��� #��������	� ��� ��$ �	�

����� ����� Y 	&������� #�������������� �����	 ��	��

���� ��7� '�����#�(� ���� ��� �� ���	�	� XY �
���� ���

��!� �� �"���#�	� �XY ����	�	��� ���������$ �BE =�CE =3$

������ E 	&������� #�������������� �����	� � ���� '� �

� ����($  	�	 �MF = �LF = �NF = 0$ ������ F ����

����	���� 	&������ '����������� � 	�	� ��������)�( ��

��� ��������� ��	 �� ��������� ���%�� ���������� �)�� ���

��!� ������)"����� �	�	�� �� �)�� #���������� �
������

����!����� 7���� ���������$

�SABDKLF = �SA + �AB + �BD + �DK + �KL + �LF =

= 15 + 4 + 5 + 11 + 4 + 0 = 39. '�2��(

�� ����$ �	�	� #��!���� ������� ���%�� ���	������� 	&�


������� ������ #������� �2�� �� �)���� 6���$ �	� A 	&��

������ #��������� #����� ����������	��� #��!���� #�����

���	�$ ���������$ B �� D 	&�������� �� ������	����

������		� C 	&�������� ����#�	� ���������� �� ����� #��

���� C 	&������� ���������� �	���
������� (�SAC = 21)

K 	&������� #����������� ��	�� ������ � ���� ��������$

������ K 	&������� #�������� &��	��� !���� #���!�������



���

� 	�	� D 	&������� #��������� #�����$ ����� 7��#� �����

���� �2 ���� (�SABD = 15+4+5 = 24)� �� ������ ��7��	���

������!�����$ ������ �� ���
������$ �	� 	&
������� �����

'���� �����$ �	����� �	�� 	�� ��	�� ��������� ���� ��7�(

������)"����� ����� �)�� '������� S ���
����� �� �	�	 F

���
����($ �	���� ����!� ������������ ����� ���� #���!�	

�)��� #	���� ���������� #��6��� �)�� ��	���� ��	�	���	

����


��
�
��� �)�� #��������� �	������ 	&�������  ����!�

���	��� ��)��� ��������� ����� ���	������ ����� �����

#�	� #��������� ��	�� ��)���� �������� �����$  	�	 � ��

���
��
�
��� �)�� �	������ 	&������� #��������� ��	��

��)���$ ���������$ � �����$ �� ���	������ ����#�	� #�����

����� ��	�� ���������� �������$ �	������� ���	�
�5����

(E) #��!���� �����	� ��
� ��	$ ��� �� ��	������� �����

����#�	� #��������� ��	)�$ ��#�� �	�� ��#��� �	��	���	�

��� ���	�
�5���� (K) ��	�� ��)��� ����� ����#�	� #�����

����� ��	� ��)����� ��	��� ���
	� ��	����� ��� #��6���

�)�� 
��
�
����

�����	�� 
��
�
��� �)�� &	���� )	���� ���	������ 6����


��!	 #��� ����#� �#���	 #��	������ �������������$ �	�


��
�
���� SABDKLF �)� '�2�� �� �))� �� 
� ��� �����

�������(�� �� �)�� ����!� �SABDKLF = 39 '� � '�2��((� ��

��#����$ �	� �"��#��� &��	���#� ���� ���������� �����)����

���� �����	 ���������� ��	 �1 ������ �



��	

§�#� ��������
 
�����
� �
���
� �������

&�������� ���%��� ���	������� 
	����
�������� ��

��
���� ������� �������� ��&�	��
���#�$ ��
���� #�"������

�� ������ � �� ����5���	 ��	����#��

���%� ��	���� ���
����	$ �� #���!������� ����
��)�

���� ����� ���	�� ��$ �	� ���	�� ����� ����
���� ����	���

������ �� ���%�� ����	���� �"��#���� %	���� ����	������

���%� ���	�	� �	������ &�������� ����	� ������	 ���


�����
��

���������$ ������ ���� �( �� �))� �	������� ���%�����

��� �����	�� ���� ��
���� ����	����� '�� � ���� �(($ ���
	�

�� ���%� &���������� &���
�
��� ������)����� �� ��#����$

�	� #���!������� �� ���%�� #��������� ����
�	������ %����

���
�� �����)���� ��
���� ������� ������ ��#������� '�� �

�� � �((�

�� � ����

��
���� ����� ���%� ���� ����
��� C�	%� ���������$

�	������ ����	� ���
����	 ��	����� ���� �( �� �))� ����	�

������� ���%������� ����� ��������� '�� �������( ��	���

�	�� r = 4� ������� ����

��� %	�����$ �	����� ��������



���


��#��� ��
���� ����� G(V, E) ���%�� �� �������$ ����	�

���� �� ���	���� ��	���	���� #	���� �� %	������$ �	���

���� �	���	� ������� ��	����$ ���� #������ �� �*

n − m + r = 2 (|V | − |E| + |F | = 2), '����(

����� n = |V | ����	���� ��� ���$ m = |E| 3 ���	����$  	�	

r = |F | 3 �� ��������

���������$ ���� �( �� �))� ����	������� ���%�������

n = 4$ m = 6$ r = 4 ��$ #����������$

n − m + r = 4 − 6 + 4 = 2.

��
����$ �	� G ����	 ��*	����	� G′ ������$ �� G′ ���%�

���"��� G ���%������ ���� )	������ (vi, vj) ���	� ��	����

��� �� #��������� vi �� vj ����	���� ����������� ���������$

���� �� �))� ���	�� ���� G �� G′ ���%���$ ����� G �	���

������ G′�)�* G ���%���� ��	�������� (v1, v2) ���	 'v1 ��

v2 ����	 #������� ���� v′
1 ����	��($ (v3, v4) ���	 '���6� v′

3

����	( �� (v6, v7) ���	 '���6� v′
6 ����	(�

�� � ����

�	�	�� �
�� ����� '� � §��($ Kn��� �"���#���� ����

���%�$ �	������ ���� n ����	� K5 ���%�� ��	��
����� ����

�	����� �	�������� ���� �( �� �))��



��


�� � ����

Km,n��� �"���#���� ����	 �����	�	 '��� ���	�	�
	(

���%�� �� ���%�� ����	���� V �������� ���	%���� 	� V1

�� V2 ������������ (|V1| = m$ |V2| = n) ���$ �	� V1 �������

��� ����	��� #���������� � 	�	� V2 ��������� ���	���

����	���� �� &������� ���� �( �� �))� ����	�������� �����

	�� ���� K3,3 ���%��

������� %	������ ���	������� #��!���� ���

�����$ �	�

K5 �� K3,3 ���&�������� ���%����� �� ���%��� �����
�����

���� ������ ������� ���&������� ���%��� #	����

������� �#��� ����	 ���
����	� ���	
 �� ������

���	
� ���� 	� �� ��	���� K5 �� K3,3 �������� ��*	����

�����������

��
��
�
 �#��� ���	��
���	�$ ���� �� ��� ���2 �� �)�

)� ���	�� ��� ���%� &���������

�� � ���2



���

∇ ��	�#��	� �	������ ���%�� (v1, w1)$ (v2, w2)$ (v3, w3)$

(v4, w4)$ (v5, w5) ���	��� �� ������ ��	� ��������� vi �� wi

����	��� (i = 1, 2, 3, 4, 5)� ������ �"��#���� ���������� #��

����� ���"��� K5 ���%�$ ���
	� �	������ ���%� ���&�����

������ �
#����#�	�$ �	� ���� ��	����� &��	����� #��	����� 
	�

�
��
��� ���%�������  #�� #��� ����#� ��
��	� �������

&���
�
��� ������)����� �%�	 �	�� �� ������ � �� ���

�	������ ���	������$ �	���� ���� �� ����$ �	� ���
�����

������������ #��������� �	������ ���%� ���������� ��� ��
�

��� ����	�������� '�� #��� ����#�$ �� �� &���������(� #���

��#�	�$ �	� �"��#���� ���	����� ����� �	�� ���%#� ����

�� ��
��� �����	���$ �	������ ��� ���� ���	 �� C
�����

�����6�	� �� ���	����� 
	�
��
�� �������)��

��
��
�
 �#� � ���	���
��	� ���� �� ��� ���� �( �� �)�

)� ���	�� ��� ���%� &���������

�� � ����

∇ a − b − c − d − e − f − a ���� �� ���%�� ��
��$ �	�

������ ��� ���� ���	 �� C
����� #����6�	� ���%�� ������

����� ���	$ �	����� �� #���� �� ��
�#�$ ���������$ (a, c)�



���

�� ���	 ����
��	� a − b − c − d − e − f ����
�� ���� '��
�

���( ,�����- '� � �� � ���� �((� (a, c) ���	� �����
���� (b, d)

�� (b, e) ���	��� ���
	�	� ����
�� ���� ,#�����- '�� � ����

�((� (b, d) ���	 C
���� � 	�	� (a, c) ���	�$  	�	 (b, e) ���	�

C
���� ������� (a, d) �� (f, d) ���	��� '�� � ���� �(($ ���
	�

�� ���	��� ��� �)	� ����
�� ���� ,�����- '�� � ��� � �((�

����� � ���$ (f, d) ���	� C
���� '����� (b, e) ���	��( (a, e)

���	 '�� � ���� �(($ ���
	� (a, e) ���	� �
	���� ����
�� ��

��� ,#�����- '�� � ���� �((� ���	�		� �"����	�� �	�����

�� ���%�� ��
��� ����	������$ ��� ���� �����������$ �	�

���%� &���������� �

§�$� 
���
� ������
��� ����
���
� ��������
�

���� &������%��#�$ ���%�� ��� �������$ ������6��	����

������  #���� ���������� ���%�� ��	��
���� ����	�������

&���
�
��� ���	������� ������)����� �	�� �� ������ ���

����� ���%�� ��
������ ����	������ �����	�� ���� ����

�	������� ��������� ������
�� 6��� �� �	������� )	�����

��������

�� ���
���	���
� ����
��� ������$ G(V, E) ���� ����

���� ���%�$ ����� V = {v1, v2, . . . , vn}� aij��� �"���#�	�

(vi, vj) ���	�� ��	���	�� (i, j = 1, 2, . . . , n)� ����� aij ��� �

���������� #������� 
�����
��

A =

⎡
⎢⎢⎣

a11 a12 . . . a1n

a21 a22 . . . a2n

. . . . . . . . . . . . . . . . . .
an1 an2 . . . ann

⎤
⎥⎥⎦



���

��
����� ��	���� G(V, E) ���%�� ���	�
�����	� ����	���

	����
������� ���%�� #��� ����#� �	��7����	��� A ��
���

��� aij ������
� ���	�� ��� �� (vi, vj) �
���� ��	���	���$

�	������ ������ vi ����	��� �� ���������� vj ����	�� � ��

���$ �	� ���	����
������� ���%�� �	��7����	��� ��
����

����
�������

��
��
�
 �$��� ����	� �<�� �� �))� ����	������� ���%��

��� �	��7����	��� ��
�������

�� � �<��

∇ �<�� �( �� �))� ����	������ ���%� ���� � 	�	� 	��

���	 (v2, v3) �� (v3, v4)$ ���
	� �� ���%�� �	��7����	��� ��
�

����#� a23 = a32 = a34 = a43 = 1$  	�	 ����� � �� aij

������
� ����� 
	���$ ����

A1 =

⎡
⎢⎢⎣

0 0 0 0
0 0 1 0
0 1 0 1
0 0 1 0

⎤
⎥⎥⎦ .



���

����	������ ������ �<�� �( �� �<�� �( �� �))� ����	�������

���%���� �	��7����	��� ��
������*

A2 =

[
1 3
3 0

]
, A3 =

⎡
⎢⎢⎢⎢⎣

0 1 1 0 0
0 0 0 0 0
0 0 0 1 1
0 0 0 0 0
0 0 0 0 0

⎤
⎥⎥⎥⎥⎦ . �

�"���#�	�$ �	� ���%� ����� �� '�)	�	�%�)����� ��)��

�
��( ������)"����� ������ �	��7����	��� ��
������

��
��
�
 �$��� ����	� G(V, E) ���%�$ �	���� �	���

7����	��� ��
�����

A =

⎡
⎢⎢⎢⎢⎣

0 1 0 0 0
1 0 1 0 0
0 1 0 1 1
0 0 1 0 0
0 0 1 0 0

⎤
⎥⎥⎥⎥⎦ .

∇ A ��
����� &������ �
���	��� �
���
������ #��!�

���� �����
����$ �	� G(V, E) ���%�� v1 ����	 #����������

� 	�	� v2 ����	����� ����	������ ����"���$ �	� ���%��

v2 ����	$ ����� v1 ����	��$ #���������� ������� v3 ����

�	���� '� � ��
����� ��	�� �
���	��($ �	����� ����� � �

��� #���������� v4 �� v5 ����	����� '� � ��
����� ������

�
���	��($  	�	 v4 �� v5 ����	 #���������� � 	�	� v3

����	���� '� � ��
����� ��	� � �� �� ��� �
���	����(� ����

��������������� #����!��� ����	� ��!������ ���%� '� � �� �

�<��(� �



���

�� � �<��

#����#�	�$ �	� ���	�������#� �	��� (vi, vj) ���	�  #��

��� #���������� ���
����� �������	%��� ρ(vi, vj) ��� ��

'���������$ ���� �� �))� ���	�� ��� ���%������� ρ(vi, vj)

����� ���!��� #�������� �������� #	���(� ���� ���%� #��!�

���� #��������	� 
�����
��� A = [aij ]n×n ��
����$ �����

aij = ρ(vi, vj)� ���� �� �))� �	������� ���%������� ���� ��
�

����� ������ #������ �� �

A =

⎡
⎢⎢⎢⎢⎣

0 120 0 0 0
120 0 120 0 0
0 120 0 161 106
0 0 161 0 0
0 0 106 0 0

⎤
⎥⎥⎥⎥⎦ .

�� 
��
����

� ����
��� ������$ G(V, E) ���� ����

���� ���	����
������� ���%� ��

V = {v1, v2, . . . , vn}, E = {e1, e2, . . . , em}.

#��	��"	� �"��#���

bij =

{
1, �� vi �� ej ���������� �������
����;

0, �� vi �� ej �� ���� ���������� �������
����



���

����� bij (i = 1, 2, . . . , n; j = 1, 2, . . . , m) ��� ������� #�����

��� n × m �����

B =

⎡
⎢⎢⎣

b11 b12 . . . b1m

b21 b22 . . . b2m

. . . . . . . . . . . . . . . . . .
bn1 bn2 . . . bnm

⎤
⎥⎥⎦

��
����� ��	���� �	������ G(V, E) ����	� 	
�	��
�		� ���


�	��� 	����
������� ���%�� #��� ����#� bij = 1$ �� vi ����

ej ���	� ������� ���
���$ �� bij = −1$ �� vi ���� ej ���	�

�	�	 ���
����

��
��
�
 �$� � ����	� �<�� �� �))� ����	������� ���%��

��� ����������� ��
�������

�� � �<��

∇ ������ v1 �� e1$ v1 �� e2$ v2 �� e1$ v2 �� e2$ v2 �� e3$

v3 �� e3 �������
��� ����	��� �� ���	����$ ���
	� ���	���

��
������� ���%�� #��� ����#� '�� � �<�� �((

b11 = b12 = b21 = b22 = b23 = b33 = 1, b13 = b31 = b32 = 0,

 	�	 	����
������� ���%�� #��� ����#� '�� � �<�� �((

b21 = b22 = b23 = 1, b11 = b12 = b33 = −1,

b13 = b31 = b32 = 0.



���

���� #���������� ����	� �"��#���� ���%���� ����������� ��
�

������*

B1 =

⎡
⎣1 1 0

1 1 1
0 0 1

⎤
⎦ , B2 =

⎡
⎣−1 −1 0

1 1 1
0 0 −1

⎤
⎦ . �

#����#�	�$ �	� �����$ �	�	�� �	��7����	��� ��
�����

#��� ����#�$ ����������� ��
����� ��#������� #���!�������

���%�� �"����� �)	�	�%�)����� ��)��
���

 � �
����
� *��������
�, ����
��� ������$ G(V, E)

������� ���	����
������� ���%��$ ����� E={e1, e2, . . . ,em}�
���	��	� �� ���%�� ����� ���
��� ��
��� ������$ �� ��
���

��� Z1, Z2, . . . , Zk� #��	��"	� �"��#���

cij =

{
1, �� Zi ��
�� �	����� ej ���	�$

0, �� Zi ��
�� �� �	����� ej ���	��

����� cij (i = 1, 2, . . . , k; j = 1, 2, . . . , m) ������
��������

#�������

C =

⎡
⎢⎢⎣

c11 c12 . . . c1m

c21 c22 . . . c2m

. . . . . . . . . . . . . . . . .
ck1 ck2 . . . ckm

⎤
⎥⎥⎦

��
����� ��	���� G(V, E) ���%�� �	����	� ����	��� 	���

��
������� ���%�� #��� ����#� ��
����� ��
����� ��	����

��
�����	� ����	��� 	����
������� ���%�� �	���� ��
���

������ '
	�
���������( %��������� #��	���� ���
����� ���

��������� �� ���� �� ����� ������)"����� �� ���%�� 
	�
��

����� C ��
����� ������	���� ������
���� ��#���* �� #��� �

����#�$ �	�� �	����� 
	�
��#� #������� ���	� �����������



��	

��� ���� 
	�
���� #��	���� ������������$ ��#�� C ��
�����

#��������� ������
�� �����)� ������� +1$  	�	 �����"����

#��� ����#� 3 ��� �� −1�

#����#�	�$ �	� �	��7����	��� �� ����������� ��
�����

������� ���� ������� ���%�� ��
����� �� 
	�
������ ��
���

�� ���%� ����� �� �� �����)"������ ���������$ �� ���%��

�	������ ���	 �� �
������ ��� ��� ��
��$ ��#�� �� ���%��

��
����� ��
����� �� ����� ��� ��������� �� ���	� �����

�	����

��
��
�
 �$�"� ����	� �<�� �� �))� ���	�� ��� ���%��

��� #��������� ��
����� �� 
	�
������ ��
�������

∇ �<�� �( �� �))� ����	������ ���%� ���� ���� ��
��

Z = (e1, e2).

���
	� �� ���%�� ��
����� ��
���� #������ � 	�	� ��� �
�

���	��$ ���� ���� �
���	����
����� ������ �� ��
�� �	�����

e1 �� e2 ���	��� �� �� �	����� e3 ���	�$ ���
	� �� ���%��

��
����� ��
���� ������

C1 = [1 1 0].

� ����$ �	� �<�� �( �� �))� ����	������� 	����
����

���� ���%�� 
	�
������ ��
����� ���� �
���	����
�����

�� �� ���%�� ���������

K = (e1, e2)



���


	�
���� #��	���� ������������ ����"��� ������ ����� �	�

!��	��� �������"����	 ������������$ ��#�� ���%�� 
	�
��

����� ��
����� ������ #������ �� �

C2 = [1 − 1 0]. �

§�'� �
�!.��
� �����
 
����� ����

� ���&�


�� C	%�� ��24 ���� ���� ��� �� )	��� #��� ����#� ��	�

 ��� ��	���� ���#
	���� ����
�	����#� ����� �����������

#��� ��� ��"����� #������� %�)�
�� 
���#� #����� 
�� C	%��

������� '
��	�����( �� �����


�� C	%�� &������ ����� ���� ��� ���#
	����� ����
�

�	������ ���������� 
���!������� ����� ��������� 7��� ���

��� 
	���$ ��� �	
��� #��!���� 6�����	�
∑

I = 0 �� ��� ��


	�	��#� �������� ��#��� ���� ���"	� ����� I�������$ �	�

������ ���� �������� ����������� �"����� 
���!�� ������

'���� 
���!���
�� �� 
���!����(�


�� C	%�� ��	�� ����� ���� ��� ����
�	������ ��������

��� 6�
�
��� 
	�
��������� �� 
	�
���� ����� ������
)�

�� ����� ����)� !������ ��������� 7��� ����� 
	���$ ����∑
U = 0� ����
�	������ �	�	���� 
	�
��������� %���

������� �� 
	�
���� #��	���� ���
����� ����������� ��

���� #���������� ��"��� �	������ 7���� #���
����� ��#����*

�� ����� ����������� ��� ���� 
	�
���� #��	���� #��6���

������������$ ��#�� !����� ���#����	�� ��"��� �������� ��#�

���$  	�	 �� ����� ����������� 
	�
���� #��	���� ������

������� �������"�����	�$ ��#�� �� ��"��� �������"����	 ���

#���� 
�� C	%�� ��	�� ������� ���	�������	��$ �	� ����
�

�	������ ���������� 6�
�
��� 
	�
��������� �� 
	�
����
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����"	����� #������ ����� ����)� !����� �������� ��������

�� 7��� �� 
	�
���� ����	�� ����
�	���	!������� !����

��������� 7���� 
	���$ ����∑
R I =

∑
E .


�� C	%�� ������� �� ����� #�������� ���
	������� �� �

���	
�������� ����
�	������ ��	��
���� �
���
���)��

����
�	������ �	���� ����� #��!���� ����� ��	� �	�	��

���%�$ �	���� ���	��� �"��#���� ����
�	������ #
	���$

 	�	 ����	��� 3 
���!����

���������$ �4�� �( �� �))� �	
����� ����� #��!���� ���	�

��� 	� �4�� �( �� �))� ����	������� ���%���

�� � �4��


�� C	%�� ������ ���%�� ��	���� ���)� #��!���� 6��	�

�������	� ����� %	����*

�
�!.��
� �
�	��
 ���
* BI = 0$

�
�!.��
� ����� ���
* CU = 0$

����� B �� C ����
�	������ ���%�� #��������� ��������

���� �� 
	�
������ ��
�������$  	�	 I �� U #����������

����� !���� �� !����� ���#����	��������� #�������� ���
�

��
������� '� � §���2(�
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��
��
�
 �'��� 6�����	� 
�� C	%�� ������ �4�� �( ���

 �))� �	������� ����
�	������������

�� � �4��

∇ ��� �)	� �	������ ����
�	������ #��������� ���%�

'� � �� � �4�� �((� �� ���%�� ����������� ��
�����

BI =

⎡
⎢⎢⎣

1 1 1 0 0 0
−1 0 0 1 1 0
0 −1 0 −1 0 1
0 0 −1 0 −1 −1

⎤
⎥⎥⎦ .

������

BI =

⎡
⎢⎢⎣

1 1 1 0 0 0
−1 0 0 1 1 0
0 −1 0 −1 0 1
0 0 −1 0 −1 −1

⎤
⎥⎥⎦
⎡
⎢⎢⎢⎢⎢⎣

I1

I2

I3

I4

I5

I6

⎤
⎥⎥⎥⎥⎥⎦=

⎡
⎢⎢⎣

I1 + I2 + I3

−I1 + I4 + I5

−I2 − I4 + I6

−I3 − I5 − I6

⎤
⎥⎥⎦ .



���


�� C	%�� &������ ����� ���� ��� BI = 0$ ���
	�⎧⎪⎪⎪⎨
⎪⎪⎪⎩

I1 + I2 + I3 = 0

−I1 + I4 + I5 = 0

−I2 − I4 + I6 = 0

−I3 − I5 − I6 = 0.

'#����#�	�$ �	� ��"����� ���
��� ��� ���� ���� ��"���� ���

�
����; � � ��'�2��((�

������ �	������ ���%�� 
	�
������ ��
�����

C =

⎡
⎣ 0 −1 1 0 0 −1
−1 1 0 −1 0 0
0 0 0 1 −1 1

⎤
⎦ ,

���
	�

CU =

⎡
⎣ 0 −1 1 0 0 −1
−1 1 0 −1 0 0
0 0 0 1 −1 1

⎤
⎦
⎡
⎢⎢⎢⎢⎢⎣

u1

u2

u3

u4

u5

u6

⎤
⎥⎥⎥⎥⎥⎦ =

⎡
⎣−u2 + u3 − u6

−u1 + u2 − u4

u4 − u5 + u6

⎤
⎦ .


�� C	%�� ��	�� ����� ���� ��� CU = 0$ ����⎧⎪⎨
⎪⎩
−u2 + u3 − u6 = 0

−u1 + u2 − u4 = 0

u4 − u5 + u6 = 0.

�� ����������������$ �	�

u1 = E1 + R1I1, u2 = R3I2, u3 = R4I3 − E3,

u4 = R2I4 + E2, u5 = R6I5 + E4, u6 = R5I6,



���

������ ����"���⎧⎪⎨
⎪⎩
−R3I2 + R4I3 − R5I6 = E3

−R1I1 + R3I2 − R2I4 = E1 + E2

R2I4 − R6I5 + R5I6 = E4 − E2.

�
����
���� ���
��� ��� ���� '���2��( ���
����� �



���

��������
 �� ��	���
����


�:��� 6��	�������� �� �� ������� �:�� �� �))� ����	��

������ G(V, E) ���%�� ����	���� V �� ���	���� E �������

�����*

�� � �:��

�:��� �� �)�� ������� ���%���* �( K3; �( K4; �( K5; �(

K6�

�:��� ��	����� �:�� �� �))� ����	������� ���%�� v1 ����

�	� �������
��� ���	����

�:�2� ���� �� ��� �:�� �� �))� ����	������ ���%��� �)	�

�������� ����	���B ��	����� �� ����	����

�:��� ��	����� �:�� �� �))� ����	������� ���%����

(v1, v2) ���	� �	��)"��� ���	����

�:�<� �����)"���� �:�� ����	������� ���%���� ����� ����

�	�  ���� � �� ��"����� #������ ����	�� #���	���� '����(


	�	��� ��#��������



���

�� � �:��

�:�4� �	����� �:�� �� �:�� �� �)��)� ����	������� ����

%������ �( �������	���� ���%�; �( 7���� '���
��� 7����(;

�( ��
��; �( ����� ���%�; �(  �; �( 
�� '�� ���  �(B

�:��� �������  � #��!���� ���	� � ����	�����B �� �)��

���� ����� ����)	�	�%���  ��

�:�1� ����	� �	������� �� ��� �#�����	�������� �����	

��������� 6��	�������*

3������ 	�6��� ���
��,���� 

A ! ��*�	 ��"����	 ��	�������� # �����
� �����(��
B ! 	�
��"�
�	 ��������� ' A-	 ������
C ! ���� "��	���3(��	 ����� #& B-	 ./!0
D ! *4
�	 ��	���������
�

3	�
�	 �������1��� 5 C-	 ./!0
E ! �
�3���
� 	��������� $ C-	 ./!0
K ! ��	����"�����
� 	������ % D �� E-	 ./!0
G ! ���� 	������	 ��	��
��� #2 C-	 ./!0
H ! ���� 	������	 ��	��
��� $ K-	 ./!0
L ! 
�������� & G-	 ./!0
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�� �)�� #��������� 	����
������� ���%�$ ��������� 
���


�
��� �)� �� �&	��� �� ��� ���#������� �����	 ��������

��	�

�:���� �	����� ��
���� ���%� �:�� �� �:�� �� �)��)�

����	������� ���%������B �&	��� �� ����	������� ��
���

�� ����� ���%���� �� ������� ��	���	�� �� #���	���� �����

��� ������� ��	����� ��������	���

�:���� �� �)�� ����� 	�� ���� '	��������( ���%�*

�( K2,2; �( K3,3; �( K3,2; �( K3,4; �( K4,4�

�:���� &�����	��� ���	������ ���	������� ����
����$

���� �� ��� �:�� �� �))� ����	������� ���%��� &�������

��B

�� � �:��

�:���� &�����	��� ���	������ ���	������� ����� �:�2

�� �))� ����	������� ���%���� �
�������
��� ��
���� ����

%���

�� � �:�2



���

�:��2� ������� ��	����� ���	������� �6�����$ �	� �����

K5 ���%� ���&����������

�:���� �6�����$ �	� �:�� �� �))� ����	������� ���%���

���&���������$ ��������� ���� ����� '%������ ��	���	��(

�� �� �)�� %������*

�� � �:��

�:��<� �����)"���� �:�< �� �))� �	������� ������ �����

'%������ ��	���	��( �� ����	������� �� ��
���� ���%����

�� ���

�� � �:�<

�:��4� ����� �:�4� �� �))� ����	������� ���%���� �	���

7����	��� ��
�����




		

�� � �:�4

�:���� ����� ���%� '�( �� �( #��� ����#� 	����
����

����($ �	���� �	��7����	��� ��
�����*

�( A1 =

⎡
⎢⎢⎢⎢⎣

0 1 1 0 1
1 0 1 0 0
1 1 0 1 1
0 0 1 0 1
1 0 1 1 0

⎤
⎥⎥⎥⎥⎦ ; �( A2 =

⎡
⎢⎢⎣

1 0 0 1
0 0 1 0
0 1 0 1
1 0 1 0

⎤
⎥⎥⎦ ;

�( A3 =

⎡
⎢⎢⎢⎢⎣

0 0 1 1 0
1 1 0 0 1
0 1 0 0 0
0 0 0 0 0
1 0 0 0 0

⎤
⎥⎥⎥⎥⎦ ; �( A4 =

⎡
⎢⎢⎢⎢⎣

1 0 1 0 1
0 0 1 0 1
0 0 0 0 0
0 0 1 0 0
0 0 0 1 0

⎤
⎥⎥⎥⎥⎦ .

�:��1� ����� �:�4 �� �))� ����	������� ���%���� �����

������� ��
�������

�:���� ����� ���%� ')	��� #��� ����#� 	����
�������($

�	���� ����������� ��
�����*

�( B1 =

⎡
⎣1 1 0 0

0 1 0 1
0 0 1 1

⎤
⎦ ; �( B2 =

⎡
⎢⎢⎣

1 0 0
1 1 0
0 1 1
0 0 1

⎤
⎥⎥⎦ ;

�( B3 =

⎡
⎣−1 0 1 1

0 1 −1 0
1 −1 0 −1

⎤
⎦ ; �( B4 =

⎡
⎢⎢⎣

1 0 1
−1 1 0
0 −1 0
0 0 −1

⎤
⎥⎥⎦ .
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������ '�	����� ��%���� �"��#����� ��
����� �	��

����(*

�� � �:��

�:���� ����� �:�1 �� �))� ����	������� 	����
�������

���%���� 
	�
������ ��
������ '�	����� ��%���� �"��#�����
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������ �	�����(�

�� � �:�1

�:���� �� �)�� �:��� �� �))� ���	�� ��� ����
�	������

#��������� ���%�� �&	��� �� ���%�� ����������� �� 
	�
��

����� ��
������ �� �� ��
������� ���	������� ������� ����


	������$ �	������ ���	�� ���� 
�� C	%�� ������ �	������

������������ �&	��� ����� !��� �� ����������� ������ �����

�����#��




	


E1 = 120v, E2 = 110v, E1 = 24v, E2 = 18v,

R1 = 1Ω, R2 = 1Ω, R3 = 10Ω, R1 = 4Ω, R2 = 6Ω,

R4 = 2Ω, R5 = 2Ω. R3 = 4Ω.

�� � �:���
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������� ����� �	������ ���	����
�

������� ����� ���	������� ������� !������ �%��	� ����

�	������ 
	������� ��	���� 
	������� ��	��� #���������

��
�� ���$ �	������ ��
��#�������� ��%	������� �����)"��

���� �
�����
��� %	���� ����	���������� 
��#��������

�	��� �	���� �� � ��������#������ � 	�	� ���
����� �� ��

���������� �����������$ ���
	� ���������� ��%	������� �	�

���� #���������� ������ '��	$ ��
��� �� ��#�( ���� #������	�

���������� ���
����� 
	���������� 
	��� 
�&��� ���������

�	�)�� 
	��$ �	���#�� �	��� ��	� �� ��%�� #����������

����� �	
�� '���
���( �� ��!��� '
���( ��&������� ���
���

��� �������	��� �� 
	��� �� �	��� #��!���� 6������	� 
	�

��$ �	���#�� �� ��)�������� ���	������� ��&���� '���� ����(

�� &��)� '���� �� ����(� �������$ �� ��&���� #�����������

����	�	� ,�-��$  	�	 &��)�� � ,�-��$ ��#�� ���������� #�
�

�	������ #��!���� ����	������	� �	�	�� ������� �� ���

�������� �������	��$ ���������$ �����* '�����(� � �� � #��!�

���� 6������	� ������� F2 ����� ������
����$  	�	 ����

#�
�	������ 3 Fn
2 ���
	���� ������� ������
���
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������ ������ ���� ���	������ ���� ��%��� �	�������

�� ���
������ '����� ��%��� ������� ��
	��
����( ��	���

�#�� ����� ���
��� #��!���� �����)�	�$ �	�	�� �	��	���	�

��$ �	���#�� ��	�� ���
���� �	���
#� ��"��� #���� '���

%	������ �� ��#�( �� �	����� ��	�� ���
���� �	���
��

�#� ��"���� �������� ���� �	��	���	���� ��� �� ���
����

���� �	�	�� � ����� �� 
����
��� ��#�������� '������
��

�������� ��
	��
���$ �	������ 
���%	����$ 
	�&��
�����

�� ��#�($ ��� �	� ��� 	�����)�����

§�(� ���
���
� ����

� ��
�����
 ����%���


�� ���
���� �� �����
���� �����
� ���������+

���
 ���
� 
��#��������	��� �� ���� #�
�	������� �����

������� �	�������  ���� ���������� ���
����� ���� ��7����

���
	� ���������� ��������� ����� ���	����� #���#�����$

�	� �� ���� ��7���� ���	������ #���	��� �����	�� ��	�

����������� 
	������� ��	���� !������� ���� �� ����$ �	�

��������� ����� ��%	������$ �	����� ����� ���#� ���
���

��� �� �� #������ �	�	�� ��������� ��%	������� '#�
�

�	�������($ ��� ����
���� '��� ����( ��%	�������$ �	����

��#��������� #���!������  ���� ��"����� ��%	������� ,����

�����- ����#� , ����������-�

������	��#� 
	������� &�	���� #��!���� ���	��� 	� #��

����� ������ ��#������� '� � �� � ����(*




	�

�� � ����

�� u ���������� ��
����$ �	����� ����	������ ��������

��� '����	�	����( ���
���� �������	���* u=(α1, α2, . . . , αk)�

#�
�	������� �	���� αi 
	�&	���
� ����	������ ����� ����

���� Fq ����� '� � §�( ������
�$  	�	 ���� u #�
�	������

#��!���� ����� ��	� �	�	�� k����)	��������� F k
q ���
	�

���� ������� u = (α1, α2, . . . , αk) ������
� '���
	��(� f

��� ��� ��#�������  ���� �� #�
�	������� 
	������$ ���� u

��
��� ������������ ����
����� ��%	������� #������ � ��

v ��
����� ���� v ��
���� ��	���� �����	 �	���� �� ����

���
	���� ������� ������
��* v = (β1, β2, . . . , βn) ∈ F n
q

(n > k)�

f : F k
q → F n

q ��� �� ���	�	 ���	� #��� ����#� '�� ���

 ����� � 	�	� ��%�� 
	����( ���� ��%��� ��� �� �� ���

��	���� ���	���	� ������ ���� #���������� g : F n
q → F k

q

��%�� ��� ���$ �	���� ��#������� ��"����� v∗ ��
������

'�	���#��$ #���!�������$ ��#������ ��	� #���	��( ���	��	�

%� &��������� u∗ ��
���$ ��	���� �����	���	� ������

���
��� 
	��� #��� ����#� f : F k
q → F n

q 
	������� ����

�� �	��� u = (α1, α2, . . . , αk) #�
�	������� #���������� ����




	�

v = (α1, α2, . . . , αk, βk+1, . . . , βn) 
	��� ��
����$ �	���� &��

����� k ����	�	 '
		�����
�( ��� ���� #�
�	������� ���

��	�	��� '�� ����	�	��� ��	���� ��	
������	� �	�����


��	($  	�	 �����6��� n − k ����	�	 '���� ������������	 �	


�������	( ���
����� ����� ���"��� ����%	�����	 ����	�	�

��������� ����� 
	��� �������� ����	������ �����	� ��


����������	 ���	�

������$ ����������� u = (α1, α2, . . . , αk) #�
�	������$ ���

��� αi ∈ F2 = {0, 1} (i = 1, 2, . . . , k)� 
	������� �����

����	� #�����������*

f(α1, α2, . . . , αk) = (α1, α2, . . . , αk, αk+1), '����(

�����

αk+1 = α1 + α2 + · · · + αk. '����(

#��� ������$ �	� '����(�#� #�
����  ���� ������ F2 ���#�$

�����

0 + 0 = 1 + 1 = 0, 1 + 0 = 0 + 1 = 1. '����(

'����(�#� α1, α2, . . . , αk ����%	�����	 ����	�	����$  	�	

αk+1 3 #����	������� ����	�	� '����( �� '����(���� ���	��

������	��$ �	�

αk+1 =

⎧⎪⎪⎪⎨
⎪⎪⎪⎩

0, �� α1, α2, . . . , αk �������	��#�

���������� ������ �����$

1, �� α1, α2, . . . , αk �������	��#�

���������� ������ 
��
���

������$ u = (0111)� ������ �� ��
���#� ���� ��������$

���
	� α5 = 1 �� v = (01111)� �� u = (0101)$ ��#�� α5 = 0

��$ #����������$ v = (01010)�




	�

��������	� '����( 
	�	�� #������ �� ��

α1 + α2 + · · ·+ αk − αk+1 = 0.

������ ������ F2 ���#� αk+1 = −αk+1 '� � '����(($ ���
	�

α1 + α2 + · · ·+ αk + αk+1 = 0. '���2(

������ ���	�������	��$ �	� �� ��"����� v∗ ��
���� 
		��

����
���� 7��� �� ������ ���� 
	�� '���� v∗ ��
���#� �����

������ ��� �� �� ������ ����($ �� ���� ����#������ ������$ �	�

��
��� ��"������ #���	���� ���� ���	 �"��#��� 
	�� ��	�

���� �����	� ������������	 ���	�

'���2(���� ���	�������	��$ �	� �	������ 
	��� �����


	��� ��
����� V �������� ��� ���� ��%��� �������	����

x1 + x2 + · · · + xk + xk+1 = 0 '����(

���
	����� ��	�� ���� ��������� F2 ���#�$ �� �� ��������$

�	�	�� ��	����� '� � §�($ ����	������ F k+1
2 ���
	����

������� ��%�� �����������

�� ���
	
 ���
� ���
� �

��� �� 
��&��
�����

���� &���
#� ��� ����� 
	�� #	���� �����	%������$ ������

	�� ��$ �����	�$ ���� ��	���	��� #���	��� #��� ����#�

#����	������� '���2( 
	�	�� ����� ��������� ���� �����$

#���	��� �"�	6���� #��� ����#�� ��� ����������$ �	��� ���

��	�	#�� ��#������ #���	��� ���� ���� ���&��	������ �%�

�	 ����� 
	����� #��	"���� ��������	��$ �	����#�� �	�

������	�� ��� ����$ ������ ��������� #����	������� ����	�

�	� ���� #����������$ ��%��� �������	���� '����( ���
	����




	�

������� ��%�� �������� ���
	������ �������	����⎧⎪⎪⎨
⎪⎪⎩

a11x1 + a12x2 + · · ·+ a1nxn = 0
a21x1 + a22x2 + · · ·+ a2nxn = 0
. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
am1x1 + am2x2 + · · · + amnxn = 0.

'���<(

���
����$ ����� m = n−k (n > k)$ aij ∈Fq (i=1, 2, . . . , n − k;

j =1, 2, . . . , n)�

�� ���
���� (n − k) × n ���)	�������

H =

⎡
⎢⎢⎣

a11 a12 . . . a1n

a21 a22 . . . a2n

. . . . . . . . . . . . . . . . . . .
am1 am2 . . . amn

⎤
⎥⎥⎦

��
����� ��	���� ���	� ������������	 ����	��� &��	���

!���� rank H = n − k$ ���� ���
���� ����� ���
	���� ���	�

�
��������� #��������� 
	��� 
	��� ��
����� V ��������

'��$ ��� ������$ '���<( �������	���� ���
���� ��	�� ���� ���

������( ���� F n
q ���
	���� ������� k����)	��������� ����

������ '� � '���((� V ��������� ��	���� ���	�	 (n; k) ���	

Fq ������ n�� ��	���� ���	� �	�� �$  	�	 k ��� �� 3 ���	�

��
���	����� �� q = 2$ 
	�� ��	���� �	
����	 '����	�	(�

���������$ ���	��� #����	������� 
	�� ���� ��������

(n; n − 1) 
	��$ �	���� #����	������� ��
���� ���� 1 × n

���)	�������

H = [1 1 . . . 1 1]

��
���� ������
���� F2 ���#��




	�


	��$ �	���� #����	������� ��
�����

H =

⎡
⎢⎢⎣

a11 a12 . . . a1k 1 0 . . . 0
a21 a22 . . . a2k 0 1 . . . 0
. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
am1 am2 . . . amk 0 0 . . . 1

⎤
⎥⎥⎦ ,

��	���� �	������	 ���	� � ����$ �	� ���	��� #����	����

���� 
	�� ���� ���
����� 
	���

����� ��	� ���
����� 
	��� 
���� ���� ��������$ �	�

����� #������ � 	�	� ��� ����%	�����	 α1 ����	�	� ��

n − 1 #����	������ β2, β3, . . . , βn ����	�	� '���� ���� (n; 1)


	��($ ����� β2 = β3 = · · · = βn = α1� �������$ ����%	�

�����	 α1 ����	�	 ��	����� 
���� (n − 1)�7��$ ��� ���	�

���� 
	�� ��	���� ���	 ��
������	�� �� 
	��� #����	����

���� ��
�����

H =

⎡
⎢⎢⎣

1 1 0 . . . 0
1 0 1 . . . 0
. . . . . . . . . . . . . . .
1 0 0 . . . 1

⎤
⎥⎥⎦ .

 � ���
� ������%����
 ����
��� �	�	�� �
�� �"��

��#���$ ��%��� (n; k) 
	��� 
	��� ��
����� V ��������

����	������ F n
q ���
	���� ������� k����)	�������� ����

�������� ������$

e1 = (γ11, γ12, . . . , γ1n)
e2 = (γ21, γ22, . . . , γ2n)
. . . . . . . . . . . . . . . . . . . . . .
ek = (γk1, γk2, . . . , γkn)

'���4(




�	

V ������� �������� ��)���� ''���<( �������	���� ���
����

��	�� ���� %�������
��� ���
���(� ����� ��	� �� ��)���� ���

�
	����� 
		�����
�������� #�������� ��
����

G =

⎡
⎢⎢⎣

γ11 γ12 . . . γ1n

γ21 γ22 . . . γ2n

. . . . . . . . . . . . . . . . . .
γk1 γk2 . . . γkn

⎤
⎥⎥⎦ . '����(

�������	���� '���<( ���
���� ���������� ��	�� ��� '���� 
	�

���� v ��
���( ����	������ '���4( ���
	����� ��%�� 
	�

���������$ ����

v = α1(γ11, γ12, . . . , γ1n) + α2(γ21, γ22, . . . , γ2n) + · · ·+
+ αk(γk1, γk2, . . . , γkn). '���1(

6�����	� '���1( 
	�	�� ��
������ �� ��

v = uG, '�����(

����� v = [β1β2 . . . βn]$ u = [α1α2 . . . αk]�

'�����( %	������ ��#�������  ���� #�
�	������� 
	���

����$ ���� ���������� u = (α1, α2, . . . , αk) ��
��� ������� 
	�

���� v = (β1, β2, . . . , βn) ��
����� ���� ���	 '����( 
	�	���

�����)"���� G ��
����� ��	���� ���	� ��������
��	 ���


�	���

��	���
�� �(��� ������$

H =

⎡
⎣0 0 0 1 1 1 1

0 1 1 0 0 1 1
1 0 1 0 1 0 1

⎤
⎦ '�����(

���� ��%��� �������� (7; 4) 
	��� #����	������� ��
�����

��&	�	� �� 
	��� ����	������� ��
�����




��

∇ #����	������� H ��
����� ��#������� '���<(��� �� ��

���� #�������	� ��%�� �������� ���
	������ �������	�

���� ���
���⎧⎪⎨
⎪⎩

x4 + x5 + x6 + x7 = 0

x2 + x3 + x6 + x7 = 0

x1 + x3 + x5 + x7 = 0.

'�����(

H ��
����� �	�	 ���� ���
������ #�������� ���	�� ����	�

������ �� ��
����� ��)���� ���	��� ���� #���������� ��������⎧⎪⎨
⎪⎩

x5 + x6 + x7 = −x4

x6 + x7 = −x2 − x3

x5 + x7 = −x1 − x3.

'�����(

F2 ����� ���������� a ������
������� '� � '��4( �� '���((

−a = a, 2a = a + a = 0, 3a = 2a + a = a, '����2(

���
	� '�����( ���
������ ����"���⎧⎪⎨
⎪⎩

x5 + x6 + x7 = x4

x6 + x7 = x2 + x3

x5 + x7 = x1 + x3.

'�����(

�� x1, x2, x3, x4 ������%��� ���	������ '�����( ���
���� ��	��

�� ������ ���
	������ ������
	� &������⎧⎪⎨
⎪⎩

x5 + x6 + x7 = x4

x5 + 2x6 + 2x7 = x2 + x3 + x4

2x5 + x6 + 2x7 = x1 + x3 + x4.




�


'����2(��� ��������������� ������ ����"���⎧⎪⎨
⎪⎩

x5 + x6 + x7 = x4

x5 = x2 + x3 + x4

x6 = x1 + x3 + x4.

'����<(

'����<( ���
���� &����� ���
	����� ������
	� ��	�� �� ���

���� ���
	������� 7���⎧⎨
⎩

x7 = x1 + x2 + x4

x5 = x2 + x3 + x4

x6 = x1 + x3 + x4.

�� ������%�� x1, x2, x3, x4 ���	���� ���������� ���������

x1 = α1$ x2 = α2$ x3 = α3$ x4 = α4 ���#����	���� F2 ���

�����$ ����"��� '�����( ���
���� ��	�� ���⎧⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎩

x1 = α1

x2 = α2

x3 = α3

x4 = α4

x5 = α2 + α3 + α4

x6 = α1 + α3 + α4

x7 = α1 + α2 + α4.

'����4(

�������$ V ������� ��)��� '���� '�����( ���
���� ��	�� �

���� %�������
��� ���
���( #������

e1 = (1, 0, 0, 0, 0, 1, 1)

e2 = (0, 1, 0, 0, 1, 0, 1)

e3 = (0, 0, 1, 0, 1, 1, 0)

e4 = (0, 0, 0, 1, 1, 1, 1)




��

���
	��������� '� � �������� ���(� ���� �� ����� ������ 
	�

��� ����	�������

G =

⎡
⎢⎢⎣

1 0 0 0 0 1 1
0 1 0 0 1 0 1
0 0 1 0 1 1 0
0 0 0 1 1 1 1

⎤
⎥⎥⎦ '�����(

��
����� �

��	���
�� �(��� �&	��� u = (1000) ��
���� #���������


	���� v ��
��� ���� �����7�#	#� �	������ �������� (7; 4)


	��� #��� ����#��

∇ '�����( %	������ ���� ���

v = uG = [1 0 0 0]

⎡
⎢⎢⎣

1 0 0 0 0 1 1
0 1 0 0 1 0 1
0 0 1 0 1 1 0
0 0 0 1 1 1 1

⎤
⎥⎥⎦ = [1 0 0 0 0 1 1],

���� v = (1000011)� �� 
	��� ��
���#� &������ 	� � ����	�	

����%	�����	�$  	�	 �����6��� ���� 3 #����	�������� �

"� .��
�

� ����
�
 �� .��
�

� ���
� ������$ x ��

y ���� F n
q ���
	���� ������� 	�� ���
	��� d(x, y)��� �"��

��#�	� x − y ���
	��� ������	���� 
		�����
���� ��� ��

'���� x �� y ���
	����� ���� �������� 
		�����
���� ��	���

�	��(� �� d(x, y) ��� �� ��	���� (��	
�	� ��
 	�	 x �� y ����


	���� #	���� �����$ �	�	�� Rn ������� #��� ����#� '� �

§2(� d(·, ·) ���� ��
��
� F n
q ������#��

������$ � ���������� ��
������� ��� ���� ��
����$ �	�

V ⊂ F n
q ���	�	 ���	 �������� � ��������$ �� F n

q �����

��� ���������� y ���
	�������� �	�!������ ��� ���
�� ����




��


	���� v ∈ V ��
�����$ �	����������

d(y, v) ≤ �. '����1(

������$ 
	���� v ��
���� ����������� ����"�� v∗ ��
���$

�	���#�� ��#������� � �� ��
���� #���	��$ ����

v∗ 	= v, d(v, v∗) ≤ �.

�� 
	�� ���	���� � #���	���$ ����� v∗ ��
��� �� ���� �
��

���	��� 
	��� ��
����� V ���������$ ����� �)�������	%�

)��	� �"��#���� &��	��* v∗ ∈ V #��� ����#� y = v∗ ��
��

�������� 'Fn
q ������� ������
�������( ��������� 	�� 
	���

�� ��
��� v �� v∗$ �	���������� �������� '����1( �
	�

�	��� ����� ��	�$ ���������� 
	���� w 	= v ��
���������

d(v∗, w) > �$ ���
	� v ���� v∗���� �����)� � �	� ���	�� 
	�

���� ��
���$ ���� v∗��� ��
	������ �� �	�� ��
������ �!����

��	� #������

�������$ 
	������� ��	���� ������� !������ ��	�����

����	������ ����� 
	����� �����$ �	������������ 
	����

��
����� ������������ �������������� ��� #��!���� ��
 ����

!��)��

dV = min
x,y∈V
x �=y

d(x, y)

��� �� ��	���� V ���	� (��	
�	� �	
	�����	 ��
 	�	 '���$

�����	�$ ��
 	�	(� �"���#�	�$ �	� ���������� ��%��� V 
	�

�������� ��������

dV ≥ 2� + 1. '�����(

�
	�	��� ���������$ �� 
	��� ���������� ���!��� dV = 3$

��#�� � = 1$ ���� 
	�� ���	���� ��� #���	����




��

���������	� ������� ����%���	��$ �	����� �
��#�����

����������� 
	��� ��������� dV ���!��� 
	��� #����	����

���� H ��
����� ��%���� ���	�
������� ���
���� ��	���

�	������* �� H ��
����� ���������� s ���
� ��%���� ���	�

�
��������$ ��#��

dV ≥ s + 1. '�����(

������$ x = (x1, x2, . . . , xn) ∈ F n
q � ����� ��	� x ���
	��

�	�	�� �
���	����
���� �� 6�����	� '���<( ���
��� ��
�

������ %	����

Hx� = 0, '�����(

�����

x� =

⎡
⎢⎢⎣

x1

x2
���

xn

⎤
⎥⎥⎦ .

Hx� ���
���
����� ��	���� x ������	� �	
����	 �� �"��

��#���� S(x) ����	�	��

S(x) = Hx�.

'�����(���� ���	�������	��$ �	� 
	���� ��
���� �����	��

����� 
	��� '���$ �� S(x) 	= 0$ ��#�� x �� ���� 
	����

��
���(�

Hv� = 0 �� v = uG 
	�	������� '� � '�����(( ���	����

����	��$ �	� 
	��� #����	������� �� ����	������� ��
���

���� ��
��#�������� ����������� 
	�	���

GH� = 0.




��

������$ ������� 
	���� ��
��� v = (β1, β2, . . . , βn)$  	�

�	 ��"������ ��
��� v∗ = (β∗
1 , β

∗
2 , . . . , β

∗
n)�

δ = v∗ − v = (β∗
1 − β1, β∗

2 − β2, . . . , β
∗
n − βn)

���
	�� ��	���� ������	� ������	� ������ v ∈ V 
	����

��
����$ ���
	� S(v) = 0 �� #����������

S(δ) = S(v∗ − v) = S(v∗) − S(v) = S(v∗) − 0 = S(v∗),

���� ������	� ������	� �	
����	 �	�����	 v∗ �	���	� �	
�


���	� ���	��

������$ V �������� (n; k) 
	���$ �	���� #����	�������

��
�����

H =

⎡
⎢⎢⎣

a11 a12 . . . a1n

a21 a22 . . . a2n

. . . . . . . . . . . . . . . . . . .
am1 am2 . . . amn

⎤
⎥⎥⎦ (m = n − k, aij ∈ Fx).

#���	��� ���
	��� S(δ) �����	�� ��������	� #������ ���

 ��*

S(δ) = Hδ� =

⎡
⎢⎢⎣

a11 a12 . . . a1n

a21 a22 . . . a2n

. . . . . . . . . . . . . . . . . . .
am1 am2 . . . amn

⎤
⎥⎥⎦
⎡
⎢⎢⎣

δ1

δ2

· · ·
δn

⎤
⎥⎥⎦ =

= δ1

⎡
⎢⎢⎣

a11

a21

· · ·
am1

⎤
⎥⎥⎦+ δ2

⎡
⎢⎢⎣

a12

a22

· · ·
am2

⎤
⎥⎥⎦+ · · ·+ δn

⎡
⎢⎢⎣

an1

an2

· · ·
anm

⎤
⎥⎥⎦ =

= δ1h1 + δ2h2 + · · ·+ δnhn, '�����(




��

����� hi ���� H ��
����� i���� ���
� (i = 1, 2, . . . , n)�

������ δi ∈ F2 = {0, 1}$ ���
	� '�����(���� ���	��������

	��$ �	� #���	��� ���
	��� '��$ ��#�������$ ��"����� v∗

��
����( �����	�� H ��
����� �� hi ���
���� 7���� 
	���$

�	����� ��������� ��� ���� #���	��� ��"����� ����	�	����

�	������ ���������$ �� #���	��� ��"������ &������$ ��	��

�� ��	� � ����	�	$ ��#�� δ1 = δ2 = δ4 = 1$  	�	 �����6���

δi = 0$ ���
	�

S(v∗) = S(δ) = h1 + h2 + h4.

�"��#���� %��
���� ���	�������	��$ �	� �� H ��
���

��� ����� ���
� �������������� ���� ���������$ ��#�� ���	

������	� ����������	 �	�����	 �	���	� �	
����	 ��������

������������	 ����	�	� 	� ������ ����	� 	
����	 ���	� ���


���	� �	�����	 �	������ 
�����*

S(v∗) = hi =⇒ #���	��� ��"������ i���� ����	�	 βi�

����� ��	� ����� 
	��� ��������� ������$ m ≥ 2 ��
��

������ ��� ���� ���"	� m× (2m − 1) ���)	������� H ��
�

����$ �	���� ���	���� hi ���
� ����	������ i ��� ���

6������ 	�	��� ���
���#� (i = 1, 2, . . . , 2m − 1)� ���������$

m = 3 #��� ����#�

h1 =

⎡
⎣00

1

⎤
⎦ , h2 =

⎡
⎣01

0

⎤
⎦ , h3 =

⎡
⎣0

1
1

⎤
⎦ , h4 =

⎡
⎣1

0
0

⎤
⎦ ,

h5 =

⎡
⎣10

1

⎤
⎦ , h6 =

⎡
⎣11

0

⎤
⎦ , h7 =

⎡
⎣1

1
1

⎤
⎦ ,




��

��$ ���� #����������$ H ���� 3×7 ���)	������� #������ ��
�

����

H =

⎡
⎣0 0 0 1 1 1 1

0 1 1 0 0 1 1
1 0 1 0 1 0 1

⎤
⎦ .

������� 
	��$ �	���� #����	������ ��
����� ���� )��

�	� �"��#���� �� �$ ��	���� (��	
�	� ���	� C������� 
	��

���� 2m −m− 1 ���)	������� 
	��$ �	����� ���	���� ���

#���	����

���� �����7�#	��� ���	�������	��$ �	� m = 3 #��� ���

��#� C������� 
	��� ����	������� ��
�����

G =

⎡
⎢⎢⎣

1 0 0 0 0 1 1
0 1 0 0 1 0 1
0 0 1 0 1 1 0
0 0 0 1 1 1 1

⎤
⎥⎥⎦ .

��	���
�� �(� � ������$ C������� 
	�#� m = 3 �� ���

"������ ��
��� v∗ = (1100011)� �����

��	�$ �	� ��"����

��
���#� ���� #���	�� �� #�����	�	� ����

∇ ��&	�	� v∗ ��
���� �����	��

S(v∗) = H(v∗)� =

⎡
⎣0 0 0 1 1 1 1

0 1 1 0 0 1 1
1 0 1 0 1 0 1

⎤
⎦
⎡
⎢⎢⎢⎢⎢⎢⎢⎣

1
1
0
0
0
1
1

⎤
⎥⎥⎥⎥⎥⎥⎥⎦

=




��

=

⎡
⎣ 1 + 1

1 + 1 + 1
1 + 1

⎤
⎦ =

⎡
⎣0

1
0

⎤
⎦ .

������ S(v∗) 	= 0$ ���
	� v∗ ��
���#� ���� #���	��� 6������

�	�$ �	� v∗ ��
���#� ���� #���	���� ������ �� ��
����

S(v∗) �����	�� ��� ���� H ��
����� ��	�� ���
�$ #���	�

��� ���� ��"����� v∗ = (1100011) ��
���� ��	�� �����)�

���	�� ��� �� �� �� #���	��� #���	����� #����� ����"���


	��� ��
���� v = (1000011)� �

§�)� ���
	
 ���������
 �
������


����	 ������	
	�����	 �	����� '��� ������	 �������	(

#��!���� ���� �����	� �	�	�� �	��	���	��$ �	������

���� #������� �� ���	������ �� ��� �� �	����� ��	�� �	���

���
��
�� �	���
#� ���	%��� ������� %���������

���	����	��#�� #������� �� �� ��	�� �	��� ���� �	���
�

#� �	��	���	��#� #���� ���
����� �������$ ��� �� �����

��� ������� �	��	���	��� ���	����	�� �� ���	����� �� )�

����	�#	�� ���
����� ��������

������$ U, S, V ������� ���������� ������������$  	�	

ω1 : S × U → S, ω2 : S × U → V

���������� %���������� ���� ���������� �� %��������

M = {U, S, V, ω1, ω2}
���	���	��� ����	 ������	
	�����	 �	����� ���������


���� ������	 �����
��	� ��� ������	 �������	 ��	�����

U�� ��	���� ������� �	������� �	������$ V �� 3 ���������





	

�	������� �	������$ S�� 3 ����������	� �	������� �	����


��$  	�	 ω1 �� ω2 %�������� 3 #���������� �������	� ��

�����������	� ��
��	��	� �� ��	����� ���
���� s(t) ∈ S

���	����	�� �� u(t) ∈ U #������� ����	�	 ��	�� t �	���
�

#� 't 3 ����� ��� ���($ ��#�� ���� s(t + 1) ∈ S ���	����	��

��	�� �	�����	 t + 1 �	���
#� �� v(t) ∈ V ���	������ ���

��	�	 ��	�� t �	���
#� ������)"����� ω1 �� ω2 %���������

��#�������*

s(t + 1) = ω1(s(t), u(t)), '�1��(

v(t) = ω2(s(t), u(t)). '�1��(

��
��
�
 �)��� ������$ U = V = {0, 1}$ S = {s0, s1}$
 	�	 ω1 �� ω2 %�������� �	����� �1�� � ������ ����6���$

�	�	� ���#����� M = {U, S, V, ω1, ω2} ��
	��
�$ �	�����

���	%��� s0 ������ ���	����	��#�$ �� ��� #��������)� ���

���	���� (0, 1, 1) �������	����

S × U ω1 ω2

(s0, 0) s0 1
(s0, 1) s1 0
(s1, 0) s1 0
(s1, 1) s0 0

� ���� �1��

∇ ��
	��
� 7�� ��	�
�� ��� �	������ '�$�$�( �������

�	��� &����� ����	�	� ���$ ���	�������)� ��	������� ���

'������ ω2(s0, 0) = 1( �� ���6��� ���� s0 ���	����	��#�

'������ ω1(s0, 0) = s0)� #����� ��
	��
� ��	�
�� ��� �	���

���� �������	��� ��	�� ����	�	� ���$ ���	�������)� ��	�

������� 0�� (ω2(s0, 1) = s1) �� ������ s1 ���	����	��#�





�

(ω1(s0, 1) = s1)� ���	�		�$ �	�� ��
	��
� ��	�
�� ���

'�$�$�( �������	��� �
����
��� ����	�	� ���$ �� ���	�������

�)� ��	������� ��� (ω2(s1, 1) = 0) �� ���������� s0 ���	�

����	��#� (ω1(s1, 1) = s0)� �������$ ��
	��
� '�$�$�( �������

�	��� ���������� '�$�$�( �������	��#� �� ���6��� s0 ���	�

����	��#�� �

��	���
�� �)��� �6�����$ �	� �� ���� �����7�#	#� �	�

������ M ��
	��
�� ������� ���	����	�� ���� s1$ ��#��

'�$�$�( �������	��� �� ��
	��
� ���������� '�$�$�( �������

�	��#� �� ���6��� s1 ���	����	��#��

��
	��
� #��!���� �"����	� 	����
������� ���%�� ���

#������� '���� ���	� �	�������	�(� �� ���%�� ����	��� �"��

��#���� ��
	��
�� s0, s1, . . . , sn ���	����	���� ����	�	�����

�	���� �
���$ �	����� ���	��� si ����	��� �� ��������

sj ����	�$ �"���#���� (u, v) �������$ ����� u ∈ U ���� ��

#��������� ����	�	$ �	����� ������ si ���	����	����� sj

���	����	��#� ��������� '���� ω1(si, u) = sj($  	�	 v ∈ V

#��������� ���	�������� ����	�	� '���� ω2(si, u) = v(�

���������$ )��	� ��� ����� ��
	��
�� ���%� ���� #���

���� �� � '�� � �1��(*

�� � �1��

�� #��� ����#�$ �	�� U, S, V ���
	���� ���������� ����

��� Fq ���)�$  	�	 ω1 �� ω2 3 ��%��� ��� �����$ M =








{U, S, V, ω1, ω2} ��
	��
� ��	���� ���	�	 �������	 ���

���	�	 ���������	 �	������ ω1 �� ω2 ��%��� ��� ����� �	�

���� #���!������� ��
������� ��#�������� ��

dim S = n, dim U = k, dim V = m,

 	�	

A = [aij ]n×n, B = [bij ]n×k, C = [cij]m×n, D = [dij ]m×k

���������� ��
������� Fq ���)� (aij , bij, cij , dij ∈ Fq)$ ��#��

ω1 �� ω2 %��������� ���#����	���� '� � '�1��( �� '�1��(( �����

��)"����� ��
������ 
	�	�����

s(t + 1) = A · s(t) + B · u(t), '�1��(

v(t) = C · s(t) + D · u(t), '�1�2(

����� s(t) ∈ F n
q $ u(t) ∈ F k

q $ v(t) ∈ F m
q ���
	���� 6��������

���
���
������� �� ��� A, B, C �� D ��
������ ��	���� ��


�	�	 ���������	 �	����	� �����	������	 ����	���	�

��%��� �	�������� ���
���� &���
�
��� �����)����

#���!������� ����
�	���� ������ ��#�������$ �	���#�� #��

��� ����
	��$ ��!��������� �� ���	������ ������
��

�������� ���� ��������� #��������� a1(t), a2(t), . . . $

ar(t) ∈ Fq �� ��������� ���	�������� y(t) = a1(t)+a2(t)+

· · ·+ ar(t) '�� � �1��(�

�� � �1��





�

�� �	�������$ �	����� #���������� α ∈ Fq ������
�$ ���� ���

�� #��������� a(t) ∈ Fq �� ���� ���	�������� y(t) = αa(t)

'�� � �1�2(�

�� � �1�2

�����
��	� �����
�� ���� ���� #��������� a(t) ∈ Fq �� ����

���	�������� y(t) = a(t − 1) '�� � �1��(�

�� � �1��

��	���
�� �)� � ������$ ��%��� �	�������� M =

{U, S, V, ω1, ω2} ���
���� �� ���������� ��
������� 'F3 ����

)�(

A =

⎡
⎣0 1 2

1 2 0
1 0 2

⎤
⎦ , B =

⎡
⎣0 2

0 1
2 0

⎤
⎦ ,

C =

[
1 0 1
0 2 0

]
, D =

[
0 2
1 0

]
.

'�1��(

����	������	� �	�������� ���
���� �����)���� ������ ���

 ���

∇ '�1��(��� #���������� n = 3$ k = m = 2� ������$

��	�� t �	���
#� ���
��� ���	%��	��

s(t) =

⎡
⎣s1

s2

s3

⎤
⎦ ∈ F3

3





�

���	����	��#� �� #��������)� �����	���

u(t) =

[
u1

u2

]
∈ F2

3

�������� ��#�� '�1�2(��� ���� ���$ ���	�������)� ���"���

v(t) =

[
1 0 1
0 2 0

]⎡⎣s1

s2

s3

⎤
⎦+

[
0 2
1 0

] [
u1

u2

]
=

[
s1 + s3 + 2u2

2s2 + u1

]
,

 	�	 ��	�� �	�����	 �	���
#�$ �	�	�� �� ���	�������	��

'�1��(����$ ���
��� ������

s(t+1) =

⎡
⎣0 1 2

1 2 0
1 0 2

⎤
⎦
⎡
⎣s1

s2

s3

⎤
⎦+

⎡
⎣0 2

0 1
2 0

⎤
⎦[u1

u2

]
=

⎡
⎣s2 + 2s3 + 2u2

2s2 + u2

s1 + 2s3 + 2u1

⎤
⎦

���	����	��#��

�������$ �� �	������ ��%��� �	�������� ���
��� ��	�

�� �	����� �	���
#� ���	%��� s(t) = (s1, s2, s3) ∈ F 3
3 ���	�

����	��#�$ ��#�� �� u(t) = (u1, u2) ∈ F 2
3 ���
	�� ����������

v(t) = (v1, v2) ∈ F 2
3 ���
	�#�$ �����

v1 = s1 + s3 + 2u2, v2 = 2s2 + u1.

��	�� �	�����	 �	���
#� ��� ������ s(t + 1) = (s′1, s
′
2, s

′
3)

���	����	��#�$ �����

s′1 = s2 + 2s3 + 2u2, s′2 = 2s2 + u2, s′3 = s1 + 2s3 + 2u1.

#��������� ����� �	������� �1�< �� �))�� �





�

�� � �1�<

#����#�	�$ �	� ����
	�����$ ��!����������� �� ���	����

��� ������
���� #������� �	���� ����� #��!���� ����	������

�	� ��%��� �	�������� ���
���� �� �� '�� &��	���$ �	�

�	���� #�
���� 
	�
��� #������ ���	������ ������
�(�





�

��������
 �� ��	���
����


:��� ������� u ��
���� #��������� 
	���� v ��
��� ���

�	��� #����	������� 
	��� #��� ����#�*

�( u = (00101); �( u = (01010);

�( u = (01110); �( u = (11011)�

:��� ���	��� #����	������� 
	��� #��� ����#� ��"�����

v∗ ��
���� �� ����� ���	��
����$ �	��� ������#� ���� ��#�

������ #���	��*

�( v∗ = (010011); �( v∗ = (100111);

�( v∗ = (001110); �( v∗ = (010101)�

:��� ������� u ��
���� #��������� 
	���� v ��
���$ ��

V ���� 
	�� �����	����� (n = 5)* �( u = (1); �( u = (0)�

:�2� �&	��� u ��
���� #��������� 
	���� v ��
��� C�����

��� 
	��� #��� ����#�*

�( u = (1001); �( u = (1101); �( u = (0101); �( u = (0111)�

:��� �&	��� #���	��� δ ���
	��$ ��

�( v = (1000110)$ v∗ = (1001001);

�( v = (1110001)$ v∗ = (1110001);

�( v = (0111100)$ v∗ = (0101100);

�( v = (1110000)$ v∗ = (1010101)�

:�<� ��"����� v∗ ��
���� �� ����� ���	��
����$ �	���

������#� ���� ��#������ #���	�� �� #����	��� ���*

�( v∗ = (1001110); �( v∗ = (1111001);

�( v∗ = (0001110); �( v∗ = (0101011)�

:�4� U = V = {0, 1}$ S = {s0, s1} �� ω1, ω2 %��������

�	����� ����	� �	������� � �������� ��#� ���������� M =

{U, S, V, ω1, ω2} ��
	��
� u �������	���$ �� ��	�� ������





�

�	���
#� �� ���	%��� s0 ���	����	��#�*

S × U ω1 ω2

(s0, 0) s0 0
(s0, 1) s0 1
(s1, 0) s1 0
(s1, 1) s0 0

u=(0, 1);

S × U ω1 ω2

(s0, 0) s1 0
(s0, 1) s0 0
(s1, 0) s0 1
(s1, 1) s1 1

u=(1, 0);

�( �(

S × U ω1 ω2

(s0, 0) s0 0
(s0, 1) s1 1
(s1, 0) s0 0
(s1, 1) s1 1

u=(1, 1, 1);

S × U ω1 ω2

(s0, 0) s0 1
(s0, 1) s0 0
(s1, 0) s0 0
(s1, 1) s1 1

u=(0, 0, 1, 0).

�( �(

:��� A, B, C, D ��
������ ����	������ ��%��� �	�����

���� M = {U, S, V, ω1, ω2} ���
������ �� ��������� ��
���

���� 'F2 ���#�(� �	������� �� ��%��� �	�������� ���
����

�����)���� ������ �� ��*

�( A =

[
1 0
1 0

]
, B =

[
0
1

]
, C =

[
1 0
0 1

]
, D =

[
0
1

]
;

�( A =

⎡
⎣0 1 1

0 0 1
1 0 1

⎤
⎦ , B =

⎡
⎣10

0

⎤
⎦ , C =

[
0 1 0

]
, D = [ 1 ].





�

����!��


��	
 0

���� �( A × B = {(0, 0), (0, 3), (1, 0), (1, 3)},
B × A = {(0, 0), (0, 1), (3, 0), (3, 1)}$
A2 = {(0, 0), (0, 1), (1, 0), (1, 1)}$
B3 = {(0, 0, 0), (0, 0, 3), (0, 3, 0), (0, 3, 3), (3, 0, 0),

(3, 0, 3), (3, 3, 0), (3, 3, 3)}$
A × B × C = {(0, 0, 4), (0, 3, 4), (1, 0, 4), (1, 3, 4)}�

�( A × B = {(−1, 1), (1, 1)}, B × A = {(1, 1), (1,−1)}$
A2 = {(−1,−1), (−1, 1), (1,−1), (1, 1)}$
B3 = {(1, 1, 1)}$
A×B ×C = {(−1, 1, 0), (−1, 1, 1), (1, 1, 0), (1, 1, 1)}�

�( A × B = {(1, 1), (2, 1)}, B × A = {(1, 1), (1, 2)}$
A2 = {(1, 1), (1, 2), (2, 1), (2, 2)}$ B3 = {(1, 1, 1)}$
A × B × C = {(1, 1, 2), (2, 1, 2)}�

�( A × B = {(0, 1)}, B × A = {(1, 0)}$ A2 = {(0, 0)}$
B3 = {(1, 1, 1)}$ A × B × C = {(0, 1, 1), (0, 1, 2)}�

���� �( ���; �( 
�; �( 
�; �( 
�; �( ���; �( 
��

���� �( K0 = {3n | n ∈ Z}; �( K1 = {3n + 1 | n ∈ Z};
�( K2 = {3n + 2 | n ∈ Z}�

��2� �
�������
	��� ���������� �(; ��������� ��������

��� �($ )( �� �(�

���� �( 
�; �( 
�; �( 
�; �( 
�; �( ���; �( ���; )( ����

��<� �( 
�; �( 
�; �( 
�; �( 
�; �( 
�; �( ���; )( ����

��4� �( 
�; �( 
�; �( 
�; �( ���; �( 
�; �( 
�; )( ����

���� #��!���� ����� #��� ����#�$ ����� �( #��� �������





�

��1� �( ���; �( 
�; �( 
�; �( 
�; ��� ���� 	&������ �� ����

��� 
	��
������$ ��� ��	���������

����� �( 
�; �( 
�; �( ����

����� �( 
�; �( 
�; �( 
��

����� �( 
�; �( 
�; �( 
�; �( 
��

����� 
	��
������ 7��%���� �($ �($ �($ )($ �($ 
($ �($ �($

&($ �($ �($ 
(; ���
	��
������ 7��%�� 	(�

���2� �( ����$ �� n = 2; �( 
�; �( 
�; �( 
��

����� ��	��� '�� ��� ����( �($ �($ �($ )($ �($ 
($ �($ �($ �(;

����� �($ �($ �($ �($ 	(�

���<� �( 
�$ a = 0$ b = 1; �( 
�$ c = 0$ b = 1; �( 
�$ b = 0$

a = 1�

���4�
+ � � �
� � � �
� � � �
� � � �

�(

· � � �
� � � �
� � � �
� � � �

�(

+ � � � � 2
� � � � � 2
� � � � 2 �
� � � 2 � �
� � 2 � � �
2 2 � � � �

�(

· � � � � 2
� � � � � �
� � � � � 2
� � � 2 � �
� � � � 2 �
2 � 2 � � �

�(

����� �( (0, 1); �( (0, 1, 0); �( ∅; �( (1, 0, 1, 1)$ (0, 0, 0, 1);

�( (1, 0, 0, 0)$ (0, 1, 0, 1); �( ∅�

���1� ��%��� �������* �($ �($ �($ )($ �($ �($ 
($ �(�

����� �( 
�; �( ����




�	

����� ����

����� 
�; E = R2$ F = {(x, y) ∈ R2 | x 	= 0}�
���<� 
��

���4� �( |x| = 5$ |y| = 2$ ϕ = π
2
;

�( |x| =
√

3$ |y| = 2
√

2$ ϕ = π
2
;

�( |x| = |y| = 3$ ϕ = arccos 2
√

3−5
9

;

�( |x| =
√

30$ |y| = 5$ ϕ = π
2
.

����� −25�

���1�

√
n∑

i=1

(xi + yi)2 ≤
√

n∑
i=1

x2
i +

√
n∑

i=1

y2
i $ xi, yi ∈ R�

����� �( ���; �( 
�; �( ���; �( ���; �( ���; �( ���; )( ���;

�( ����

����� �( 
�; �( ���; �( ���; �( 
��

����� ϕ = π
2
�

����� 
��

���2� �( 
�; �( 
��

����� 
��

���<� 
��

��2�� (15, 8,−2, 15)�

��2�� 
�$ x = 2a1 − 3a2 + 4a3�

��22� �( (1, 11
2
, 7

2
, 5); �( (13

6
,−1

2
, 1

3
,−1

3
).

��2�� �( ���; �( 
�; �( ���; �( 
�; �( ���; �( 
�; )( 
�; �( ���;

�( 
��

��2<� �( x = 3e1 + 2e2; �( x = 3e1 − e2; �( x = −e1 + 2e2;

�( x = e1 − 5e2�

��24� �( �d = �a + 2�b + 3�c; �( �d = 2�a + 3�b + 4�c;

�( �d = �a +�b + �c; �( �d = �a + 3�b + 5�c�

��2�� t 	= ±1�

��21� �( {a1, a2}$ {a2, a3}; �( ���������� 	�� ���
	��;




��

�( {a1, a2}$ {a1, a3}$ {a1, a4}; �( ���������� ���� ���
	�

��$ ����� {a1, a2, a3} �� {a1, a4, a5}�
����� {a2, a3, a4}$ a1 = a2 − a3�

���<� �( 
�; �( ���; �( 
�; �( 
�; �( ���; �( ���; )( ����

���4� Pn ������; dim Pn = n + 1�

����� P2 : (4,−3, 2); P3 : (4,−3, 2, 0)�

��<�� (2, 2, 3).

��<�� A =

⎡
⎣1 1 1

0 1 2
0 0 1

⎤
⎦$ x2 − 1 = (x + 1)2 − 2(x + 1).

��<2� �( (−2, 3,−1); �( (1,−1, 2); �( (2, 1, 0); �( (1,−1, 1);

�( (−1,−1,−3); �( (3,−2, 3); )( (2, 2,−2); �( (−1, 1, 2).

��<�� A =

⎡
⎣1 1 −1

1 −1 2
0 0 −1

⎤
⎦$ �x = 1

2
�e1 − 3

2
�e2 − 2�e3�

��<<� �( A =

⎡
⎣−1 0 0

0 −1 0
0 0 −1

⎤
⎦$ (−1, 2,−1);

�( A =

⎡
⎣0 0 1

1 0 0
0 1 0

⎤
⎦$ (−2, 1, 1);

�( A =

⎡
⎣1 0 0

0 cos ϕ − sin ϕ
0 sin ϕ cos ϕ

⎤
⎦$

(1,−2 cosϕ + sin ϕ, 2 sinϕ + cos ϕ)�

��<4� �(

[−1 0
5 4

]
; �(

⎡
⎣−1 0 2

0 1 3
−2 1 1

⎤
⎦�

��<�� x1 = dx′
4$ x2 = ax′

1$ x3 = bx′
2$ x4 = cx′

3�

��<1� ���$ ������ |A| = 0�




�


��4�� �( v1 = (1, 1, 1); cv1 = (c, c, c)$ c ∈ R;

�( v1 = (0, 1, 1, 0)$ v2 = (1,−1, 0, 0); c1v1 + c2v2 =

(c2, c1 − c2, c1, 0)$ c1, c2 ∈ R;

�( v1 = (−2, 1, 0, 0)$ v2 = (−3, 0, 1, 0)$ v3 = (−4, 0, 0, 1)$

c1v1 + c2v2 + c3v3 = (−2c1 − 3c2 − 4c3, c1, c2, c3)$

c1, c2, c3 ∈ R;

�( v1 = (11, 7,−5)$ cv1 = (11c, 7c,−5c)$ c ∈ R�

��4�� �( (1, 2, 0) + (13c, 2c, 7c)$ c ∈ R;

�( (0, 0,− 2
11

, 10
11

) + (c1, c2,
1
11

c1 − 9
11

c2,− 5
11

c1 + 1
11

c2)$

c1, c2 ∈ R;

�( (0, 0,−11, 8) + (c1, c2,−33c1 + 22c2, 24c1 − 16c2)$

c1, c2 ∈ R;

�( (0, 0, 6,−7) + (c1, c2, 10c1 − 15c2,−12c1 + 18c2)�

��	
 00

����� �( Ax = (4, 3, 15); �( Ax = (−7, 1, 7);

�( Ax = (5,−2,−1); �( Ax = (−13, 8,−3)�

����� �( x = (1,−1, 2); �( x = (−1, 2, 1);

�( x = (2, 0,−1); �( x = (2,−1, 1)�

����� �( 
�$

⎡
⎣ 2 −1 2

5 −3 3
−1 0 −2

⎤
⎦; �( 
�$

⎡
⎣ 0 1 0
−4 4 0
−2 1 2

⎤
⎦;

�( ���; �( ���; �( 
�$

⎡
⎣ 1 0 0

1 1 0
−1 0 1

⎤
⎦�

���2� (x2 + x4, x1 + x3, x1 + x4, x2 + x3)�

�����

⎡
⎣1 2 2

3 −1 −2
2 −3 1

⎤
⎦�




��

���<� �(

⎡
⎢⎢⎣

1 0 2 1
2 3 5 1
3 −1 0 2
1 1 2 3

⎤
⎥⎥⎦; �(

⎡
⎢⎢⎣
−2 0 1 0
1 −4 −8 −7
1 4 6 4
1 3 4 7

⎤
⎥⎥⎦;

�(

⎡
⎣−4 3 −5
−3 3 −2
4 −2 5

⎤
⎦; �(

⎡
⎣ 2 0 −1
−2 2 3
1 −1 −1

⎤
⎦�

���4�

⎡
⎣2 −11 6

1 −7 4
2 −1 0

⎤
⎦�

�����

⎡
⎢⎢⎢⎢⎢⎣

0 1 0 0 . . . 0
0 0 2 0 . . . 0
0 0 0 3 . . . 0
. . . . . . . . . . . . . . . . . .
0 0 0 0 . . . n
0 0 0 0 . . . 0

⎤
⎥⎥⎥⎥⎥⎦�

���1� �(

⎡
⎢⎢⎣
a b 0 0
c d 0 0
0 0 a b
0 0 c d

⎤
⎥⎥⎦; �(

⎡
⎢⎢⎣

a 0 c 0
0 a 0 c
b 0 d 0
0 b 0 d

⎤
⎥⎥⎦�

������ ����

������ �	�� x0 = θ�

������ �( 
�; �( ���; �( ����

������ A =

⎡
⎣ 0 −1 1

1 0 −1
−1 1 0

⎤
⎦�

����2�
((√

2
2

+ 1
)
x1 −

√
2

2
x2,

√
2

2
x1 +

(√
2

2
+ 1
)
x2

)
�

������ (5x1+5x2+3x3, 14x1−14x2+25x3, 15x1−10x2+11x3)�

����<� �( (x1 + x2 + 2x3, x1 + 2x2 + x3, 2x1 + x2 + x3);

�( (2x1 + x2 + x3, x1 + x2 + 2x3, x1 + 2x2 + x3)�

����4� (x1 cos 2ϕ − x2 sin 2ϕ, x1 sin 2ϕ + x2 cos 2ϕ)�




��

������

[
44 44

−29, 5 −25

]
�

����1�

[ −5 18
−18 40

]
�

������ n2�

������

[
0 1
1 0

]
�

����2� ����

������ �( ����#��"������; �( ����#��"������; �( ����#��

�"������ �� 	��	�	������; �( 	��	�	������;

�( 	��	�	������; �( 	��	�	������; )( 	��	�

�	�������

����<� �( A∗x = (2x1 + 3x2 + 4x3,−x1 + 2x2 + x3, x2 + 2x3);

�( A∗x = (3x1+4x2−x3, 2x1+x2+3x3,−x1+2x2+x3);

�( A∗x = (−x1 + x2 − x3, x1 + x2 + 2x3, x1 − x2 + x3);

�( A∗x = (x1−3x2+x3,−2x1+2x2+3x3, 3x1−x2+2x3)�

����4� �(

[
3 6
−1 −3

]
; �(

⎡
⎣−36 −37 −15

30 30 14
26 27 9

⎤
⎦�

������ �( D∗ =

⎡
⎣0 0 0

1 0 0
0 2 0

⎤
⎦; �( D∗ =

⎡
⎣0 2

3
0

1 0 −1
2

0 4
3

0

⎤
⎦�

����2� α = ±1�

������ 
��

����<� �( rA = 3$ ker A = {(0, 0, 0)}$ m = 0;

�( rA = 2$ ker A = {(2t,−3t, 5t) | t ∈ R}$ m = 1;

�( rA = 3$ ker A = {(31t,−9t, 5t, 16t) | t ∈ R}$ m = 1;

�( rA = 1$ ker A = {(−2t, t) | t ∈ R}$ m = 1;

�( rA = 2$ ker A = {(0, 0)}$ m = 0;




��

�( rA = 1$ kerA = {(−2t1 + 3t2, t1, t2) | t1, t2 ∈ R}$
m = 2�

����4� �( x = (1, 5, 2); �( x ∈ ∅; �( {(2t−1, t+1, t) | t ∈ R};
�( {(14 + t,−9 − 2t, t) | t ∈ R}�

����1� �( λ1 = λ2 = 2$ x = (t, t) (t 	= 0);

�( λ1 = 1$ x = (0, t) (t 	= 0);

λ2 = 3$ x = (2t, t) (t 	= 0);

�( λ1 = 5$ x = (−2t, t) (t 	= 0);

λ2 = 20$ x = (t, 2t) (t 	= 0);

�( λ = 1$ x = (t, 0) (t 	= 0);

�( λ = 3$ x = (t1, t2) (t21 + t22 	= 0);

�( λ = −1$ x = (t, t,−t) (t 	= 0);

)( λ = 2$ x = (t1, 2t1, t2) (t21 + t22 	= 0);

�( λ = 1$ x = (t, t, 0) (t 	= 0);

λ = 3$ x = (t,−t, 0) (t 	= 0);

�( λ1 = 1$ x = (t, t, 0) (t 	= 0);

λ2 = 3$ x = (t,−t, 0) (t 	= 0)�

���2�� λ1 = 1$ x = (−t, t) (t 	= 0);

λ2 = 13$ x = (t, 2t) (t 	= 0)�

���2�� λ = 1$ �x = c�k (c 	= 0)�

���2�� 1
λ
�

���2�� �( λ = α$ �a 3 ���������� ������	���� ���
	���;

�( λ1 = 1$ �a = α�ı$ ����� α 	= 0; λ2 = 0$ �a = α�j + β�k$

����� α2 + β2 	= 0;

�( λ = 0$ �a = α�ı$ ����� α 	= 0�

���22� �( x′2 + 6y′2$

{
x = 1√

5
(2x′ + y′),

y = 1√
5
(x′ − 2y′);




��

�( 10x′2$

{
x = 1√

5
(x′ − 2y′),

y = 1√
5
(2x′ + y′);

�( x′2 + 3y′2$

{
x = 1√

2
(x′ + y′),

y = − 1√
2
(x′ − y′);

�( x′2 + 14y′2$

{
x = 1

2
(x′ + y′),

y = 1
2
(−x′ + y′);

�( 3x′2 + 6y′2 + 9z′2$

⎧⎪⎨
⎪⎩

x = 1
3
(2x′ − y′ + 2z′),

y = 1
3
(2x′ + 2y′ − z′),

z = 1
3
(−x′ + 2y′ + 2z′);

�( 7x′2 + 7y′2 − 2z′2�

��	
 000

������

p q f1 f2 f3 f4 f5 f6

7 7 7 7 7 7 7 #
7 # 7 # # 7 7 #
# 7 7 # # 7 7 #
# # # # 7 7 7 #

p q r f7 f8

7 7 7 7 #
7 7 # # 7
7 # 7 # 7
7 # # 7 7
# 7 7 # 7
# 7 # 7 #
# # 7 7 #
# # # # #

����� �( (p ∧ q) ∨ (p ∧ q); �( (p ∨ p) ∧ q; �( (p ∨ q) ∧ (q ∨ p);

�( (p ∨ p) ∨ (q ∨ q); �( (p ∧ q) ∨ (p ∧ q) ∨ (q ∧ p);

�( (p ∧ q) ∨ (p ∧ s); )( (p ∧ (p ∨ q)) ∨ (q ∧ (q ∨ r))�




��

������

����2�

������ �( {−3,−1, 0, 2, 4}; �( {−3, 1, 2, 3, 4};
�( {−3,−1, 0, 1, 2, 3, 4}; �( {−3, 2, 4};
�( {−3, 2, 4}; �( {−3,−1, 0, 2, 3, 4}�

����4� �( A ∪ B; �( ∅; �( A; �( U ; �( A ∪ (B ∩ C);

�( A; )( A ∩ (B ∩ C)�

����1� �( p ∧ q; �( p ∧ q; �( (p ∨ q) ∧ (p ∨ q);




��

�( p ∨ q ∨ r; �( q ∨ r�

�������

������� 
��

������� 
��

�������

�����2�

������� �( ���; �( ��#����
�; �( ������; �( ��#����
�;

�( ���; �( ����

�����<� �( �� ���� 
��
� ��� ��; �( ∃x ∈ N $ x > 0;

�( a2 = 4 
	�	����� �� ���	�������	��$ �	� a = ±2;

�( ���� ���� ��� �	� ������� ����)����

�����4� �( p ∧ q; �( q → p; �( p → (q ∧ r); �( (p ∧ q) → r�

������� �( �
����
� ��������	��$ ������ �� �����	�� ������
��


��; �( �� �
����
� ��������	��$ ��#�� �� �� �����	�

�� ������
�
�� �� ���; �( �
����
� ��#�� �� � 	�	�




��

��#�� 6�������� ������
�
�� ���	����$ �	�� �� ����

�������� �� �������� ������
�
��; �( �� �
�����


� ������
�
�� �� �����	��$ ��#�� �� ��� 6��������

������
�
�� ���	�����

�����1� �( ∀x ∈ N$ x > 0; �( ∀x ∈ Z$ x > 0�

������� �( �	�� n = 1$ ��#�� 2n + 1 < 7;

�( x2 + 1 = 0 ���
	����� ��� ���� �������� %�����

������� �(
p p ∨ p
� �
� �

�(
p p ∧ p
� �
� �

�(
p q r p ∧ q → r
� � � �
� � � �
� � � �
� � � �
� � � �
� � � �
� � � �
� � � �

�(
p q r (p ∨ q) ∧ r
� � � �
� � � �
� � � �
� � � �
� � � �
� � � �
� � � �
� � � �

�(
p q r p ∧ (q → r)
� � � �
� � � �
� � � �
� � � �
� � � �
� � � �
� � � �
� � � �

�(
p q p → (p ∧ q)
� � �
� � �
� � �
� � �




�	

)(
p q p ∨ q → (p ↔ q)
� � �
� � �
� � �
� � �

�(
p q p ∨ q → p ∧ q
� � �
� � �
� � �
� � �

�(
p q p → (q → p)
� � �
� � �
� � �
� � �

������� �( �������� ��#����
�; �( �������� ��#����
�; �( ���;

�( �������� ��#����
�; �( ���; �( �������� ��#����
�;

)( �������� ��#����
�; �( �������� ��#����
�;

�( �������� ��#����
��

�������




��

�����2� �( y = ((x1 ∧ x2) ∨ (x1 ∧ x2)) ∧ (x1 ∨ x2) ∧ (x1 ∨ x2) =

= (x1 ∧ x2) ∨ (x1 ∧ x2).

�( y = (x1 ∧ x2 ∧ x3) ∨ (x1 ∧ x2 ∧ x3) ∨ (x1 ∧ x2 ∧ x3) =

= x1 ∧ (x2 ∨ x3).

�( y = ((x1 ∨ x2)∧ (x1 ∨ x3))∨ (x3 ∧ (x1 ∨ (x2 ∧ x3))) =

= x1 ∨ (x2 ∧ x3).

�������




�


�����<� y1 = (x1 ∨ x2) ∧ (x1 ∧ x2), y2 = x1 ∧ x2�

x1 x1 y1

� � �
� � �
� � �
� � �

x1 x1 y2

� � �
� � �
� � �
� � �

�����4�

�������
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��	
 01

�:��� �( V ={v1, v2, v3, v4, v5}$ E ={(v1, v2), (v1, v3), (v1, v4)};
�( V = {v1, v2, v3, v4}$ E = {(v1, v2)};
�( V = {v1, v2, v3, v4, v5}$

E = {(v1, v2), (v2, v3), (v3, v4), (v4, v5), (v5, v1)};
�( V = {v1, v2, v3, v4}$

E = {(v1, v2), (v1, v3), (v1, v4), (v2, v3), (v2, v4), (v3, v4};
�( V = {v1, v2, v3, v4, v5, v6}$

E = {(v1, v2), (v2, v3), (v3, v4), (v4, v5), (v5, v6)}�
�:���

�:��� �( (v1, v2)$ (v1, v3)$ (v1, v4); �( (v1, v2); �( (v1, v2)$ (v1, v5);

�( (v1, v2)$ (v1, v3)$ (v1, v4); �( (v1, v2)�

�:�2� �( v5; �( v3, v4�

�:��� �( (v1, v3)$ (v1, v4); �( (v1, v5)$ (v2, v3);

�( (v1, v3)$ (v1, v4)$ (v2, v3)$ (v2, v4); �( (v2, v3)�

�:�<� �( deg v1 = 3$ deg v2 = 3$ deg v3 = 3$ deg v4 = 3$

deg v5 = 4;

�( deg v1 = 3$ deg v2 = 4$ deg v3 = 2$ deg v4 = 3$

deg v5 = 2$ deg v6 = 2;




��

�( deg v1 = 6$ deg v2 = deg v3 = deg v4 = deg v5 =

deg v6 = deg v7 = 1;

�( deg v1 = deg v2 = 4$ deg v3 = deg v4 = 5;

�( deg v1 = deg v3 = 1$ deg v2 = deg v4 = 0;

�( deg v1 = 3$ deg v2 = deg v3 = deg v5 = deg v6 = 1$

deg v4 = 3�

�:�4� ����������	���� ���%����* �� � �:�� �($ �(; ���
���

y 7���� 3 �� � �:�� �( 7���� 3 �� � �:�� �(; ��
�� 3

�� � �:�� �($ �($ �(; ����� ���%� 3 �� � �:�� �($ �� �

�:�� �($ �($ �($ �($ �(;  �3 �� � �:�� �($ �� � �:�� �($

�(; 
�� '���  �( 3 �� � �:�� �($ �($ �� � �:�� �(�

�:��� t5 = 53 = 125.

�:�1�

�:���� ��
���� ����� ���%����* �� � �:�� �($ |E| = 2; �($

|E| = 1; �� � �:�� �($ |E| = 5; �($ |E| = 3$ �($ |E| = 1$

�($ |E| = 7$ �($ |E| = 1�




��

�:����

�:���� �( 
�; �( ���; �( ���; �( 
�; �( 
��

�:����

�:����




��

�:��<�

�:��4� �( A =

⎡
⎢⎢⎣

0 1 0 0
1 0 0 0
0 0 0 1
0 0 1 1

⎤
⎥⎥⎦; �( A =

⎡
⎢⎢⎣

0 2 0 0
2 0 1 0
0 1 0 1
0 0 1 0

⎤
⎥⎥⎦;

�( A =

⎡
⎢⎢⎢⎢⎣

0 1 0 0 0
0 0 1 1 1
0 0 0 0 0
0 0 0 0 0
0 0 0 0 0

⎤
⎥⎥⎥⎥⎦�

�:����




��

�:��1� �( B =

⎡
⎢⎢⎣

1 0 0
1 0 0
0 1 0
0 1 1

⎤
⎥⎥⎦; �( B =

⎡
⎢⎢⎣

1 1 0 0
1 1 1 0
0 0 1 1
0 0 0 1

⎤
⎥⎥⎦;

�( B =

⎡
⎢⎢⎢⎢⎣

1 0 0 0
−1 1 1 1
0 0 −1 0
0 −1 0 0
0 0 0 −1

⎤
⎥⎥⎥⎥⎦�

�:����

�:���� �( C =

⎡
⎣1 0 0 0 1 0 0

0 1 0 0 0 1 1
0 0 1 1 0 1 0

⎤
⎦;

�( C =

[
1 1 1 1 0 0 0
0 0 0 1 1 1 0

]
�

�:���� �( C =

[−1 −1 0 0 1 0 0
0 0 −1 1 −1 0 0

]
;




��

�( C =

⎡
⎣−1 1 1 0 0 0 0 0

0 0 −1 −1 1 0 0 0
0 0 0 0 0 −1 1 −1

⎤
⎦�

�:����

B =

[−1 0 1 0 1
1 1 −1 −1 0
0 −1 0 1 −1

]
,

BI = 0 ⇐⇒
⎧⎨
⎩

−I1 + I3 + I5 = 0
I1 + I2 − I3 − I4 = 0
−I2 + I4 − I5 = 0,

C =

[−1 0 −1 0 0
0 0 1 −1 −1
0 1 0 1 0

]
,

CU = 0 ⇐⇒
⎧⎨
⎩

−u1 − u3 = 0
u3 − u4 − u5 = 0
u2 + u4 = 0,

I1 = 20A$ I2 = 30A$ I3 = 10A$ I4 = 40A$ I5 = 10A;

B =

[
−1 −1 1
1 1 −1

]
, BI = 0 ⇐⇒

{
−I1 − I2 + I3 = 0
I1 + I2 − I3 = 0,




��

C =

[
−1 0 −1
0 1 1

]
, CU = 0 ⇐⇒

{
−u1 − u3 = 0
u2 + u3 = 0,

I1 = 2, 625A$ I2 = 0, 75A$ I3 = 3, 375A�

��	
 1

:��� �( v = (0 0 1 0 1 0); �( v = (0 1 0 1 0 0); �( v =

(0 1 1 1 0 1); �( v = (1 1 0 1 1 0)�

:��� #���	��� ��"������ �($ �($ �(�

:��� �( v = (1 1 1 1 1); �( v = (0 0 0 0 0)�

:�2� �( v = (1 0 0 1 1 0 0); �( v = (1 1 0 1 0 0 1); �( v =

(0 1 0 1 0 1 0); �( v = (0 1 1 1 1 0 0)�

:��� �( δ = (0 0 0 1 1 1 1); �( δ = 0; �( δ = (0 0 1 0 0 0 0);

�( δ = (0 1 0 0 1 0 1)�

:�<� �( ���� #���	��$ ���� ��	�* v = (1 0 0 1 1 0 0);

�( ���� #���	��$ ���� ��	�* v = (1 1 0 1 0 0 1);

�( ���� #���	��$ ���� ��	�* v = (0 0 0 1 1 1 1);

�( ���� #���	��$ ���� ��	�* v = (0 1 0 1 0 1 0)�

:�4� �( v = (0 1); �( v = (0 0); �( v = (1 1); �( v = (1 0 1)�

:��� �( v1 = s1$ v2 = s1 + u1; s′1 = s1$ s′2 = s2 + u1�




�	

:��� �( v1 = s2 +u1; s′1 = s2 + s3 +u1$ s′2 = s3$ s′3 = s1 + s3.
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